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001. AU (civilization) L Hvu BAH 5l 5 FHA WA WReY 8, d NAWUSL s 69 ?
1. Al
2. aurdly Guvis
3. $%gu 2451512 (Crescent) (%S@H 241 Wi [Aan)
4. e (A 2in AN)
Aoy [Aseu yrie s30 Al Gz 2uul.
(A) WA 1,2 94 3 (B) H1AA 2
(C) A2 M1 3 (D) BURisd dHIH

002. 1A >uden [l 2wl dl.
1. 4UfFLs WU A 2t s W2 HIEA €81 vud [l saumi 2ida [Aeun iriouR 21 i A Heray
AR N .
2. wouR Y Muduly drell usddl Seid oiid ed.

-

20 Qe WA sy/sur a8 ?

(A) WA 1 (B) {12t 2
(C) 1 a2 61 (D) 1 A2 2 %15yt Al

003. AditiR Bl HAFAIR, HEIIR gL PUYAH] 2Udd { Bued .......... Hi uH(de gl
(A) i3 (Angas) (B) ud (Parvas)
(C) 2s (Pitakas) (D) 43t (Sutras)

004. ~N2i-u [t 2w Al
1. pasio g2 RlBu [[Quar uldiu sid e ysyd osllda .
2. ‘Y3d A3l i Agd ML qridg AaAlzag Yes ©.
3. Y3d 2 Anan dRdl aciAlss (surgeon) .
4. Y3 A vgulAs aAlsul (Rhinoplasty) ul8d- aicudat (A [Asu-)w vang 12 oelldal 8.
Guu (A WA 53y [Qsun/su Q- a8 ?
(A) 142 (B) 1 211 4
(C©) 1,21 4 (D) BURASd A M

005. ucaai-l et Al U4 su1 20 Rad ¢dl ?
(A) ddusi=sL ALQYA™ (B) sidlym
(C) A~u2u (D) [Axucdl

006. Hs1eAfAYH [Rad Ad 22 42 [Rula 519 s 8d ?
(A) AlA WwAsA (B) uln g s wasix

a YaY

(C) uéda WA (D) 515814 WA s
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001.

002.

003.

004.

00s.

006.

Which are the main cradles of civilizations which have shaped the destinies of mankind?
1. China

2. Indian Sub-continent

3. The Fertile Crescent (Egypt and Mesopotamia)

4. The Mediterranean (Greece and Rome)

Select the correct answer using the code below:

(A) 1,2 and 3 only (B) 2 only

(C) 2 and 3 only (D) All of the above

Consider the following statements:

1. The Great Bath was the most important public place of Mohenjodaro made for ritual bathing.
2. The floor of the bath was made of burnt bricks.

Which of the statement(s) given below is/are correct?

(A) Only 1 (B) Only 2

(C) Both 1 and 2 (D) Neither 1 nor 2

According to Svetambara Jains, the original doctrine taught by Mahavira was contained in
(A) Angas (B) Parvas
(C) Pitakas (D) Sutras

Consider the following statements:

1. Sushruta known for his work on medicine during Gupta period

2. Sushruta Sambhita is a Sanskrit text on surgery

3. Sushruta is the first Indian surgeon

4. Sushruta known for concept of Shalya tantra (surgical science) including Rhinoplasty
Which of the statements given above is/are correct?

(A)1and?2 (B) 1 and 4

(O)1,2 and 4 (D) All of the above

The Pallava capital was located at which place?
(A) Gangaikonda Cholapuram (B) Kanchipuram
(C) Chennapatnam (D) Tiruchirapalli

Who built the Seven Rathas Temple located in Mahabalipuram?
(A) Cholas (B) Western Chalukyas
(C) Pallavas (D) Kakatiyas

[CSP-1] rro. JEX
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007. ®uRd Bur [Bidla A u 2ulaucidl ag2ud s ysdl 23dl asll asu e ?
(A) WBrua (B) vl
(C) 4152 (D) aw-dlaigt

008. A% AH HISHAL A ...
1. YU dal ARIAHIY AL 2UUS Sdl.
2. ciali el 2 Aiha 182841 a8 edl.

(A) A T A, (B) WAL 2 Ucd 89,

(C) 1 a2 6l AU 89, (D) 1 a2 %A% udL ucd Al
009. el anang diestlas srul .......... 8d.

(A) 2uagus AogaRg2ii-l MUAni ARl (B) 4l 535 gIRL tiduML GUAAL

(C) BiRr2uLHi QtuRl (D) Uil A AN

010. A3 FAUSRAE 183+ HAlHINHUI U6 asELA 518 el ?
(A) Al epiwendl (B) AUREIR AAMMUS U
(C) dl.3. ¥ Her (D) A%B % UALE

011, dA MRAHL NAH W8 YraHAl sia ¢di ?
(A) YA [Buensl (B) 24380 245 wdl
() Sl i) (D) [Aormasfl yl3a

012. 1956 H8Ad-l nan’ (gl - [Qu-l fuqui al.
1. o G 20EURA 240 A% HEL GUR S+dld dlsBia anan gdl.
2. d-ll 2udtanl [Qenefll 214 2120 Wkl g2t Aani 2udl ¢dl.
3. 2012 195641 d [Ratus HeL u usiall edl.

4. destelr Youd-l HiRIR AU Al 51R1HS WAMIA 20 Sdl.
Gur-u [/t WA sy/su a6 ?

(A) 1313 (B) 1 21 4
(©) 1,231 4 (D) 1,213
013. Ry ucudardl 25 yami welaidl gl el vami vidal, 4R gadl .......... A 223w adls
MUY 6,
(A) M2teun [awgy (B) ®2tcur [
(C) M2lcur Gisll (D) GURisd WA 218yt 1l
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007.

008.

009.

010.

011.

012.

013.

The beginning of the British political sway over India can be traced to the battle of

(A) Panipat (B) Plassey
(C) Buxar (D) Wandiwash
Raja Ram Mohan Roy was

1. A well-read man and founder of the Brahmo Samaj.
2. Brahmo Samaj was established in April 1828.

(A) only 1 is correct

(B) only 2 is correct

(C) both 1 and 2 are correct

(D) both 1 and 2 are not correct

The immediate cause of the Swadeshi Movement was
(A) Rise in prices of essential commodities

(B) Partition of Bengal by Lord Curzon

(C) Rising unemployment

(D) Discontent of the peasants

Who was the Deputy Prime Minister in the cabinet of Prime Minister Jawaharlal Nehru?
(A) C. Rajagopalachari (B) Sardar Vallabhai Patel
(C) V. K. Krishna Menon (D) Rajendra Prasad

Who was the first woman Chief Minister in Independent India?
(A) Sucheta Kriplani (B) Aruna Asif Ali
(C) Indira Gandhi (D) Vijayalakshmi Pandit

With regard to ‘Maha Gujarat Movement of 1956°, consider the following statements:
1. It was popular movement centered on linguistic assertion for separate state

2. The lead was taken by students and prominent citizens

3. The turning point came in August 1956

4. Then Chief Minister Morarji Desai responded positively

Which of the statements given above is/are correct?

(A)1and3 (B) 1 and 4

(O) 1,2 and 4 MD)1,2and 3

A male-god on one Seal of Indus, seated in the yogi posture, surrounded by animals is identified as

a prototype of
(A) God Vishnu (B) God Siva
(C) God Brahma (D) None of the above

[CSP-1] rro. A
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014.

01S.

016.

017.

018.

019.

020.

inY [

[Riy, ueudL-u 51231 AN Bavind si8l s34 e ?
(A) AR guL AH, Ast-l (B) 4l oo uld el
(C) 4l 2. R, A (D) WElHR dlar

2l WAL s 20 MM ohg du-l Al uaH Gueel 2wl gdl ?

(A) AU (B) sll2R
(C) gl (D) 618 AL
& qu-L AR [Rgidl, 3 % PR S 20 9 q .......... 69,
1. RS 69 2. QRS U
3. urus AR 4. us el

A1y [Aseu yrie 530 a1l G uul.
(A) WA 1 (B) H1AA 1 244 2
(©wWA1,3,4 D)W 1,23

Al AU 2 (8L GudnT alon aHUs YHL WA SURA A% K s ¢,
1. [Aoraiau 2 21 dasl 218 dl.

2. AlA WSk du-l Wl udls als Re -l Guaian s gl

3. AnEl digi: vid epeelar Hzad [uia sy sd.

4. AlA A5 U AL (312 N9l 511 AL UAH WASL Sl

GuL U4 £y [Qanqysun [l a6 ?

(A) "= 1 (B) 1,2 ¥ 3

(©)1,3 %1 4 (D)1,2,3 %1 4

HEHE AR §. 2. 117811 8AAUR AU RAedrl WAST, UH Bl

(A) eluga udal (B) ¢llmea ol

(C) WR1wed (D) BuRisd U4l 2is urL 1l

orgiollR glRL 58 sAUHL 20dd Y3\ S8 sl ?
(A) wdlu [l (B) [ 234 (8-l
(C) 9wt x18ue (A3 (D) e Rl -€l

1857+l GURclrll R4Ld>4 AWM (Indian Revolt) #12 Al fd o aneigi audl vuan Al sigl erma
s3l edl ?

(A) @S 348160l (B) als 3+l
(C) dl$ adrdl (D) Qs [aziq

[CSP-1] [Contd.
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014.

015.

016.

017.

018.

019.

020.

Who excavated Surkotada site of Indus?
(A) Sir Daya Ram Sahani (B) Sri Jagat Pati Joshi
(C) Sri S R Rao (D) Mortimer Wheeler

Gautam Buddha delivered his first sermon at which one of the following places?
(A) Sarnath (B) Kushinagar
(C) Lumbini (D) Bodh Gaya

Three principles of Jainism, also known as Triratnas, are

1. Right faith 2. Right Knowledge
3. Right conduct 4. Right speech
Select the correct answer using the code below:

(A) 1 only (B) 1 & 2 only

(0) 1, 3,4 only D) 1,2, 3 only

The Chola empire was one of the longest ruling dynasties of South India
1. Vijayalaya was the founder of the dynasty

2. Chola rulers used ‘Lion’ as their royal emblem

3. They constructed Brihadeeswara temple at Thanjavur

4. Cholas were first to venture into banks of the Ganges

Which of the statements given above is/are correct?

(A) 1 only (B)1,2 and 3
(©)1,3and 4 D) 1,2,3 and 4

Name of the ruler of Gujarat who defeated Muhammad Ghori in 1178.
(A) Bhimdev 1 (B) Bhimdev II
(C) Mulrajdev (D) None of the above

Who was the Sufi imprisoned by Jahangir?
(A) Yahiya Sirhindi (B) Mia Rasul Sirhindi
(C) Shaik Ahmed Sirhindi (D) Islam Sirhindi

Who was remembered for the Doctrine of Lapse policy which many hold directly responsible for
the Indian Revolt of 1857?

(A) Lord Dalhousie (B) Lord Canning
(C) Lord Wellesley (D) Lord Lytton

[CSP-1] [PT.0.
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021.

022.

023.

024.

025S.

026.

027.

028.

58 lladl [1dlaRiA cuani siu-u ueuan uoye sul ?
(A) vuaulld

(B) us1u513) i+l

©) SR TRANELO] (Instrument of Accession)

(D) Bint g2agiu-l Alld

w51l ANan su1L auui A3 scHE wudl ?

(A) 1919 (B) 1920

(C) 1930 (D) 1947

“UMAq AR’ UH silasl2il ypa Hevll (secret society)d A .......... GIRL SAHL 20,
(A) YElRM 6l B) dL4l. a8

(C) usea wd (D) M2ud [

ASLERA AU UADAA UASAUS (1863 - 1939) 24 AIHIDS YHIR BSAL FHL AL A+ 212 8,

1. euo 4o uldoit AlE[Aan

2. 2UAS AN AR vARUAH

3. [8g [Qua yredon u1[aRun

4. A AURURSL HIZ HSd 2 53U Wou Y Qe
GuL U4 £y [Qau-ysa [l a9 ?

A A1 B)1,2,4

©)1,2,3 (D) BURLsd M

ARER A U2 Aifloo-l WRled 860 $AR Brual [A3g tustd vigdld Ada saL 20
sded?

(A) AwRBL (B) HHELAUE

(C) ¥isL (D) tliRuE

59 ARlAl el viaold 16l 44112 19661 A% slaweu A%l L 25 ¢l ?
(A) AReR w24 Aluld (B) s xell ulnla
(C) ueR g5 [a uHla (D) et e1e1gR Al ARl

sUL oi-1a ollg 2R uiol [Rugls ad odl ?
(A) sa 5814 u2l (B) wdlaicud 6oL s sis
(C) 18571 Al (D) Giouvn-L ¢dLAL

Aitland B et Qe gl - 2ARAL SR el ?
A) RR 1l (B) A Adls
(C) Aarg-ua 21 (D) s6llR

[CSP-1]
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021.

022,

023.

024.

025.

026.

027.

028.

By which policy the British eliminated the French influence in India?
(A) Doctrine of Lapse (B) Subsidiary Alliance

(C) Instrument of Accession (D) Policy of Non-interference

In which year was non-cooperation movement was launched?
(A) 1919 (B) 1920
(C) 1930 (D) 1947

“Abhinava Bharat” a secret society of revolutionaries was organized by
(A) Khudiram Bose (B) V. D. Savarkar
(C) Prafulla Chaki (D) Bhagat Singh

Sayajirao Gaekwad (1863-1939) of Baroda state enacted a set of social reforms which includes
1. Infant Marriage Prevention Act

2. Local Self Government Act

3. Hindu Widows Remarriage Act

4. Free and compulsory schooling to all citizens

Which of the statements given above is/ are correct?

(A) 1 only B)1,2,4

123 (D) All of the Above

At which place Sardar Vallabhai Patel, under Gandhi's guidance led the farmers against the
collection of taxes?

(A) Champaran (B) Ahmedabad
(C) Kheda (D) Borsad

Haryana was formed on first November, 1966 on the recommendation of which committee?
(A) Sardar Patel Committee

(B) Fazl Ali Committee

(C) Sardar Hukam Singh Committee

(D) Lal Bhadur Shastri Committee

The Hunter Commission was appointed after the
(A) Black hole incident (B) Jallianwala Bagh massacre
(C) Uprising of 1857 (D) Partition of Bengal

Who wrote Gandhi’s favourite bhajan Vaishnava Janato?
(A) Narsinh Mehta (B) Riyaz Latif
(C) Rabindranath Tagore (D) Kabir

[CSP-1] rro. KN
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029.

030.

031.

032.

033.

034.

035.

036.

(2112 GuRe, tiRd 249 WlSretnd [Aeuord [Rlaw s2-12 ardunug un 2uul.

(A) &S ddd (B) 4l$ WBraoien,
(C) sau-2 vedl (D) &S [a-laan
URRAML ... Yl 422 w2 @ZuHi 8.

(A) vz (B) [2acust

(C) sious (D) Hl-uell

.......... 2 ofloy-1t YAt HéHe 2uleaausl 5412 €.
(A) s (Sikandera)

(B) AlA1s BB (Chausath Rauza)

(C) Sdlue-Ge-gicn (Itimad-ud-Daulah)

(D) 2N 9jt1% (Gol Gumbaz)

HSRIA WD [l At ... sdl.

(A) aalicn (B) duaR

(C) ¥44R (D) A8iR

[Rsid adl dudla a2l Wl suRdHl HAouRy .......... Bey® 8.
A) sl (Black pepper) (B) g (Ginger)
©) AU (Rosemary) (D) pdH (Thyme)

5§ AN ERAL AARL Ul ARSI, As(AUs AU AR A5 s+ Y ?

(A) [Sg vt anan (B) U8 512+ ANAN
(C) suRsidl acuAs (D) AUIRBL AAAS
AUEIR USAAL WAL S0 .. gl AU MRAHL [l sauui 2ucl,
(A) L1218 i 8EAGUE (B) %21 21 uldaicn
(C) %21 4 AslERU (D) UG 2R g (B8R
191671 AUl 52 A AYsd ... A alorl euuRd 540,

(A) dlat - [Sg Herueu

(B) dlo1 - aiglil

(C) daugll - S13Ax

(D) *uRdlA A2 51U 21 v SR Yl dloy

[CSP-1]
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029. Name of the Viceroy who supervised the partition of British India into India and Pakistan.

(A) Lord Wavell (B) Lord Mountbatten
(C) Clement Attlee (D) Lord Linlithgow
030. The Sun temple in Orissa is in the shape of a chariot.
(A) Brihadeeswara (B) Dilwara
(C) Konark (D) Meenakshi
031. is the mausoleum of Mohammad Adil Shah, Sultan of Bijapur.
(A) Sikandera (B) Chausath Rauza
(C) Itimad-ud-Daulah (D) Gol Gumbaz

032. The capital of Maharaja Ranjit Singh was

(A) Taxila (B) Peshawar
(C) Jalandhar (D) Lahore
033. Outstanding among Indian items of export was the from Malabar in ancient India.
(A) Black pepper (B) Ginger
(C) Rosemary (D) Thyme

034. Satara Prati Sarkar emerged as a form of alternative national government during the
(A) Quit India Movement
(B) Non-cooperation Movement
(C) Bardoli Satyagraha
(D) Champaran Satyagraha

035. It was due to the efforts of Sardar Patel, states like were merged into India.
(A) Junagadh and Hyderabad
(B) Junagadh and Patiala
(C) Junagadh and Baroda
(D) Junagadh and Cooch Bihar

036. The Lucknow Pact of 1916 offered a joint scheme.
(A) League-Hindu Mahasabha
(B) League-Unionist
(C) Unionist-Congress
(D) The Indian National Congress and the All India Muslim League

[CSP-1] ero. K
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037.

038.

039.

040.

041.

silasidl A A sdicuel Jyuatl 2[ARUH ‘Revolutionary and Anarchical Crimes Act’¥l WA&d

dd.......... Als 2N Sdl.

(A) MR A8 xAA[AuH (Defence of India Act)

(B) AR el »[A[Run (Official Secrets Act)

(C) Rz S vA[a[Aun (Pitts India Act)

(D) 142 [E[AuH (Rowlatt Act)

Siu3d ot Al SR 8ol ?

1. il Glave 21 acamens uia
3. 2l 6lur2 24 @Bl [RdlEau
2UA Y4 sun [l aca 9 ?
(A) 142

(C) WA 2

A4 Q4 o He it silasidlal st gar ?
1. RLARE 24 AgAMR 21218

3. LA Vi ALl QAR

22U e (Al WA sy [ a9 ?

(A) 1442

(C) 11 4

2. il ol A alsu-y [das
4. il Glur2 v SLEIHLS A

(B) 2 211 4
(D) HiAA 3

2. MLl i AL wR. 1
4. ARLARLS 11 vElAM B

(B) 1 1.3
(D) 2 ¢4 3

cuRdlY AU Sl3AL HunAEl Al S8 sdl ?

1. 2.2, 612 dal 2. 3. WA
3. %A, i, 6 da disHira [das
A [dtuq U4 s [ a8 ?
(A) W 1

(C) 1 a2

HeLeHL AU 2Ad Yretsi s e ?

1. [8¢ 2aR1% 211 GURd 215 vl

3. [8e 2a21% 247 ol 2is aes [R)
2uUd (Al WA sy [ a9 ?

(A) 1442

(C) " 2

2. WA, V. G dAUL AL ABYUARJAY,
4. 2. VA, 1 da [Brdlug,

(B) H13t 2
(D) 2 ¢4 3

-\

2. [8¢ 2q19% 21 WL Aca-1 Ul
4. [8¢ 210 i Al2 i WEr

(B) 1 1.3
(D) WA 3

[CSP-1]
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037. The ‘Revolutionary and Anarchical Crimes Act’ was popularly known as the
(A) Defence of India Act (B) Official Secrets Act
(C) Pitts India Act (D) Rowlatt Act

038. Leaders of the Home Rule Leagues were:
1. Annie Besant and Vallabhai Patel
2. Annie Besant and Lokmanya Tilak
3. Annie Besant and Sister Nivedita
4. Annie Besant and Dadabhai Naoroji
Which of the above statement/s is/are correct?
(A)1and?2 (B) 2 and 4
(C) Only 2 (D) Only 3

039. Two important revolutionaries from the below were
1. Bhagat Singh and Chandra Sekhar Azad
2. Bhagat Singh and C. R. Das
3. Bhagat Singh and Lala Lajpat Rai
4. Bhagat Singh and Khudiram Bose

Which of these statements are correct?
(A) 1 and 2 (B)1and3
(C)1and 4 (D)2 and 3

040. Moderate leaders of the Indian National Congress were
1. S. N. Banerjee and G. K. Gokhale
2. S. N. Banerjee and Lala Lajpat Rai
3. S. N. Banerjee and Lokmanya Tilak
4. S. N. Banerjee and Bipin Pal
Which of the above statement/s is/are correct?
(A) Only 1 (B) Only 2
(C)1and2 (D)2 and 3

041. Books written by Mahatma Gandhi were:
1. Hind Swaraj and Discovery of India
2. Hind Swaraj and The Story of My Experiments with Truth
3. Hind Swaraj and Glimpses of World History
4. Hind Swaraj and Thoughts on Pakistan
Which of these statement/s is/are correct?
(A)1and?2 (B)1 and 3
(C) Only 2 (D) Only 3

[CSP-1] rro. K



CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


042. 19191 [Auiaan oudL susis we wasieR [Bdlarl st sa ?

1. 268 seuda 2. WS e 31U
3. %R 31U 4. 114, adla
22U UKL $U/5U1 UH AU 6 ?

(A) 1342 (B) 2 ¢ 4

(C) A 3 (D) W~ 4

043. Ala iz (A9l - [Qasl euqmi @l
1. iRl oyl HlRg [Rula Ald st gL s U 8.
2. 2l wvaid iz Y[d-4l 2au-u Aa was gL sami 2udl sdl.
3. A A HIZ HSTAl 2A4AA43U UAAHIL 245 3 A2l WA AL AUl A Sl
2u0a WA 5y [Qeun/sa Q- a8 ?

A)1,2 B)1,3

623 1,23
044. ‘efl-urimal’ (Desinamamala) 31 4 .......... GIR1L QUM S,

(A) YRERA (B) Su1s

(C) AlestdluR (D) HRWN

045. [y viladl A0ud (Civilization)Hi AL UL su1L 21 6igR AR 8ol ?

1. bueusia 2. vl 3. g2l
Aloy [Asey urie s

(A)1,2 ®)1,3
©)2,3 M) 1,2,3

046. A2 21 du-L 2ausi-l 56 A8 wloy Ad Azl € ?
1. s Adr QLo (laa 1lda dlor) @ turagu dmd
2. Acl2 25 SRUL AAAL] : 2. 2, Al
3. S[R3un dana aelud siws- : 10,2, A3
ALY [t uie s2.
A)1,3 (B)2,3 (C) WA 3 D) 1,2

047. )l ugld euoid DA [l 2uqni @l
1. o AHA YARU gIRL e sUuL >ud) gdl.
2. HASL 851 vigdin YUl SAUHL UL Sl
3. Al AAHALSWAAL HuA BAHE HGLA IR S PUAHAL HRUHL AHID 214 8.

Gua- WSl sy [Arumysun [l a9 ?
(A)1,2 (B) 1,3 (©)2,3 D) 1,2,3
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042.

043.

044.

045.

046.

047.

The Britishers responsible for the Jallianwala Bagh Massacre of 1919 were:

1. Robert Clive 2. Michael O’Dwyer
3. General Dyer 4. M. L. Darling
Which of the above name/s is/are correct?

(A)1and?2 (B) 2 and 4

(C) Only 3 (D) Only 4

Consider the following statements regarding Chola Kingdom.
1. The Brihadeeswara temple of Thanjavur was built by the Cholas.

2. The famous bronze Nataraja idol was commissioned by Cholas.

3. One of the biggest setbacks for the Chola dynasty was its lack of naval force.

Which of the above statements is/are correct?
A2 B 1,3
©O2,3 MD1,2,3

Desinamamala is a treatise written by
(A) Surdas (B) Hemachandra
(C) Tholkappiyar (D) Kumarapala

Which of the following were the port towns of the Indus Valley Civilization?

1. Balakot 2. Khirasa 3. Kuntasi
Select the correct answer code:

A1,2 31,3
©)2,3 D123

Match the following organization with their founder

1. Social Service League: Gopalakrishna Gokhale

2. Servants of India Society: N M Joshi

3. Indian National Social Conference: M G Ranade
Select the correct answer code:

A1,3 B)2,3
(©) 3 only D)1,2

Consider the following statements regarding Ryotwari System.

1. It was introduced by Thomas Munro.

2. The ownership rights were handed over to the peasants.

3. Major areas of introduction include Madras, Bombay and parts of Assam.
Which of the above statements is/are correct?

A)1,2 31,3

©)2,3 M1,2,3
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048. 191141 6{oUN-L FUALEL SiHL G121 E SAAUHI el ?

(A) diS -2l (B) S 8131
(C) Al$ Arusis (D) QLS 53
049. Ayel 2uul YolMd UaH Had SHRA .......... edl.
(A) d1oy H8& (B) Hidl n2ee
(C) $HIYAL H5RL (D) Scug-Ge-glarl {5011

050. UMe 193040 o1 s1ueL- @10 HG Al elalE1R su 2uadlo s18 53 ?
(A) dl. 2. gy Qs (B) L. w0l
(C) 3. s1M% (D) i1l tiy-e

051. D21 WS 53 duloy Ad oAy el ?

(A) Soi-t1g2L — Reeu (B) x1a-uyel — [Baen-Ga-[8e
(C) @i oL — .y, 4 (D) W3Rl — S[R3t
052. AU 55 A dl/odl2Al wiou dd Al gl ?
el A%
1. §4ydl alRa-ug
2. uclul VALK
3. HRd-ueuY alRa-ug

ALy [Asey urie 530 0l G 2l
(A) WsL 1 241 3 (B) HIA 2 211 3 (C) " 1 (D) 1,294 3

053. QA U 5 oAl uioy dd Al € ?
(A) ollH sl st wss 2uad 2l (G uga) (B) Fuad R Hle (alRa-ug)
(C) FR HelR (SL1et) (D) ¥ ¥[e2 (Apa-)

054. QuRd-L Aiglds Slagiu- Aeeiui Dai-u [l euqui gl
1. Wiet sl ewdrRiy laztl 24 gvau et 2qfaut elsd oAfldl 8.
2. 1 4ellL Adl il - 531,
3. A HIRAUA, 2 RIS ARSIl Sl
4. 2R Sl 2 MoLaA ds -l gfdui mlsa ol ©.
Guu U4l s [Qandl Acw 69 ?
(A) WaL 1 244 3 (B) 1A 2 24 4
(O 1,241 3 (D) 2,3 21 4

m [CSP-1] [Contd.


CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


048.

049.

050.

051.

052.

053.

054.

Partition of Bengal was revoked in 1911 by
(A) Lord Minto (B) Lord Hardinge
(C) Lord Chelmsford (D) Lord Curzon

The first Mughal building with complete marble facing was
(A) Taj Mahal (B) Moti Masjid
(C) Humayun’s tomb (D) Itmad-ud-Daulah’s tomb

Who organised a march on Tanjore coast to break the Salt law in April 1930?
(A) V.O. Chidambaram Pillai (B) C. Rajgopalachari
(C) K. Kamaraj (D) Annie Besant

Which of the following is not correctly matched?
(A) Ibn Battuta — Rihla (B) Al-Masudi — Kitab-ul-Hind
(C) Hiuen Tsang — Si-Yu-Ki (D) Megasthenes — Indica

Which of the following pairs is/are not correctly matched?

Dance States
1. Kuchipudi Tamil Nadu
2. Sattriya Assam
3. Bharatnatyam Tamil Nadu
Select the correct answer using the code given below:
(A) 1 and 3 only (B) 2 and 3 only
(C) 1 only D)1,2and3

Which of the following is correctly matched?
(A) Rock Shelter of Bhimbetka (Uttar Pradesh)
(B) Airavatesvara temple (Tamil Nadu)

(C) Jantar Mantar (Gujarat)

(D) Sun Temple (Rajasthan)

With reference to cultural history of India, consider the following statements:

1. Most of the Tyagaraja Kritis are devotional songs in praise of Lord Krishna.

2. Tyagaraja created several new songs.

3. Annamacharya and Tyagaraja are contemporaries.

4. Annamacharya Kkirtanas are devotional songs in praise of Lord Venkateshwara.
Which of the above statements are correct?

(A) 1 and 3 only (B) 2 and 4 only

(C)1,2 and 3 (D) 2,3 and 4
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055. e[ 20 (A2 2a3uni ol ARHSIRL RS MYd 8, 5 -l You [AA1R 2 @t 25 QL Slu 6.

056.

057.

058.

059.

060.

061.

062.

S 0.
(A) sasa (2a0) (B) WA (sai2s)
(C) W (sl (D) sauslaw (saizs)

A=A [Qoud i al.

1. R4d 2. HAWAH 3.53

4. d4dy 5. d[Ra

BuL U4 S curtid uldre (classical) Al ddls ald sacumi sudl © ?
(A)1,2,4¥45 (B) 1,3 415

(C)2,3 x4 (D) GURisd dHIH

D2l WA 54 Yaes 2 Ayl g3reA5HL 6l 20U €9 ?
(A) clusiAl (B) yLel
(C) usL GulAue (D) dg

A2 U4 59 A wioy Ad Al Al ?

(A) vix [Rgilast — s (B) Wiad [Rei — daidie (i [Qsun)

(C) @It — dgidL puildy (D) RS A8l —dedlu

2gril SArSAL AR 5 Hgd 52l uHuN SlU €9 ?
(A) 150 A2 (B) 60 [M[A2
() 45 [AlA2 (D) 48 [AlA2

rerll’ S8l Qv 8d ?
(A) nsill B) wl
(C) dg (D) Yuiea

ML ohg dul 2ilaH 2 (MR Ralw) sui dlay g ?
(A) gl (B) cll8214L (C) AR (D) AR~

02 el 241 du A AUl %Al 2uddl 9.

L [Rg] avua — oe1d

IL 51532 e — e9rdlaowe

TIL. %+UE e — sR2s

GuL U4 56 Adl =l &9 ?

(A) A 1 (B) Wi I 244 11
(C) = 11 A1 11T (D) BURLSd AxIH
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055. In this special theatre form, two narrators perform the play where the theme mainly revolves
around Lord Shiva. It is

(A) Daskathia (Odisha) (B) Maach (Karnataka)
(C) Maach (Haryana) (D) Daskathia (Karnataka)

056. Consider the following:

1. Sanskrit 2. Malayalam 3. Kannada

4. Telugu 5. Tamil

Which of the above have been declared as classical language?
(A)1,2,4and 5 B)1,3and5
(C)2,3 and 4 (D) All of the above

057. Which of the following texts preaches Vasudhaiva Kutumbakam?
(A) Brahmanas (B) Puranas
(C) Maha Upanishad (D) Vedas

058. Which of the following is not correctly matched?
(A) Panch Siddhantika — Grammar (B) Madhava Nidana — Pathology
(C) Lagadha — Vedanga Jyotisha (D) Charak Samhita — Medicine

059. Under the Lunar Calendar, 1 Muhurta comprises
(A) 150 minutes (B) 60 minutes
(C) 45 minutes (D) 48 minutes

060. Who had written ‘Ashtadhyayi’?
(A) Valmiki (B) Panini
(C) Ved Vyas (D) Shukadeva

061. Where did Lord Buddha breath his last (Mahaparinirvan)?
(A) Kushinagar (B) Bodh Gaya
(C) Rajgir (D) Sarnath

062. Consider the following dances with states to which they are associated:
I. Siddi Dhamal — Gujarat
II. Kaksar Nritya — Chhattisgarh
II1. Janapada Nritya — Karnataka
Which of the above is/are correct?
(A) (D Only (B) (I) and (II) Only
(C) (II) and (III) Only (D) All of the above
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063.

064.

065.

066.

067.

068.

069.

070.

071.

QR DA WS 53 222 2 2 wea s onellg, & ?
(A) AH-u Hle (B) tiselaR #leR
(C) M2rcun %2~u g (D) [R-uall +il2:

o2 [Aafle-u nan saufBuld siel edn ?
(A) URWEIR US4 (B) [a-tiu eud
(C) HSIEAMLE B (D) H$LeHL 21id)

oAl UHER Adl ANEled-U AR Yoo ~ndla siRL el ?
(A) 2r-lla ~pdlasll 2.2, dddaas

(B) W=l ~pandlas ol g, [

(C) Wr-la =il eragla cratadl

(D) Wt-la ~pnflas 2448, e

AlRUL g1 24 Al WS suL 22 Hie nelld © ?

(A) 21251 ™ (B) :du

(C) vlig 9514 (D) WA youril (Beail
‘Ponung’ ¢4 ‘Popir’ E S ABU~U C-l\lﬁ'lr?-l\l .

(A) 2138044 ULl (B) R0

(C) 1PuE-s D) By

suL a1l Ad slAg youm uigdo wan’ ¢q ?
(A) 321 nayd (B) #lue Axis
(©) Al vzt (D) 20l yld He1R1y

A 2udel A2l UL 56 Al oy Ad AAA ol ?

(A) R019@d [dey WU — AHAR (B) Haquil Udu — 2U3d

(C) [Rausnd yaau — cuadR

aMfde AuL g1 [2oe[Ha syl 21 wvard 9orud)l Haasa Gu 2uaRd gq ?

(A) yl acam (B) 2ol -1

(C) uRradls (D) A1 il addr well

ol 1A Ul 58 2ul2onld auane 53 €9 ?
(A) §5R0/5~U (B) 2ulzu
(C) sell (D) U

(D) gl [Qcua Udan — asigu
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063. Which one of the following temples of India is known as Deo Patan?
(A) Somnath Temple (B) Brihadeeswara Temple
(C) Lord Jagannath Temple (D) Meenakshi Temple

064. Who was the first Chancellor of Gujarat Vidhyapith?
(A) Sardar Patel (B) Vinoba Bhave
(C) Mahadevbhai Desai (D) Mahatma Gandhi

065. Who was the first Chief Justice of Hon’ble Gujarat High Court?
(A) Hon’ble Mr. Justice M G Setalvad
(B) Hon’ble Mr. Justice B J Divan
(C) Hon’ble Mr. Justice Jagdish Bhagwati
(D) Hon’ble Mr. Justice S T Desai

066. Lauria Nandangarh is famous for which architecture?
(A) The Pillar of Ashoka (B) Stupa
(C) Baudh caves (D) Fort of Maurya age

067. ‘Ponung’ and ‘Popir’ are the folk dances of ...
(A) Arunachal Pradesh (B) Odisha
(C) Nagaland (D) Tripura

068. Which Gujarati saint poet’s original name was ‘Pandurang Valame’?
(A) Rang Avadhoot (B) Shrimad Rajchandra
(C) Shree Mota (D) Shree Punit Maharaj

069. Find out the mismatch pair from the pairs given below:
(A) Ranjitvilas Palace - Jamnagar
(B) Naulakha Palace - Gondal
(C) Nilambag Palace - Bhavnagar

(D) Laxmivilas Palace - Vadodara

070. Which movie directed by Govind Saraiya was based on a well-known Gujarati novel?
(A) Pruthivi Vallabha (B) Gujaratno Nath
(C) Saraswatichandra (D) Sorath Tara Vaheta Pani

071. Which of the following tribe lives in Gujarat?
(A) Kunkana/kunna (B) Gondiya
(C) Karabi (D) Paraja
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072.

073.

074.

07s.

076.

077.

078.

079.

080.

081.

$UL ASAIR ERUIA SI0L EROUR’ ] AU SAUHL 20 8 ?
(A) sivll (B) =12l
(C) [auoll (D) R8usits

AL NAH Al WADAAN YA g5 Ukl $UR 512 Sell ?
(A) »rlena w3u (B) JAELA BilSR
(C) 5.214. y-2ll (D) %dR4g xnYal HdAe slasiu densll

‘520 Sal’ aasAl RARAL 5181 ¢dL ?
(A) 152152 U8l (B) ul&udn
(C) £aUdAM (D) Ra4AH

sidls el Ui 52U el duisi-l v sedl 8 ?
(A) AR (B) &
(C) 1 (D) >us

QURA 2 UUBein Al AUARS Y512 AU $AUHE 2UAA 1A dal 21s oL Ao ulsa sia e ?
(A) sicd HedL (B) 318 H&dl
(C) HIRRD A (D) D41 Ul

LAl HYIRIA - HEIRAA MAAAASD GIRL QWA A 5 Yaels S U ARl ?
(A) %-le is w1 A2 g $2a-3 S 1883 (B) ¥is 25 yausdl
(C) Sd-3u1 uau (D) [Breui uan

99t 1AL WA su1 BenqHi gan 2A 913+l g™ Uonldil Guaosy 6 ?
(A) Al ws (B) atug cu-zulas Geun
(C) ulRua 2usdq (D) €2{laL 2uge

9l AFUHE S2ABE HERA s 4 0 Asonden © ?
(A) B (B) s
(C) Adva1q (D) 2P-ne

SRHIAZH UHT, 56Yavll Jed 3 suL ol son 6 ?
(A) Rl (B) R
(©) dlRa-ug (D) Aidmzal

siclene Rason Al 24 su1 A d Al ¢ ?
(A) sal2s (B) Bixu
(C) ul2n vioun (D) BRU3
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072. During which festival the ‘Dangs Darbar’ is organized?
(A) Holi (B) Janmashtami
(C) Diwali (D) Raksha Bandan

073. Who was the first recipient of ‘Ranjitram Suvarna Chandrak’?
(A) Chunilal Madia
(B) Gulabdas Broker
(C) K.M. Munshi
(D) Jhaverchand or Zaverchand Kalidas Meghani

074. Find out the writer of the novel ‘Karan Ghelo’.
(A) Nandshankar Mehta (B) Mahipatram
(C) Dalpatram (D) Navalram

075. How many Gujarati writers have been awarded by Jnanpith award?
(A) Four (B) Two
(C) Nine (D) Eight

076. Who is the only Gujarati person to be conferred with India and Pakistan’s highest civilian award?
(A) Balvant Mehta (B) Pherozeshah Mehta
(C) Morarji Desai (D) Jivraj Mehta

077. Which book written by Maharaja Bhagvatsinhji-Maharaja of Gondal is a travelogue?
(A) Journal of a Visit to England in 1883 (B) Ek toonki musafari

(C) England ma pravas (D) Briton ma pravas

078. Which garden of Gujarat has the trees and plants of rare species?
(A) Green park (B) Waghai Botanical Garden
(C) Parimal Garden (D) Hanging Garden

079. Hastagiri temple in Gujarat State belongs to which religion?
(A) Jain (B) Buddhism

(C) Vaishnavism (D) Swaminarayana

080. Bommalattam, the Puppet Dance, is the art of which state?
(A) Sikkim (B) Meghalaya
(C) Tamil Nadu (D) Andhra Pradesh

081. Kalighat school of Painting belongs to which state of India?
(A) Karnataka (B) Mizoram
(C) West Bengal (D) Jharkhand
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082. 54 WA, YURig tuRdld Al JisIR, 2 58 s00mL Y5dl € ?
(A) 595 (B) a&u- () xBA 4 (D) Wil -z

083. 03l curu-l v WA wlden Albist 3 FuA cudly sudls Adis ud au 9 d s e ?
(A) -l S An el (B) uld1gaa Mz
(C) 23w sl udoflan (D) s16l 351 snst

084. nlMusiue N2 WA 54 23U 3 UNESCO -l v1yd 89129 wiglui amuldre sanmi 2ue 9 ?
(A) M, dHILw, oAt B) ¥idg, 916
(C) uaus, aidL, U (D) cwall, d1Reu, g3l

085. [ryu-l 2-0l2tiql uduroid ulsns - U4 sul ¢ ?
A) Ao (B) ©91R Wil
(C) Hwal (D) buyy

086. [y HeTaAL Als Benad, WH 2uul.
(A) ANAR §2 (B) 273121 ¢l dU 512
(C) ¥ (D) 4l 4 AL

087. 012 2uua Al WS w8, A%d 2 ALlHidl 56 A =l el ?

(A) UL - Bk MeA - URY (B) $25 - viR11 - UL 1€l
(C) 2R - Heuueal - And (D) 3254 - Aiuea - [Fvu

088. vl U[RrEl 2 Ui [Rad © A-ll A8 2udel 9. 210 W4 58 Asl A 9 ?

1. 21218 [24 5t Aust — AP

2. Yo ugru ueddl HiREve — il 512
3. ol e — gRaen

4. vgl-u H[Ege — wiceL, ulw sidun
(A) 1,241 3 (B) 2, 3 ¥ 4

(O) 1,341 4 D) 1,2,3 21 4

089. (5 i€ A 241 324 a2 A1l suden sousl Al A 20 6. 20 UL 56 A8 = el ?

M5 AiglanL Ad i 9320 sl

1. AN — (g uaini 2l dwia uuRw-u uHels
2. bl — [QPnad- 2aus

3. 57U — dngl a1 Ausa-ll - 530
4. AMEIA — graolibL UL

(A)4 B)3 ©)2 M1
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082. Legendary Indian classical dancer Kelucharan Mohapatra was exponent of which art?
(A) Kathak (B) Yakshagana
(C) Odissi dance (D) Mohiniyattam

083. Who is the only woman writer of Assamese language won the Bharatiya Jnanpith award?
(A) Mamoni Raisom Goswami (B) Manikuntala Bhattacharya
(C) Arupa Kalita Patangia (D) Karabi Deka Hazarika

084. Which performing art forms are inscribed in the UNESCO's intangible heritage list?
(A) Bhavai, Tamasha, Jatra (B) Mudiyettu, Chhau
(C) Yakshagana, Swang, Nautanki (D) Lavani, Garba, Hudo

085. Which one of the following is the traditional attire of the womenfolk of Tripura?
(A) Rignai (B) Chhar khela
(C) Mekhala (D) Bakhu

086. Name the important folk festival of Manipur.
(A) Chapchar Kut (B) Tendong Lho Rum Faat
(O) Kherai (D) Yaosang

087. Pairs showing the city, state and river are mentioned below. Which pair is not correct?
(A) Ayodhya - Uttar Pradesh - Sarayu (B) Cuttack - Odisha - Mahanadi
(C) Gwalior - Madhya Pradesh - Chambal (D) Rourkela - Andhra Pradesh - Krishana

088. The famous mosques and the place are mentioned below. Which pairs are correct?

1. Adhai Din ka Jhopra — Ajmer

2. Moonu Pettumma Palli mosque — Pappinisseri, Kannur
3. Bheer mosque — Ludhiana

4. Adina mosque — Malda, West Bengal
(A)1,2and 3 (B) 2,3 and 4
(©)1,3and 4 M) 1,2,3 and 4

089. List of Saints and Teachers of The Bhakti Movement is as under. Which pair is not correct?

Saints and teachers of the Contribution

Bhakti Movement

1. Ramanuja Exponents of the Sri Vaishnavism tradition within Hinduism
2. Basava Founder of the Lingayats

3. Eknath He founded the Varkari sect

4. Ram Das Author of Dasabodh

(A) 4 B)3 ©)2 M1
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090.

091.

092.

093.

Aoul 24, AU Aan e A 2uidl 9. 20 WA 5O A Al 4l ?

(A) WML Ol — 1R si81 (el

NS

(B) a1 H81gardl Holl — og=ud1g [eal

N\,

(C) AL AR~ Holl, Alst-l ol — Augtcne el

A =

(D) dRBld- HOl — Y4012 [Feal

AR dSaRl 241 d A AU %8 A2 2udd) 9. d W4 56 Al ] el ?

AU URAlL agauRidl aigl

(A) 38044 ULl — 38, 043 g2, R, §), Wiog (Reh, Boori Boot, Myoko, Dree, Pongtu)
(B) U4 — giHBe aganR, ‘-ﬁ%ﬁ@ asalR (Hornbill festival, Moatsu Festival)
(C) dlue — el ‘g[@rlﬁ-ll, SURAIR B (Maghi Purnima, Bastar Dussehra)

(D) RIRvig — 534 Geuq, ¢ivl), 2A[Re0, 43y, (Karam Utsav, Holi, Rohini, Tusu)
SNIRETEGE] ulsd

1. ddR a. Uld [Rlagur aml

2. il b. 8[RuA1e AL, u~icna gl

3. R c. Ul3a 2(qsis2

4. il d. dl.9. oo

BuR Al Augll dl dq RusR alsadl Adl 2uddl . QA-n W uicu [Aseu yie 530 Al sl
(A)1-a,2-b,3-¢,4-d
(B)1-b,2-¢,3-d,4-a
(C)1-¢,2-d,3-2a,4-b
(D)1-d,2-2a,3-b,4-c

A2 2uden [Qandl Q4L sun [l aen 69 ?
1. 9%RUd AALGY A6 (Gujarat Library Association) -l 20U+l 19394i 4.
2. A%UHIL oL Aig[ds Al .

3. BHELALE vildg ARud [Qardls duay i acsu duaa 8 5 % aud Al gkl ndd B w5180
Ay .

4. ollof AU 2 KA MY AAAY AIEA .
(A) HA 1 241 2 (B) WA 2 ¢4 3
(C) {1 3 1A 4 (D) 1,2,3 21 4
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090. Fairs and the concerned districts are mentioned below. Which pair is not correct?
(A) Shamlaji Fair : Sabarkatha district
(B) Bhavnath Mahadev Mela : Junagadh district
(C) Donkey Trading Fair - Vautha Fair : Ahmedabd district

(D) Tarnetar Fair : Surendranagar district

091. Indian Festivals and States are listed below. Which pair is not correct ?

State List of Indian Festivals

(A) Arunachal Pradesh — Reh, Boori Boot, Myoko, Dree, Pongtu
(B) Assam — Hornbill festival, Moatsu Festival

(C) Chhattisgarh — Maghi Purnima, Bastar Dussehra

(D) Jharkhand — Karam Utsav, Holi, Rohini, Tusu

092. Musical Instrument Person

1. Santoor a. Pt. Shiv Kumar Sharma

2. Flute b. Hari Prasad Chaurasia, Pannalal Ghosh
3. Sitar c. Pt. Ravi Shankar

4. Violin d. V.G. Jog

Select the music instrument and the person playing the same.
(A)1-a,2-b,3-¢c,4-d
B)1-b,2-¢,3-d,4-a
O1-¢,2-d,3-a,4-b
M)1-d,2-a,3-b,4-c¢

093. From the following statements, which statements are correct?
1. Gujarat Library Association was formed in 1939.
2. There are two Cultural Libraries in the state.

3. Gujarat Vidhyapith at Ahmedabad which is a State Library, a non-governmental library run

by autonomous bodies
4. Second one is Baroda Central Library, Baroda.
(A) only 1 and 2
(B) only 2 and 3
(C) only 3 and 4
MD)1,2,3 and 4
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094.

09s.

096.

097.

098.

099.

100.

101.

A2 20 [Qane asil.

1. uiel ded : nidl gea 21 ulm oioun, Hirvis, iR 21 2um-u Al 2ulzoald-u dist gl
Ml 2Ud 8. d AL dAl gRsL elasdl UYL AL (percussion instruments) - A420d gl
255 aiuoll 20o0ld e y3ul 21 021 gt @-dd sami 2ud 8.

2. AlAged (Mol™) : al g 2 MM 1 8 7 Aa vuleold-n yzul dan 2421 gL sami 2nad,
Hd icd (playful dance) 6. %él‘-& 28 (striped skirts) e o610 igusHi AR Al wleul
Al dldolg 2wl A 4 53 69, Y3ul, A Ad aiu (a0 244 Asiaq s30 dolla 08 758
usdl Av 9. d e 512l Al 4 sl M2 69, A yel quolg dld s8R 2ud 8.

(A) A 1T 9. (B) HiA 2 013 €9,
(C) 1 a2 6id A1 89, (D) 1 1aa 2 2i5 ugL 0 9.

AU WA 53 w2 5269 dls Az el ?
(A) R0us (B) el
(C) MR~s1 (D) %Al wan

1R el Yls WAL 25 31 oor2Adul sui Raa & ?
(A) UG (B) waldLe
(C) ¥iou (D) sRs1

gy DA Wl 53 20 3L UNESCO -l aes R2o wiglui unifde 6 ?
(A) %1e (B) sllR AU
(C) ricndlL (D) 3% HS1AU

el el g1l A AAML GHUNIAR s 2udd 2ikziul lonan DA Uh 56 © ?
(A) War and Peace (B) Anna Karenina
(C) Resurrection (D) The Devil

D2l WAL s derR1dl uusa Uolld HIdS AUHAL HIAE Braied Hiad scHE suedl ?
(A) 452 (B) ¢l onell
(C) u2dd Yl8q (D) Wldd xS0 5152

opugis2 el A uldirdl 2ucusan sun dllisell qoil € ?
(A) AlM1oY Hedl (B) Wil sxsei-l
(C) 3L 2AiY, AL 54 (D) 2™

QuRd-L AlAArHL Ul A9 AAeA AlAAAU YA e’ 2142 sul (@ Al siduny
QUALHE YAIRL sl At >0 8 ?

(A) A3 29€ 366 (B) 24249¢ 367
(C) A4249¢ 368 (D) 2A4249¢ 369
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094.

095.

096.

097.

098.

099.

100.

101.

1. Santhali dance : Santhali dance is performed by Santhali tribals from West Bengal, Jharkhand,

Evaluate the statements.

Orissa and Assam. Performed by both men and women to the music of percussion instruments
like Tamda and Tumda drums along with enchanting flute music.

2. Bamboo dance (Mizoram) : Bamboo dance from Mizoram is a playful dance by the Cherav
tribals, performed by both women and men. Colourfully attired the women, with striped skirts,
dance to the rhythmic beats of drums. Men normally hold the bamboos on the floor, expanding
and contracting the bamboos. Meanwhile the dancers step in between the bamboos and move
out fast in perfect rhythm.

(A) only 1 is correct (B) only 2 is correct
(C) both 1 and 2 are correct (D) both 1 and 2 are not correct

Which one of the following is NOT a folk instrument of Kutch?
(A) Rabab (B) Sundari
(C) Bhorrindo (D) Jodiya Pava

Where is the one amongst the four Sharada peethams located in Gujarat?
(A) Junagadh (B) Pawagadh
(C) Ambaji (D) Dwarka

From the following which place of Gujarat has been named on UNESCO’s World Heritage list?
(A) Junagadh (B) Blackbuck sanctuary
(C) Dholavira (D) Rudra Mahalaya

Identify the saga of Tolstoy translated into Gujarati by Jayanti Dalal.
(A) War and Peace (B) Anna Karenina
(C) Resurrection (D) The Devil

‘Sangeet Martand’ was the honorary title conferred to which Gujarati vocalist?
(A) Mukesh (B) Bhimsen Joshi
(C) Yashvant Purohit (D) Pandit Omkarnath Thakur

Jaishankar Sundari wrote his autobiography with the title
(A) Saubhagya Sundari (B) Mari Karamkahani
(C) Thoda ansu, thoda phool (D) Natyabhkatha

Which Article of the Constitution of India empowers the Parliament to amend any part of the
Constitution without affecting the ‘basic structure’ of the Constitution?

(A) Article 366 (B) Article 367
(C) Article 368 (D) Article 369
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102.

103.

104.

105.

106.

107.

108.

109.

110.

cuRdly AHaQA dat ..., uR 4R 6.
(A) xnH[R 5 Uiz (B) 31[3u- Hise
(C) [ Hisa (D) lid Hisd

AAE gL uUR sAA [Bra 200 AlQanu 2192698 111 801 MR-l wguldr sean [Aseul
2UUUH] 20dl 6 ?

(A1 (B) HiA 2
(C)HA3 (D) H1A 4

Aldain-u su1 219269840 AUl Adras sumi 2udl 8 5 A%l [QaAeuni 500 9 ay weal A Sl ?
(A) 2429 169 (B) ¥L329¢ 170
(C) x14269¢ 171 (D) A4249¢ 172

AURAHL (AR [aeuad 21401 [aeudt adls sa12 sty sl gdi ?
(A) 1992 (B) 1995
(C) 1997 (D) 1999

wid_A)A AIR Al 220401 5012 28 €l ?
(A) 2014 (B) 2015
(C) 2016 (D) 2017

AA-uniodl sul 21AMAUH uaH auid aua asBisazi [alRa 53 9 ?
(A) HIRA A1+ 2R 1909 (B) MR A1+ AR 1919
(C) *uRd us12-0 2A[A[AUH 1935 (D) ®URd A1+ AU 1947

211 {12 gIRL HELA 3¢ $AAA A5 U2 du-l una GulRd s 1 Y& 52 8.

(A) URH B (B) vigl-ucuallse

(C) x[As12-y291 (D) Gainwl

AAuniddl 58 yoyd s dl ?

(A) AdMNHQ] 2881 54 (B) A2tA%d, AL 539
(C) uR$RY W 539 (D) 082 Masdd @1 529

DAuniell sul anzulda-l el e arasia-l wugs 2l ?

(A) Al HIRdAL WARS sidl A4

(B) l5ai 45 aui-l GHz yil 530 siu

(C) Al5d AlsuMIL AU dZlS 21 HI2 Qs Sid

(D) a5 G1Rd A1 1A SISURL AU 60 SIS AUMEIS lal daad) L €y
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102.

103.

104.

10s.

106.

107.

108.

109.

110.

The Indian federal system is based on the
(A) American Model (B) Canadian Model
(C) Australia Model (D) Norway Model

How many alternatives are provided to the President of India under Article 111 of the Constitution
regarding a Bill passed by the Parliament?

(A) Only 1 (B) Only 2
(C) Only 3 (D) Only 4

Which Article of the Constitution provides that the State Assembly shall consist of not more than
five hundred?

(A) Article 169 (B) Article 170
(C) Article 171 (D) Article 172

When the Department of Disinvestment was created as a separate department in India?
(A) 1992 (B) 1995
(©) 1997 (D) 1999

When the International Solar Alliance was established?
(A) 2014 (B) 2015
(C) 2016 (D) 2017

Which of the following Act prescribed federal features for the first time?
(A) Govt. of India Act 1909 (B) Govt. of India Act 1919
(C) Govt. of India Act 1935 (D) Indian Independence Act 1947

By this writ the Court secures the body of a person who has been imprisoned to be brought
before itself:

(A) Mandamus (B) Habeas corpus

(C) Quo warranto (D) Certiorari

Which one of the following is not a Fundamental Duty?
(A) To protect the Sovereignty (B) To respect the National Flag
(C) To abide by the Government (D) To safeguard public property

Which one of the following is not a qualification criterion for the election of the President?
(A) A person must be a citizen of India

(B) A person must have completed the age of forty-five years

(C) A person must be qualified for election as a member of the House of People

(D) A person must not hold any office of profit under the Government of India or any State
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111.

112.

113.

114.

115.

116.

117.

Gu-aurguld-dl 2[2elld qoud) sl 2 [Qaigl siasdl s3 6 ?
(A) ezuld (B) 3l 22l v
(C) GRAdH 4y (D) Aue

MU ASIR GIRL GLSIR UISAHE AUAA A2 5H HHAH 818 A3 8.
(A) Aue 530 1oL Al Heau &9 visanflu we

(B) g $31 HOl el weaH 9w w2

(C) a2g5H WAg 21l HenH U 181 we

(D) wui Yl Aue xAMAUH YR 1 52

AAdpuidl sia sl d=laiA vidll sinaell 52 ¢ ?
(A) :2uld (B) Q3ma-
(C) AlsAu™-L 1152 (D) AT ua-L Uy

Uil 529 eionacl Wi, el graqd Yruasl-l s .
(A) LA GRAAH ~ALAUHI

(B) HioL B2 i BRAAH ~UALAUH]

(C) 5[ Boynal, G2 —pnaul A GRadH uAIEuHl
(D) UL AFUEAUHIAL AHIH, QIALAUHL

AA-umidl siel cud Fuas-usidvit udlas iaasd 50l 53 O 214 usdl Adaa dAlsuuml
UYSY ?

(A) -u Honay (B) 28R [ ulala

(C) Rard ivsr Aa-i2 (D) igter u ulHld

dldaiq yoror Da-umioll s vig [Qma 8 ?

(A) A%AUAAL SIEL HEd AHLAd: Ui Q- §1u 69, ud d 2106 AHd A8 A3 8.
(B) us2uld gi2L Aawad su1 2012 U s2idl asta d A Aldaui RaiRd .
(C) 818 alsan sl ay avid Asawa a3 [Rysd srani 51 uldviy 4.

(D) AeauEl A1 241 4253 s1l 2ieiBa A% YdL Hallea 6.

wua saell Ramsl sA9 (4 sluseile s v-siiH-2) sl 601 1A O ?
(A) A2& 6YRA 215 AR WS A 8152 - SR Yl [Amia

(B) sHulo1 Houaar adladl YR 21 lsaoid s[Raginl [

(C) A Hanau- -ueusla yrau [Aeudt

(D) ¥8y& [Aeua, -uLu H-nay
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111.

112.

113.

114.

115.

116.

117.

Who determines the doubts and disputes relating to the election of a Vice-President?
(A) President (B) Central Election Commission
(C) Supreme Court (D) Parliament

An Ordinance issued by the Union Government can exist:

(A) At the most only for six weeks from the date of reassembly of the Parliament
(B) At the most only for six months from the date of reassembly of the Parliament
(C) At the most only for twelve months after it is being promulgated

(D) Until the Parliament passes an Act

Who among the following allots the portfolios to the Union Ministers?
(A) President (B) Prime Minister
(C) Speaker of the Lok Sabha (D) President of the party in power

In the performance of his official duties, the Attorney General shall have a right of audience in
(A) Exclusively in Supreme Court

(B) High Courts and Supreme Court alone

(C) Central Tribunals, High Courts and Supreme Court alone

(D) In all Courts in the territory of India

Who among the following scrutinizes the report of Comptroller and Auditor General of India and
then submits report to the House of People?

(A) Ministry of Finance
(B) Committee on Public Accounts
(C) Governor of the Reserve Bank

(D) Committee on Estimates

As per the Constitution which one of the following is a wrong statement?
(A) The normal term of a Governor’s office shall be five years, but it may be terminated earlier

(B) The grounds upon which a Governor may be removed by the President are not laid down in
the Constitution

(C) There is no bar to a person being appointed Governor more than once

(D) The Governor’s diplomatic and military functions are restricted to the concerned State

The Directorate of Enforcement (ED) functions under
(A) The Department of Financial and White-Collar Crimes of the Central Bureau of Investigation

(B) The Department of Administrative Reforms and Personal Grievances of the Ministry of
Personnel

(C) The Department of Financial Security of the Ministry of Home Affairs
(D) The Department of Revenue, the Ministry of Finance
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118.

119.

120.

121.

122.

123.

Daumiddl sy Rsai0 2 2suA- 6llS 2 S3ur s el ?
(A) s Y edgin- srusiorel Asell 24 [Ramn

(B) [8 5 25121 Aol 51100 Alagll 244 Ruun

(C) @art A -y i vl stusiel Aasll 204 Ruuq

(D) ¥ §30 108 el 24 [Ramq

Adl (2l Aaa Al Boyna-l tlssd you an €. 6ls5mL 211 2A0UHL AL AHEL A1 6.
(A) MW, Yrit, slasTl A4 A~

(B) xHgldle, S+EIR, [QaldL x4 Seusue

(C) ¥, Hanar, dedl 21 slag3

(D) U2, 525, [BuYR 11 [A3a-dyy

7341 ol YR Aoiaul DaA-unl [QaR s

a. AR AU Yaadlie caazan ydlwd .

b. ui au-l vitalyds-l »ial@

c. Ul ATitaiuell S A5 WA €9,

d. AHAML 2 Y1udl A% acL-AL Wil 9,

2L 2L SLSHL GUARL 53 AL weleL YRAE S

(A) 1A a uA ¢ (B) WA a, b ¥ ¢
(©HAbAnd (D) {A b, ¢ ¥4 d

5% AU 2 R A W DA-unid) 56 you or-dl 697
(A) [R50 2w 2150249 1S s S[=>u

(B) 24 [Amaru sHlan

(C) S~2elloy= 6331

(D) Aud & i-udlfla (4o

LI

daadl wor-u 7341 eirielly gL 2uRRuH Yaror, “oun’q siaL cavuifd 52 6 ?
(A) gt (s 21853 (B) [¥ecn sdser
(C) Hru ulAq (D) AFAUE

AR S DAunidl s 2540 S-orar-u-l i gl ?

(A) A5 Al 33udl 244 A1) axiL 8 Yl ugia 8.

(B) d¥ dMiRL 82 uRmel o iz A 513 A=l Guaial s30 ast oi.
(C) d WA A, AHul AU d$ E1L) 20U 9.

(D) d U512 2 WARSA 28] su-llaal u RedR oirud 8.
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118.

119.

120.

121.

122.

123.

Which one of the following is not a function of the Securities and Exchange Board of India?
(A) Registering and regulating the working of venture capital funds

(B) Registering and regulating the working of collective investment schemes

(C) Registering and regulating the working of life and general insurance policies

(D) Registering and regulating the working of mutual funds

New Delhi is the Principal Place of Sitting of the National Green Tribunal. The other places of
sitting include

(A) Bhopal, Pune, Kolkata and Chennai
(B) Ahmedabad, Indore, Shillong and Hyderabad
(C) Bombay, Bhubaneshwar, Guwahati and Bengaluru

(D) Panaji, Cuttack, Dispur and Thiruvananthapuram

In relation to the 73rd Constitutional Amendment, consider the following:
a. Provides four-tier Panchayati Raj System

b. Assured duration of five years

c. Devolution of powers to Panchayats is vested with the Union Government
d. Gram Sabha is the foundation of the Panchayati Raj System

Select the correct answer using the codes given below:

(A) a & c only (B) a, b & ¢ only

(C) b & d only (D) b, ¢ & d only

Which one of the following is the principal agency for preventing corruption at the level of Central
Government?

(A) Securities and Exchange Board of India
(B) Central Vigilance Commission

(C) Intelligence Bureau

(D) Research & Analysis Wing

As per the 73rd Constitutional Amendment Act of Panchayati Raj, who specifies a “Village”?
(A) Taluka Development Officer (B) District Collector
(C) Chief Secretary (D) Governor

One of the following is not a benefit of e-Governance to the citizens:

(A) Government services swiftly and directly reach your doorstep

(B) You can access a host of government services right from the comfort of your homes
(C) It leads to cost and time-effectiveness

(D) It makes government and citizens dependent on IT companies
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124.

125.

126.

127.

128.

129.

SAHL AGI8IR bigR [AsAraai-il Hid-u Gaal 9 ¢ ?

a. VUL S NG A AR HIAL UELA 53 6,

b. M1Rd HIZ WA uRag wl/ama g2l 9.

¢. USRI AR ASAH NAA-HL UELA 53 8,

d. we AR o Yol usia [asuadl

02 2L SLSAL GUARL 53 ALRUL weleL YAE S

(A) a, b ¥ ¢ WAL (B) a, b i d 1A
(C) b, c 21 d 1A (D)a, b, ci d

DAHi ste i A [R5y Aeue yi:ua sa W2 dud a1 6 ?
(A) MURd A1 HaAd=3 (B) MR 244 YA
(C) ®uRd 241 A2 (D) GURA A 514

[B1322s uRuax sui 2udg © ?
(A) 2151, sidcue (B) vu2Hg, Awin
(C) A8, A3 (D) 35, et

A-Hidl sul 291 202241 MURAAL 21 dWR MRNER dfls BMI sucal ?
(A) Y5 26 vHld (B) Al
(C) yruses ka2 (D) o4+l

AAUE UL AH A% (SAGY) U il DAl [d1R 531,

a. d-dl A32Ud adl 201441 a8 edl.

b. d dlsas wausiel AL @ -Hordld u A3 scAHi 2udl sdl.

c. d [Brewma Guirnal or-opdld u a3 saHi 2udl ¢dl.

d. HeteHL AUl Yeyd e[ sian ardldsdami 3uidRa saul .
A2 AL SLSAL GUALL S ALAL oFellel URAE 5

(A) a, b 24 d WA (B) a, ¢ 1 d {1
(C) b ¥ d WA (D) ¢ 21 d WA

A2uniell 58 Alor-u-l Gaou yai, [lAd vaw gan SRl U arRAlL 8 Bl 8d UaH
Ul Gellol s Rust eirtandl 2usiau vl ase ?

(A) [z Siaa (B) nuriH-l Yt Alos-
(C) nandA-Al Slaa [Asiu aie-u (D) 2lvil AR 11
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124.

125.

126.

127.

128.

129.

What are the objectives of India developing Chabahar Port in Iran?
a. Provides easy trade access with Arab countries

b. Cuts down goods transport costs/time for India

c. Road access to Afghanistan’s four cities

d. Develops access to Central Asian markets

Select the correct answer using the codes given below:

(A) a,b & c only (B) a, b & d only
(C) b, ¢ & d only D)a,b,c&d

Which of the following have agreed to reestablish Home Land Security Dialogue?
(A) India and England (B) India and the US
(C) India and Russia (D) India and France

Where is the BIMSTEC Secretariat located?
(A) Dhaka, Bangladesh (B) Kathmandu, Nepal
(C) Bangkok, Thailand (D) Thimphu, Bhutan

Which of the following country emerged as the top trading partner of India in 2022?
(A) United Arab Emirates (B) China
(C) United States (D) Germany

Consider the following in relation to the Saansad Adarsh Gram Yojana (SAGY):
a. It was launched in the year 2014

b. It was launched on the birth anniversary of Lok Nayak Jai Prakash Narayan
c. It was launched on the birth anniversary of Deendayal Upadhyay

d. The goal is to translate organic vision of Mahatma Gandhi into reality

Select the correct answer using the codes given below:

(A) a,b & d only (B) a, ¢ & d only

(C) b & d only (D) ¢ & d only

Which one of the following schemes is aimed at increasing the confidence of young, educated or

skilled workers who would now be able to aspire to become first generation entrepreneurs?
(A) Vidya Kaushal

(B) Pradhan Mantri Mudra Yojana

(C) Pradhan Mantri Kaushal Vikas Yojana

(D) Seekho aur Kamao
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130.

131.

132.

133.

134.

AAuniol 56 dlogeit A gles vi-2nSAA 2amal e AU 291 s AR Ald/2A43Rq
ool 2 HULEIHE AL 15 WS a1 AR 615 vl €ls 615 -l Ylam >ud & ?

(A) Rl au de-n aloH (B) e+l 5 Alog-
(C) =il ot a4 Al (D) 32+3 U Sl i

A5 [Feal x5 G dlgit-u Aoiaul NA-unidl 25 00 [ .
(A) A 5[ 27 Ao &AL Geuend 2uadl 4 6.

(B) d s dxuH Pyecuztid 2uadl 4 69,

(C) “ULEL U5 GOl HAAU 21 ALl HIS URUEA A1 Yl s 69,

(D) 2L AU adHil yau vie uEal el Yo e Asnsly asdél s s s A
1l 4 69,

“2516 culd AlyiL ds 15w (STAT) Al g & ?

(A) 21 2gdld (compressed) GUAl Sl U+l ALyl €9,

(B) U ALYl COP-2 4t 516{ Beao L B213ald qgd Av 6.
(C) 2L ALyl 8, aredlHi [A01 astadA g2 scu-l 8.

(D) 20 Sal32s ars-iqi [t w2l dioru 69,

cRdxll AAE AN AT (residuary powers)*ﬁ GualaL SR 3 As ?
(A) €35 aud

(B) $5d AU $2153] g3

(C) AUUL A% 52158l dHy vituelly 2153] g3

(D) BuRisd U4 215 v )

HNGA 520 Wl (a2 saida € dd yeuisn 2.

2. 1976 - 424 YRl AARUA curdlu siwRRul 10 Yoyd 529 GHIL bueni 864l YL xuRRuY,
2002 2l 20 WEWML 114 yAeyd 3% GHAS.

b. 197641 2agilho aflaA yned 5201l MenR s30 edl. 2+l #3Rud 1975-77-) x1idRs 52158
gRa Ag@mas dl.

C. HNMA 539 HIRALL GIUIRRIAL HIOL 45 8601 HJ29E 51-5 18 AoilAd .

d. Yooyd 520 oL euatml flgd sami 2udl 6. (i) Alds 539 @ ud>u Aaum-u GHEL 2ugalld ansll
284, (i) “UARS 529 : vivIREL, Ar2EAY 244 A2Adrl HUER $27l.

(A) a, b 21 ¢ Al 89, (B) b, ¢ 21 d Al 8.

(C) a, ¢ ¥ d AL . (D) a, b, ¢ - d L 89,
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131.

132.

133.

134.

Which of the following schemes facilitates bank loans to at least one Scheduled Caste/ Scheduled
Tribe borrower and at least one woman borrower per bank branch for setting up greenfield
enterprises?

(A) Pradhan Mantri Vaya Vandana Yojana
(B) Dena Shakti Scheme

(C) Pradhan Mantri Jan Dhan Yojana

(D) Stand Up India Scheme

One of the following is not a correct statement in relation to the “One District One Focus Product
(ODOFP)” Scheme:

(A) It covers products of agriculture and allied sectors
(B) It covers all the districts of the country

(C) The Ministry of Food Processing Industries (MoFPI) provides financial support for this
Scheme

(D) The Scheme covers financial, technical and business support for upgradation of existing micro
food processing enterprises

What is “A Step Towards a Sustainable Future (STAT)” Scheme?
(A) This is a scheme on Compressed Bio Gas (CBG)

(B) This scheme targets reduction of carbon emissions as per COP-2
(C) This scheme aims at bridging the gender gap in population

(D) This is a scheme on the development of Electric Vehicles (EVs)

The Parliament of India can make use of the residuary powers

(A) At all times

(B) Only during national emergency

(C) During national emergency as well as constitutional emergency as well in a state
(D) None of the above

Statements for “Fundamental Duties” are mentioned below. Evaluate the same

a.42nd Amendment Act of 1976 added 10 Fundamental Duties to the Indian Constitution.
86th Amendment Act 2002 later added 11th Fundamental Duty to the list.

b. Swaran Singh Committee in 1976 recommended Fundamental Duties, the necessity of which
was felt during the internal emergency of 1975-77.

¢. The Fundamental Duties are dealt with Article 5S1A under Part-IV A of the Indian Constitution.

d. Fundamental Duties are categorized into two — (i) Moral Duty: cherishing noble ideals of freedom
struggle (ii) Civic Duty: respecting the Constitution, National Flag and National Anthem.

(A) a, b and c are correct (B) b, c and d are correct

(C) a, ¢, and d are correct (D) all are correct
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136.

137.

138.

139.

[t yeuis- su.

1. A4 A9€ 268 : MURAT, 253 53 (1) 2153 §3 21 HIRd] 78R [SA161 g HIRA AR G121 WA Ad)
AHIH 2UAS d U512 611 GR{l 5AAA AHIH Al 2 @l Ysarllig d ARS1R G121 U LA AHIH WU
“EIRd 2sBid £37 2dlus vR1adl 245 As[Ad ¢innidl 8L, (2) MURA USIR HAAL A%U USIR GIRL
2124l d-l Al Wt 210 dHIH 2SR UL NS VULAIHL SHL $AHL UL, (3) SIUEL AFAR 1A 8
W2 i 24 o{RRAHE UL Ad R sud- 21405034 § 31l sidurt e siaaii 2uad gl

2. A9 269 : 2USRMS §3 (1) AUE SIUELGIRL “FIRAG 2U5[RUS §37 wH-1 Ul 2azuni vis 2uslRus
g3+l 2y 530 A3 9, Ful 20l s1ueL gL [REIRd smi 2uadl 54 AHAIA YsaHT 20990 244
d §3 ruld-i sad Hsauni uad 29l Aue gL vud WA 2B 5ddL 61l €lu da ARl vk
Uil anat-i gl Hi2 »ual il dn- gt Ul 2udl as.

(A) WA 101y 8. (B) HIaL 2 13 69,
(C) 1 911 2 i i 8. (D) 1 211 2 i wizi 69,
[t yeuis su.

1. titnRefly Al : oinella A CURAHE HS eyl 2124 £ % dH-l ATAL 21 2B 511 GuRdlA
ofRRHil Hond 69, G{HIREIME dMAL ATUAR Bedv 8 22 § dHrlL HI ALSSYU HUJUIEL .

o HETAYRL AR FHS WY, 48 Als Acu 2oL 226l Y, auRd-l [Ras-Heidvn udlas
2. AHUAS AL« A2l Hue A [Qarenri ABRUY gIRL stlacimi 2uda 9.

—emal ddls curdly ulaeyfd x4 [AlRna ol (SEBI), Al s1ael 4, asdla na xA[sR Y
(NHRC), ARy -y, vl w8591 (UIDAI)

(A) A 1Y, (B) HiA 2 013 €9,

(C) 1 241 2 o i 69, (D) 1 211 2 biA el 8.
AdHLL ALSUML ... 6.

(A) 144] disucu (B) 154 alsucu

(C) 164 dlsue (D) 174 dlsucu

B2 AL RAH(d] U ... GrRAH 2ud €9,

(A) MURA A5 8 3uid)

-\

(B) Ul s g3uid) ul dvl 9¢d Aan 20l sdl.

(C) [alat o 2is[Ra $3uidl pul dugl A 2udl €.
(D) *uRdrL 2uslRus $3uidl

APAAMLAL ... QUL 69,

(A) AdBis yod HalBsR 2uaR dist gl Al o eia

(B) A% [AarueI-L AU gI1RL 21 AL

(C) o [Aann uRugL AU gL Y21

(D) % [Qan- uRNEL 21 A% [QarA UL UAeUL gIRL 2184l
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136.

137.

138.

139.

Evaluate the statements.

1. ARTICLE 268: Consolidated Funds and public accounts of India. (1) All revenues received
by the Government of India, all loans raised by that Government and all moneys received by
that Government in repayment of loans shall form one consolidated fund to be entitled “the
Consolidated Fund of India”, (2) All other public moneys received by or on behalf of the
Government of India or the Government of a State shall be credited to the public account of.
(3) No moneys out of the Consolidated Fund of India, shall be appropriated exceptin accordance
with law and for the purposes and in the manner provided in this Constitution.

2. ARTICLE 269: Contingency Fund. (1) Parliament may by law establish a Contingency Fund
in the nature of an imprest to be entitled “the Contingency Fund of India” into which shall be
paid from time to time such sums as may be determined by such law, and the said Fund shall be
placed at the disposal of the President to enable advances to be made by him out of such Fund
for the purposes of meeting unforeseen expenditure pending authorization of such expenditure
by Parliament.

(A) only 1 is correct (B) only 2 is correct
(C) both (1) and (2) are correct (D) both (1) and (2) are not correct

Evaluate the statements.

1. Constitutional Bodies : Constitutional bodies are important bodies in India that derive their
powers and authorities from the Indian Constitution. They are specifically mentioned in the
Constitution, meaning they have dedicated articles.

* Important bodies such as the Finance Commission, the UPSC, the Election Commission,
the CAG

2. Statutory Bodies : * They are created by an Act of Parliament. Or the legislature.

— For example, the Securities and Exchange Board of India (SEBI), National Law Commission,
NHRC, Unique Identification Authority of India (UIDAI)

(A) only 1 is correct (B) only 2 is correct
(C) both 1 and 2 are correct. (D) both 1 and 2 are not correct

The present Lok Sabha is the
(A) 14th Lok Sabha (B) 15th Lok Sabha
(C) 16th Lok Sabha (D) 17th Lok Sabha

The pension of a high court judge is charged to the

(A) Consolidated Fund of India

(B) Consolidated Fund of the state where he last served

(C) Consolidated Funds of the different states where he has served
(D) Contingency Fund of India

The members of the Rajya Sabha are

(A) directly elected by the people on the basis of universal adult franchise

(B) elected by the members of the state legislative assemblies

(C) elected by the members of the state legislative councils

(D) elected by the members of the state legislative councils and state legislative assemblies
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140.

141.

142.

143.

144.

A [Qaun [Qupumi Al
1. ardl au@a Horer, Auis s3a 635 WA Widldl Axfld HA 247 A d21d Sidl suasas ©.

2.% 51 Alssu uHHiAl Alsucu-dl Geellui Hdelt sa1 WA i d W YuadHl 42ellHi uRlL Hdgin
sas 9.

GuRlsdnidl sy (A /uai & ?
Al (B) H1A 2
(C) 191 2 6iA (D) 1 e 2 Higd) 215y Al

oAl [Qaaen RwlsME Daunidl 59 alsa-a waEadl Aaad s30 a5 ?

1. Aiyel 21241 408 dd orwlas [@ai aHd s valdzaiRig uldRBa sa dasuen s
A% [ Al

2. rRuASsL (A4 8L a5t 211 2 uas
3. dRulast adlazHi Qg s Anaa Aq™a v1adl alsd
AL FUL 13 UAE S

A13 (B)2,3

(C)HA 1 D1,23

rgufd H-Al uRugL ueuA ......... oS 531 AS.

(A) Wil Ad (B) asta-ll Genm 20t
(C) $5d $2153-u AA2UHi (D) 2152+ usHAlll

-2l (NOTA) Mgl [Aseu apud .

1. A% [Qauen 4l

2. dlsu 4eell

3. 02uld 21 Gurrgulda-l 2esll

il [Asey uaie 0.

A 1,2 B 1,3
01,23 (D) HiA 1

cuRdrL 426l Y 2ieiani Al [l [Quenni «l:
1. sitn@mi el var ueAl-l Yed-l Gedm .
2. o{t1R8l [Rad adl 22ell s 12512 11 2u0-l siduel [Augs u uldeiy ysul o,

3. 4oy 2ell s[RAAR i [ viaa x1-u o 42ull sl 4 Hasiei (Brumi 20 suetadl [Fely yuu
2ufl s[MaR gL dani 2ud €.

GuHidl sy (At / (el 02 /i e ?
A)HIA1 B) 1,2
©1,3 D) 1,2,3
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143.

144.

1. Each village, demarcated as per the Census, must have its own dedicated Gram Sabha and
Gram Panchayat.

Consider the following statements:

2. Anyone who is eligible to vote in Lok Sabha elections from a particular village can also vote in
Gram Panchayat elections.

Which of the above statements is/are correct?
(A) 1 only (B) 2 only
(C) Both 1 and 2 (D) Neither 1 nor 2

A State Legislature may provide for the representation of which of the following persons in a

municipality?

1. Members of the Lok Sabha and the state legislative assembly representing constituencies that
comprise wholly or partly the municipal area.

2. Teachers and graduates living within the municipal area.

3. Persons having special knowledge or experience in municipal administration.

Select the correct answer code:

A1,3 B)2,3

(C) 1 only D123

The President can dismiss a member of the Council of Ministers
(A) On his own

(B) On the recommendation of the Prime Minister

(C) Only under emergency conditions

(D) With the consent of the Speaker

The NOTA voting option is applicable in

1. State Legislative Assembly Elections

2. Lok Sabha elections

3. Election of the President and Vice-President

Select the correct answer code:

Aal1,2 31,3
01,23 (D) 1 only

Consider the following statements regarding Election Commission of India.
1. The Constitution has not specified the term of the members of the Election Commission.

2. The Constitution has debarred the retiring election commissioners from any further appointment
by the Government.

3. In case of difference of opinion amongst the Chief Election Commissioner and/or two other
election commissioners, the matter is decided by the Chief Election Commissioner.

Which of the above statements is/are correct?
(A) 1 only B)1,2
o3 1,23

[CSP-1] rro. I8
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146.

147.

148.

149.

A" dls Aal 2nail adat S0 W Almidl 59 a2l 92

1. w8 02uld G121 55 Al vgiad- =l g1 siRel 244 Ad uslad g2 53 asu .
2. 48 Als Al HUARIAL AHA WA MRAAL 215(0d §3 vid GHiRausi 204 69,

3. ARAH MU ARSI A1AL SIS A%U ASIR 8601 61l 51 s 2 wist Avudl Al

a1l [Qseu yae s
A)1,2 ®B)1,3
©)2,3 D123

Dalumiddl 5 Aen-l g AFfAHD A0 [@8 el Adsia e ?
(A) A Hina 2SR U

(B) 5[~ Ad Sl 2uui1

(C) 5[u w8l 2uaixn

(D) Nl 2uai-un NS»i

RURArL SUEL YA @2t A [l Luqui al.

1. MIRdd SIAEL YA S AU U212 gIRL AHAIAR 2aumi vuadl 2is ARy 00 8.

2. e uin al sruel daHdl YAt sami »ud 9.

3. SIUELUA 1A SIUSIHE AU S12 8L 1 GURAMT UaAdHLL srugizi- aHlan $29l.
Gur-u (At WSl sy / sul Qe / [l wig /vizi 8 ?

A)1,2 B)1,3

©)2,3 (D) GuRlsd WA 215 ur =l

A+ [QauHl Lunni Al

1. 22ellHi Hd 2l 2ESIR A dl A 2ES1R € 5 A dl AHLA S1UEL S50l 2AS1R
2. el 2w HduA gl Fauidl Uldidl 1 2l a5 €.

GuRisaniall sy [Qa- / Qe vig /vizi e ?

(A) L 1 (B) WA 2

(C) 1441 2 6iA (D) 1 1acu 2 siAnigd) 215 uat 1l

auRdd el AA-uuiddl 56 dd Aoa- 2iold stulcis [Aeus 155l 52 8 ?

1. uld 2H24a1 ABAWA du-l staladHl Al 21§20 GUALdL e Wt W2 518 uRL sidA
gAUGER ¥ A,

2. Aue A [ Hsnl skl stagudl uR siSuRl Ae1adHl ue Bardl as, .

3. ~adlaid el siadl sl 9l 2udl siu d [Rawr due e ad 200 a3l 59
asdl -l

L [Aseu uie sa.
(A) 1,2 B)2,3
©1,3 D123
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146.

147.

148.

149.

1. The chairman can be removed from office by the President only in the manner and on the
grounds similar to that of a judge of the Supreme Court.

Which of the following are the provisions for independent functioning of the UPSC?

2. The entire expenses of the UPSC are charged on the Consolidated Fund of India.

3. The chairman is not eligible for further employment in the Government of India or a state.
Select the correct answer code:

A)1,2 31,3 ©)2,3 D123

Which of the following bodies have the leader of the Opposition in Rajya Sabha, in their
appointment committees?

(A) The National Human Rights Commission
(B) The Central Vigilance Commission

(C) The Central Information Commission
(D) CEO of NITI Aayog

Consider the following statements regarding Law Commission of India.

1. The Law Commission of India is a statutory body constituted by the Government of India from
time to time.

2. The commission is reconstituted every five years.

3. The Law Commission shall suo motu, undertake research in law and review of existing laws in
India.

Which of the above statements is/are incorrect?
A2 B 1,3
02,3 (D) None of the above

Consider the following statements:

1. Right to cast a vote in elections is neither a fundamental right nor a right under common law.
2. Prisoners can cast their vote from jails through postal ballot.

Which of the above statements is/are incorrect?

(A) 1 only (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor 2

The Constitution of India lays down a functional separation of the organs of the State in which of
the following manner?

1. The President or the Governor shall not be answerable to any court for the exercise and
performance of the powers and duties of his office.

2. The validity of proceedings in Parliament and the Legislatures cannot be called into question in
any Court.

3. Parliament cannot discuss the conduct of the judges except when the proceeding to remove a
judge is being carried out.

Select the correct answer code:
Aal1,2 B)2,3 o113 M)1,2,3

[CSP-1] rro. I3
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150.

151.

152.

153.

SIDETRCCTEIRITETINCIR

1. AAUE GIRL LiUAUH 2UAAL SIUEL MURAL AHIH AU A U3 8.

2. SIEWRL AALUHI, AU (A1 HIN GIRL GLlldUMl AL SIUEL A% HSIR A9 UL el
3. dAe-U suedl [Qaqu S5 wa ol sudla Wk sl v dusl iuftid avyud ©.
GuRsduidl sy Q- / [l 2 /i & ?

(AW 1 (B) 1,2

©1,3 D) 1,2,3

2 Do D .

215 768 Al. Al &AASN HR1AdL dAIRU PQRS Hig), PQ U i 721 AL AH] &AA50 S1Y dal xA4adu
QUL §2 saML 20d 8, dl tufl 8 [Qrarl uR[Mld sed) a9i?
(A) 86 + 121 (B) 88 + 121

(C) 68 + 141 (D) GURisd WA 218 vt 1l

((RE2: ust . 152 241 153) i USUHI, 6 [ 247 6 LRI 2UUAHT 20 8. dHIR 2 55 s ©
5 e Qi 53/ suL ARl / iRl dulEs dd guR ©.

(@t :

I ot el gl ¢,
IL s2cus gl oy 69,
ARl :

-

L ALl aldLouA €9,

-

IL L8 BLSL U 69,
A2 U4 A [Aseu uRie s2.

(A) §5d AIRRLT AFAL 69, (B) 5 AlRRL TT A4AR €9,
(C) b T 2R 1T AR 8. (D) d U4 518 21qud el
(Qausil

I 52415 AMEH ARAU D,

I 4L AHEA ad 69,

ARV :

L 32eus adu uuan 8

IL  52es agn uuaq

M1 32415 A agn .

412 Y4 20l [Asen urie sl

(A) 55d AIRRLT AU 69, (B) G181 AIRBIL AAR €9,

(C) 55 ARRL IT A TIT AR 9. (D) A5URL AREL AU .
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151.

152.

153.

Consider the following statements:
1. The laws made by the Parliament are applicable to all the states of India.
2. Under no circumstance, the laws made by the state legislature are applicable outside the state.

3. The laws of the Parliament are applicable to the Indian citizens and their property in any part
of the world.

Which of the above statements is/are correct?
(A) 1 only B)1,2
o153 MD1,2,3

From a rectangle PQRS of area 768 sq cm, a semi-circular part with diameter PQ and area
727 sq cm is removed. Then what is the perimeter of the leftover portion?

(A) 86 + 121 (B) 88 + 127
(C) 68 + 147 (D) None of the above

(Direction : Question No. 152 and 153) In both the questions, two statements and two conclusions
are given. You have to decide which conclusion / conclusions follows / follow logically to given
statements.

Statements:

I. All horses are elephants
II. Some elephants are cows
Conclusions:

I. Some horses are cows.
II. All horses are cows.

Choose the right option from below.

(A) Only conclusion I follows (B) Only conclusion II follows
(C) Both I and II follow (D) Neither of them follows
Statements:

I. Some cubes are squares.

II. All cubes are circles.

Conclusion:

I. Some circles are cubes.

II. Some circles are not cubes.

II1. Some squares are circles.

Choose the right answer from below:

(A) Only conclusion I follows (B) All conclusions follow

(C) Only conclusions II and III follow (D) Neither conclusion follows

[CSP-1] [PT.0.
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155.

156.

157.

158.

159.

160.

161.

vigolload org1efl sldl o adn-i Axsoi-l uawil 153 1T LAl 8. o du-dl Bl aanl
15 Al Sy, dl d UL HizL 21 Al adi-dl Boruatiql dpeiinR sedl a9l?

A2:1 (B)3:1

(©4:1 (D) Buisd U4l s v «d.

25 ulaumi s ot 10 [Qenlai-n 13212 91 60 8. 2 2ia-iL ui [denslzai-n e Lud 4 dani 2ud,
dl Sl [QenellaAi-n 1322 R 5 B2l LI AU €. UL AR 40 L HSTH 242 100 €. 2 d. &9 5
siduR [Qenell i 2l 9l A 2iaqu via [Qendl> WA €35 [QendlzA 2140 2140 yals yyw dne
Sia, dl Alell ay ya Wena-uR [Qendl- HenH s2an o asu 97

(A) 88 (B) 95 (C) 99 (D) 100

5 2i8l al®d a3 u3dl €9, 21 a3 2uefl M) 24l 16 scusui vudl s30 as 9. R 2i8l 20l M)
Sl UL 215HL 215 A0 vilaami 2ud 89, % 6 (A2 uld saus-u €2 well M2 9 2 A4 18 ¢4 2iél 24
sasHi vl 24 69, di 2l andl sed)l ea?

(A) 144 [A22 (B) 96 (@22
(C) 248 [a22 (D) GuRisd U4l 2is ur 1l

AR 6URS2HL 3 1 41 5 AL RITRHE WD . dl uan 6 suseui ol vt suu iyl et 4dl
el 5:4:3 udl?
A2:1 (B)2:3 ©)3:1 D)3:4

A2 WAL 5y [Qeunt / s [l 0 697

31 19 38 1
I e - N\ g A\ a -
@ o 7 At AL £9.

4 .3 .
(II)g v PR QAL 1269,

(IT1) 61 (AU AvA12AAL AL A2 SHAL T SlU 69,
(A) {12 (1) ¥4 (1) (B) WAt (1) A4 (111)
(C) WAt (I) 241 (11D) (D) 18 L 89,

£9 {5l Bls QYA AvUIA 4, 6, 10 1L 15 A3 HIOLAHT 2UA dl €35 AWA 2 AN AL 8. dl d Avu- 2isi-l
AR Sl ¢l ?
A3 (B) 5 ©4 (D)6

-

s diedl e Sun-dl RlE2 siy d-l dcua-n 0.2 9. o 4 [2[32 wilecwni 2ud di, 2904 2449 i
(2(32 uR S 1A d-ll Heua- s2dl?
(A) 0.3964 (B) 0.5904 (C) 0.6824 (D) 0.7804

w5 01000 12 @uildl2Al 9 : 4 cue, 5 aigoll 21 3 ol ot duiell yaell a2R (without replacement)
3 A@viidlaAl Aui 20d, dl dHi aedll, ol 24 cle vial sHHL AR 320 WA d-l Aeuari s2dl?

(A) 1/22 (B) 1/60
(C) 5/144 (D) BuRisd U4 2is urL 1l
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15S.

156.

157.

158.

159.

160.

161.

The sum of the areas of two circles, which touch each other externally, is 153 I sq cm. If the sum
of their radii is 15 cm, then what is the ratio of larger to smaller radius of those circles?

A)2:1 B)3:1
O©4:1 (D) None of the above

The average score in an examination of 10 students of a class is 60. If the scores of the top five
students are not considered, the average score of the remaining students falls by 5. The pass mark
is 40 and the maximum mark was 100. It is also known that none of the students failed. If each of
the top five scorers had distinct integral scores, what is the maximum possible score of the topper?
(A) 88 (B) 95

9 (D) 100

There is a leak in the bottom of the tank. This leak can empty a full tank in 16 hrs. When the tank
is full, a tap is opened into the tank which intakes water at rate of 6 L per hour and because of that
the tank is now emptied in 24 hr. What is the capacity of the tank?

(A) 144 Litres (B) 96 Litres
(C) 248 Litres (D) None of the above

The number of oranges in three baskets are in the ratio 3 : 4 : 5. In which ratio the no. of oranges
in first two baskets must be increased so that the new ratio becomes 5:4:3?

A)2:1 (B)2:3 ©)3:1 (D)3:4

Which of the following statement/statements is/are correct?

31 19 38 1
(D H.C.Fof —>— and —is —

9’7 11 693
4 3
(II) L.C.M of 5 and - is 12
(IIT) H.C.F of two prime numbers is always 1
(A) (D and (IT) only (B) (II) and (III) only
(O) (D and (IIT) only (D) All of the above

The least number of six digits, which when divided by 4, 6, 10 and 15, leave same remainder 2 in
each case. Then what is the sum of the digits of that number?

A3 (B)3
©4 (D) 6

The probability of a lottery ticket being a prized ticket is 0.2. When 4 tickets are purchased, what
is the probability of winning a prize on at least one ticket?

(A) 0.3964 (B) 0.5904
(C) 0.6824 (D) 0.7804

A jar contains 12 marbles : 4 red, S blue and 3 orange. If 3 marbles are taken out of it without
replacement, what is the probability of getting all three colours in the order of blue, orange, red
respectively?

(A) 1/22 (B) 1/60

(C) 5/144 (D) None of the above

[CSP-1] rro. I



CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


* H

162.

163.

164.

(A2 : ust 4. 162 Al 164) 2uden €35 o [QaHl 12, AHIR 2 g5l s, 8 5 2ude UL FUst
2pua 54 / sl Qs / (el vaid .

g Bz m’ dd adnn M, [Besan ‘n a1 agu N A vid:ugl 697

[t (1) - 61 aguil Hisolloan s5d 215 [Big u el ©.

(At (2) - adull M 24 N L 55l a2 2id2 m — n 6.

(A) [t (1) Yisg uaia 8, uig [t (2) xisg Usi-l snst 2uu yaitd ).

(B) [Aturt (2) 2isg vala 8, uig, [ (1) sy ol st >uudl vaid &l

(C) bini [Auml (1) 241 (2) P58 NS FUCL 2UUAL HIS VA 8, U oL WAL sidual [Aaq 2Asg usimil
oL AL At Al

D) [@a-l (1) 21 (2) s U Fust Ul WS vdltd -9l 24w AoiAd arred wlkd
33 8.

A

s Al 2= el [daa-dladl s1aaL 2 oUR dt 21UAA SAUME 20 8. dl d el 380 24191
auid [Frsn o d-ll ieua-u sedl?

(At (1) - d 9L €9 21aAHE AL Quid [Avs i 20 d-l Aeual 0.28 €.

(Gtun (2) - d el [Aes o - o d-ll iear 0.60 €.

(A) At (1) isg wald 8, ug [Aain (2) 2Usg ust-l et 2uual uaitd -9l
(B) [Atu (2) vis¢ valta 9, ug [Qaunt (1) xAs¢ Ul ool 2uua vl 4.
(C) 6in WA siSuL (A 2Us¢ UsL-l FUGL U WIS YA 6.

(D) [QtAl (1) 21 (2) 2AsWA UL UG A WS YAl ), 244 U AoilRd ati-dl wwld
33 8.

208 ‘Season’ 58 Id ASALILY, UM el 97
[G&un (1) : “Season change by nature’ A 4 8 12 9’ d313 ASd61d SAML UL 89 2 “Change is law
nature’ 1 ‘512 24 4 d<l3 A3AGLEL SAUHL 0L O,

[A1n (2) : “New season came today’ A “7 9 51 35’ AZdAGALH $AML UL €9 21 “Today change came
tomorrow’ 1 21 35 12 19’ d<15 A5co1t4 s 2l .

(A) [t (1) Yisg uaia 8, uig [t (2) xisg Usi-l sust 2uu yaitd ).

(B) At (2) 2isg valia 8, uig, [Qar (1) 2Usg uaml st >uual vaid &l

(C) bl [t (1) 241 (2) A58 USL-L Aol UL HI2 vl 89, uTg 6L WA sidur [Auq 254 us-l
oL AL YA Al

D) [@a-l (1) 21 (2) s UL ust 2uucl W vdltd -9, 24w AoilAd arredl wlkdl
o33 8.
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162.

163.

164.

(Directions 162 - 164): For each two statements are given, you have to decide which statement /

statements is / are sufficient to answer the question.

Does the circle M with radius ‘m’ touch circle N with radius ‘n’ internally?

Statement (1) : The two circles touch each other at only one point

Statement (2) : The distance between centres of circles M and N is m —n

(A) Statement (1) alone is sufficient, but statement (2) alone is not sufficient to answer the question
(B) Statement (2) alone is sufficient, but statement (1) alone is not sufficient to answer the question

(C) Both statements (1) and (2) together are sufficient to answer the question asked, but neither

statement alone is sufficient to answer the question asked

(D) Statements (1) and (2) together are not sufficient to answer the question asked, and additional

data specific to the problem are needed

Twelve independent trials are run, testing the reliability of a new engine part. What is the

probability that the part will fail less than half of the time?

Statement (1) : The probability that the part will fail three times in six trials is 0.28

Statement (2) : The probability of the part not failing is 0.60

(A) Statement (1) alone is sufficient, but statement (2) alone is not sufficient to answer the question
(B) Statement (2) alone is sufficient, but statement (1) alone is not sufficient to answer the question
(C) Either of the statements (1) and (2) alone are sufficient to answer the question

(D) Statements (1) and (2) together are not sufficient to answer the question asked, and additional

data specific to the problem are needed

How is the word ‘Season’ coded?

Statement (1) : ‘Season change by nature’ is coded as ‘4 8 12 9’ and ‘Change is law nature’ is
coded as ‘512 24 4°.

Statement (2) : ‘New season came today’ is coded as ‘7 9 51 35’ and ‘Today change came tomorrow’
is coded as ‘21 3512 19°.

(A) Statement (1) alone is sufficient, but statement (2) alone is not sufficient to answer the question
(B) Statement (2) alone is sufficient, but statement (1) alone is not sufficient to answer the question

(C) Both statements (1) and (2) together are sufficient to answer the question asked, but neither
statement alone is sufficient to answer the question asked
(D) Statements (1) and (2) together are not sufficient to answer the question asked, and additional

data specific to the problem are needed

[CSP-1] rro. 1
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165.

166.

167.

168.

169.

170.

171.

Y N e

A 3 Yul 2R 4 24 018 514 53, dl dil 7 [Badui 31 4200 HNd 69; 12 11 Yul 244 13 0121 e

N

514 52, dl 8 [EAHL 31 16600 HAA €9, dl 526 AHAHL 7 Y2ul 241 9 A1l 31 19250 HOQ?
(A) 10 [Baxn (B) 14 [2au
(C) 18 [2an (D) GURisd WA 218yt 1l

5 28 visAHL uAsl 3 WU A3 MRAHL 204 69, UAH 6 WOHY 2518 AAAAHL 209 dl A2l B2l
AHUHL 205 MR d2an o AHUHL AL WOHU AAs5Al d 208l M2 69, oflorl iy MAH WOY 5241 5 saus adal
208 M2 9 211 Ao WU 5l 4 5EALS HISL 25 MR 9. dl MAH WY BS54l S2al AHUHI 218 MR8?

(A) 15 sc15 (B) 18 sc1%
(C) 21 54 (D) GURisd WA 218yt 1l

25 Al AHAR AR 5 AL WAL A1 WAl >ud 6. 21 aldun 24 sasui 16 [MR2 ypd 8.
A d % usARUA Q2R A d al3UN 10 515 lad, SIu dl d avid WAL AHY sUL 27

(A) A4 11 sE1L5 (B) AA 11.15 a5
(C) AA 11.30 s (D) A 11.45 sl

(Rwug wanddl dl u2 A 5 5 7 2ud @l YAl oid WAL 25018 FsUHL 20d 6. dl AU 5 A
AU 7 52l uSal U4 d-ll Acua-u s2dl?

(A) 0.35 (B) 0.38

(C) 0.4 (D) BuRisd U4l 2is urL 1l

25 ESEIR 12 24531 AL © 27 Al UR AisUHIA A0 [BHdd Aoid Qoud 6. d AdHL And 534
(344 U2 20% and: Wid 8 U531 A 6. AURGUE d USIHL 4 U S3T ANAR 20U [BHA UR adRld 25%
andR 2l 42 8, 241 {ld d 3L 2112 WA 69, 311 10% 451 52 8. dl 518 AndR AR, d- 5t 2511
5ol agl?

(A) 50% (B) 54%

(C) 56% (D) BuRisd W4 2is urL 1l

A5 P o Q U Wil [Fopaizdl 45 30 Al 241 40 AHL B, s ALssAU 2idR stua, Pu Ui Q
A U3L 5l 5000 WRA1HRL At sa1 U3 69, % WA Q d vidR 45 [AlR2ui s14, dl d-ll »3u seen (3
sALs sal?

(A) 1211 (B) 1411

(©) 1611 (D) Buisd U4 215 v )

AQ [l J, K 21 LA 52dlls aviiélzil 08l 21 aiest »uuaiHi 2ud 8. J 54 quildlai U4 s
dlduia qviidl 4 6, ud R Qvilél Y sl 43 6. uthl susl-l quildlnidl K 25 agaia auidl 4
89, ud 3 Avildl Yrt: sl 45 9. d- uesl L oS-l aviidlmigdl 2138l auildl & 6, uig 2 quildl y:
ARSIHL Y5 B, d UHA 17 AUl eS8 8. dl A22AdHl AzsiHl 524l @uildlail sal?

(A) 42 (B) 45

(C) 54 (D) GURisd WA 18yt 1l
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16S.

166.

167.

168.

169.

170.

171.

If 3 men and 4 women working together, can earn Rs. 4200 in 7 days; while 11 men and 13 women
working together, can earn Rs. 16600 in 8 days. Then in what time 7 men and 9 women can earn
Rs. 19250?

(A) 10 days (B) 14 days

(C) 18 days (D) None of the above

A tank is filled by 3 pipes with uniform flow. The first two pipes operating simultaneously fill the
tank in same time during which the tank is filled by the third pipe alone. The second pipe fills the
tank 5 hours faster than the first pipe and 4 hours slower than third pipe. In what time first pipe
alone can fill the tank?

(A) 15 hours (B) 18 hours

(O) 21 hours (D) None of the above

A clock is set right at 5 a.m. on Monday. The clock loses 16 minutes in 24 hours. What will be true
time when clock indicates 10 p.m on Thursday of the same week?

(A) 11. p.m. (B) 11.15 p.m.
(C) 11.30 p.m (D) 11.45 p.m

A pair of fair dice are rolled together, till a sum of either 5 or 7 is obtained. What is the probability
that the sum 5 happens before sum 7?

(A) 0.35 (B) 0.38

©)0.4 (D) None of the above

A shopkeeper buys 12 toys and labels each with the same selling price. He sells 8 toys initially
at 20% discount on the labelled price. Then he sells the remaining 4 toys at an additional 25%
discount on the discounted price. Thus, he gets a total of Rs. 2112, and makes a 10% profit. With
no discounts, his percentage of profit would have been how much?

(A) 50% (B) 54%

(C) 56% (D) None of the above

The wheels of bicycles P and Q have radii 30 cm and 40 ¢m, respectively. While travelling a certain
distance, wheel of P required 5000 more revolutions than wheel of Q. If bicycle Q travelled this
distance in 45 minutes, then how much was its speed, in km per hour?

(A) 1211 (B) 14 11

O)1611 (D) None of the above

Three friends J, K and L are given a bowl with some marbles in it. J took one-third of the total
marbles but put back four marbles in the bowl. Then K took one-fourth of the remaining marbles,
but put back 3 marbles in the bowl. After that L took half of the remained marbles, but put back
2 marbles in the bowl. At that time 17 marbles were left. How many marbles were there originally
in the bowl?

(A) 42 (B) 45

(C) 54 (D) None of the above

[CSP-1] rro. B4
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172.

173.

174.

175.

176.

177.

178.

2 T oUIR 3 sl 22 X L 22U Y dRs ol D50 89, 21 'S, 5 % 21 T 5l AR-Adal 33U ld 53 8,
d A Y A X dR5 6UiR 4 Al st 8. 21 6] 24 1 6l 22U Z UR UAIR 5 9, UL X 2R Z A
2id X 211 Y U 2dR 524l AR-dHa 2g 8. di 2 T X dl Yl ol 5241 52a saus cal?

(A) 15 sc1s (B) 18 5415
(C) 21 5415 (D) BuRisd WSl 2is urL il

-

30% Yul 25 auell ay auniL € i 80% YL 50 3 dell el qunin €. vran Yl WS 20% s2eild
U 8. oA 50 arlell Ay, aurl 20% YN $260A HAL 1Y, dl 200 1-URL UL S2an 251 50 5 dd) 241
au-L €97

(A) 75% (B) 77.5%
(C) 82.5% (D) Buisd U4 215 v )

1 211 45 AlRa dull a22i-u 4 yaulst, 9 U 5 oML (SHgAIR SlA d @< A8ll) Hsauni 2ud 6. dl >0
5 ogail WerRAl-ll HenH AsA A 52l eal?

(A)23 (B) 26

(©) 31 (D) GuRlsd WA 215 urL =l

QA Aot A6l e 103 ue 53 sa?

1111
16807° 2401° 343° 49°°"

(A)-49 (B) - 343

(C) - 2401 (D) BuRisd U4l 2is urL 1l

Y =\

A s AR ARl uan, 6llof A ilAH ue 21454 5, 9 214 101 81 dl d AU ga S2a uel sal?
(A) 24 (B) 26
(C) 28 (D) GURisd WA 218yt 1]

oA 120 [3H1l Aot 2 g1R1 2 eudll 512 6121 sUME 214, dl 5@ 600 [3H) aou YD seu 8 seus QL 8.
214 9 200 (33 15U 211 gIRL SRAUML 219 21 Sl 512 gIRL SAUML 21, dl 20 (A2 ay @l . dl 2
21 510 B3uAl Rt S2ell ad?

(A)4:3 B)4:5

(©)3:4 (D)5:4

25 wulgouy Bisiadll €35 At ouyg 24 Ao ouy-l doud-l R 5: 6 6. % 20 anlgonsy Bisiag
A0 108 AL AH Slu 241 [(Asiarl Ao suyAl dons s agn-i cux B2l iy, di d agud asn
(L. Alui) 524 29?

(A) 81 (B) 1447

(C) 1121 (D) GURisd WA 218yt 1l
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172.

173.

174.

175.

176.

177.

178.

Train T leaves station X for station Y at 3 pm. Train S, travelling at three-quarters of the speed of
T, leaves Y for X at 4 pm. The two trains pass each other at station Z, where the distance between
X and Z is three-fifth of that between X and Y. How many hours does train T take for its journey
from X to Y?

(A) 15 hours (B) 18 hours
(C) 21 hours (D) None of the above

30% of the men are more than 25 years old and 80% of the men are less than or equal to 50
years old. 20% of all men play football. If 20% of the men above the age of 50 play football, what
percentage of the football players are less than or equal to 50 years?

(A) 75% B) 77.5%
(C) 82.5% (D) None of the above

Positive integers from 1 to 45, inclusive are placed in 5 groups of 9 each (not necessarily in
that order). What is the highest possible average of the medians of these 5 groups?

(A)23 (B) 26
(©) 31 (D) None of the above

For the following geometric series what would be its 10t term?

1 11 1
16807° 2401° 343° 49°°"
A)-49 (B) - 343
(C) -2401 (D) None of the above

If the first, second and last terms of the Arithmetic Progression are 5, 9, 101, respectively, how
many total number of terms are there in the Progression?

(A) 24 (B) 26
(C) 28 (D) None of the above

If a journey of 120 km is done by train and the rest by car, then it takes 8 hours for total 600 km
journey. And if 200 km is done by train and the rest by car, then it takes 20 minutes more. Then
what would be the ratio of the speed of the train to that of the car?

(A)4:3 (B)4:5

©)3:4 D)5:4

The ratio of length of each equal side to third side of an isosceles triangle is 5 : 6. If the area of the
isosceles triangle is 108 sq. cm and the third side of the triangle is equal to the diameter of a circle,
what will be the area of the circle (in sq. cm)?

(A) 81 (B) 1447

(O) 1121 (D) None of the above

[CSP-1] rro. B3



CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


179.

180.

181.

182.

183.

184.

185.

B X SY ¥ed XA Y Ul Al 87 X #Y* 22d X A Y - Hdl 875 X x Y? 22d X 2 Y )
o869, dl ‘N #P S Q xS’ UL S 1 N A1d 51 2dvigell oAsida 97

(A) &=loA (B) -l

(C) A (D) 58 1 53 as

Al [Ascuinidl sul 2is 2= AR $di 21a01 897
(A) BDW (B) GIQ
(C) FHS (D) IKP

GAM-A U . MY -l (el 9. Y 2 €udl O 21 X 1l YA 8. dl O 21 G Wd su viudl
Al 97

(A) R (B) 42

(C) el (D) MRl 21yl €

[Rger: (Usn i, 182 4 187) : N2l [Aordiql s1120yds 216a1 530 21 1A 2ulen UL G 21Ul

P,Q,R,S, T, U V ld A& A2l 8, % Al AQ 2L A8 U2, YousS, dl [Bed), siasay,
avtAl, 48018 2 A~USHE 510 53 6, B sHIGAIR SIU d 330 Al A2l AR 2200 Al W2 A4
2L AL Buuldl 53 ©9: o, 21, (AW, Wdsa, suds, s12 A dlu, ¥ sHIGAR Sl d %330 Al
S 2 slesel 5 u2-uHl 511 sl el o aldd 2l Yausdl 52 6 d AoeHE s1H 52 . P vl 51
53 8. Q wAA U U4 516 Yordui 511 52 el 7 Alsd slasdmi s11 52 © d Yausdl we sudsl
Bualol 52 8. Q Yaus<l W2 st Gualdl 52 6. % [Arur-ll Gualol 2 8 d HeuSHi 8 8. B ue-uwl
s11 52 69 d Yausl Wi dludl Guaiol sl el S Yasdl e wdsadl Gualdl 52 8. B @uillHl s1H
5369, d 20U 5 2l GualaL sl el V Y Wi 2llunl Gualal 53 6. R L 2+ 5 b sl Gualal sl
Adl. T Adloeui 511 sl efl. B uldd Al [Bedlui 28 8 d Allunl Gualol sl el

P ya53l wie 12 Ul 56 dd-l Gualol 52 697
A) A (B) 5
(C) uds (D) [AlRa 53 s )

R 12 U4 58 ool s1H 53 97

(A) 418 (B) Sldsdl
(C) el (D) u2-il
02 WAL st yaus <l e eud sl Gualol 3 697

AT (B) S

OQ DU

S 12 U4 suL a8 511 43 97

(A) A~ (B) $idsdl
(C) Y1 (D) 1l Bedl
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179.

180.

181.

182.

183.

184.

18S.

If X $ Y’ means ‘X is father of Y’; ‘X # Y’ means ‘X is mother of Y’; ‘X X Y’ means X is sister of
Y’, then how is S related to Nin ‘N#P$Q xS’?

(A) Nephew (B) Granddaughter
(C) Grandson (D) Cannot be determined

Out of given options which one is different from other three?
(A) BDW (B) GIQ
(C) FHS (D) IKP

G is the husband of M. M is the sister-in-law of Y. Y is the son of couple O and X. How is O
related to G?

(A) Father (B) Son

(C) Mother (D) Data inadequate

Directions : (Question No. 182 to 187) : Study the following information carefully and answer the
questions given below:

P,Q,R, S, T, Uand V are seven persons working in seven different cities viz. Patna, Mumbai,
New Delhi, Kolkata, Lucknow, Chandigarh and Chennai but not necessarily in the same order.
They use different modes to reach their places viz; Bus, Train, Aeroplane, Cycle, Bike, Car and
Ship, but not necessarily in the same way. S is not working either in Kolkata or in Patna. The
person who uses Train to travel, works in Chandigarh. P works in Lucknow. Neither Q nor U
works in Mumbai. The person who works in Kolkata uses Bike to travel. Q uses Bus to travel.
One who uses Aeroplane works in Mumbai. The one who works in Patna doesn’t use Ship as the
mode of travelling. S uses cycle to travel. One who works in Lucknow neither uses Ship nor Train.
V uses Ship to travel. R doesn’t use either Train or Bike. T doesn’t work in Chandigarh. The one
who lives in New Delhi doesn’t use Ship.

P uses which of the following modes of travel?
(A) Ship (B) Car
(C) Bike (D) Cannot be determined

R works in which of the following places?
(A) Mumbai (B) Kolkata
(C) Delhi (D) Patna

Who among the following uses Bike to travel?

AT (B) S

oQ D) U

S works in which of the following cities?

(A) Chennai (B) Kolkata
(C) Mumbai (D) New Delhi

[CSP-1] [PT.0.
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186.

187.

188.

189.

190.

191.

192.

193.

A2 WAL 5y s 2 92
(A) Q —u2-ll - 1R (B) V — 40185 — o1
(©) S —dl [Bedl — ollu (D) U —=4dla1e — 21

V yas<l #i2 12 UL s usiz-l GualoL s 8 ?

(A) 21 B)
(C) M54 (D) 1A

25 ugidd A%, A P il el drl vid- Qi ud WHRwi 6. ol Pl Besay 4000 (53 S, dl 200
(3au uered s P -l awdlell 1000 (3l 2idR s2¢ ao-i a9?

(A) 256 [320 (B) 128 (3
(C) 3200 (31 (D) Buisd U4 215 v )

ws Ald 31 32,445 Asa(H g Gl A © A AR UL, HHAURS SLAAML d URd 52 8.
oA -l €2 13% % Wl adl €l da, e o € &9 | dRug iy, dl $& 324 cuy s sAl?

(A) 3L 4,281 (B) 31.4,419

(C) 31. 5,014 (D) Buisd U4 215 v )

s ALLEU W UR 23 U W2 7% -l Alls €2 Mg WE A, d % BEH UR 7% L €2 19 M-
ALELA% 52l 3L 672 B2 AY 8. dl d 25U 58 ¢A?

(A) 3L 28600 (B) 3L 26880

(C) 31.28880 (D) GuRisd U4l 2is urL 1l

X, Y ¥ Z a2 3. 117 10 1/2 1 1/3 & 1/4 -0 deiaRul adadid ted, udasedll 2 : 3 1 4 L dRirul
AdAAUHL 2 9. dl Si HSTIH QUM UL 4, 52dl?

(A) X, 3L 28 (B) Y, 3. 20

©)Z, 3..25 (D) Buisd U4 215 v )

25 aflsolle 1l nHmas (upstream) 6 (3L ald 531 a2ud-u [Big uR 33 MAlR2Hi ud $3 8. gl
nas 2 Bal/scusl 134 2auld 52 9. di d 2dlotie-dl Raz wellui »su sedl sa?

(A) 21 [33{l/5c18 (B) 22 [3l/scus
(C) 23 [33{l/scus (D) BuRisd U4l 2is urL 1l

14 AU A1 1AL 215 Noitsm 28 51 AU U, SIOURL AN GAGR 10 ARAUA s d 518
U2 514 Y, weits smolld-l aduellui wieals Al slawdl, dvl ueuld 511080l agusll A Ad 53 5
35 ARV 6RIR 0 [AlA2 W2 514 5y, oA 511 210 Flewi yel 2y sy, dl “t 4 yeu s2¢ sa? (Au-
£35 ueuHl audl visuvll wid Al)

(A) 60 @Rz (B) 210 [Al72

(C) 150 MR (D) Buisd U4 i v )
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186.

187.

188.

189.

190.

191.

192.

193.

Which of the following is matched correctly?
(A) Q — Patna — Car (B) V- Mumbai — Bus
(C) S — New Delhi — Ship (D) U — Chandigarh — Train

V uses which of the following modes of travel?
(A) Train (B) Ship
(C) Cycle (D) Bus

The weight of a body varies inversely as the square of its distance from the centre of planet P.
If the radius of P is 4000 kms, how much would a 200 kg object weigh 1000 kms above the surface
of the planet P?

(A) 256 Kg (B) 128 Kg
(C) 3200 Kg (D) None of the above

A man borrows Rs. 32,445 at compound interest and pays back it in three equal, half-yearly

1
installments. If the rate of interest is 13— % per annum, compounded half-yearly, then what is the
total interest paid? 3

(A) Rs. 4,281 (B) Rs. 4,419
(C)Rs. 5,014 (D) None of the above

The Simple Interest on certain sum of money for 23 months at the rate of 7% per annum exceeds
the SI on the same sum at 7% per annum for 19 months by Rs. 672. Then what is the sum?

(A) Rs. 28600 (B) Rs. 26880
(C) Rs. 28880 (D) None of the above

Instead of dividing Rs. 117 among X, Y and Z in the ratio 1/2 : 1/3 : 1/4, by mistake it was divided
in the ratio of 2 : 3 : 4. Who gains the most benefit and by how much?

(A) X, Rs. 28 B)Y, Rs. 20
(C) Z,Rs. 25 (D) None of the above

A speedboat runs 6 km upstream in a river and comes back to the starting point in 33 minutes.
The stream of the river is running at 2 km/hr. What is the speed of speedboat in still water?

(A) 21 kmph (B) 22 kmph

(C) 23 kmph (D) None of the above

A work was given to a manager who had 14 members in his team. At any moment of time exactly
10 members worked simultaneously on the work. Since the manager had to be fair in his task
allocation, he allocated the work among the members in such a way that each member performed
on the work for exactly ‘t’ minutes. If the work was completed in 210 minutes, then what is the
value of ‘t’? (Assume the efficiency of each of the members of the team is the same)

(A) 60 minutes (B) 210 minutes
(C) 150 minutes (D) None of the above

[CSP-1] rro. Y



CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


194.

195.

196.

197.

198.

199.

200.

QAL il wiél v 2t

789, 645, 545, 481, 440, 429, 425

(A) 440 (B) 425
(C) 645 (D) 545

215 ula dlvig- wdusll dous 21 AH) 21 d-ll tUgL QU (external diameter) 8 AL €. oA dlvisd ao-
8 m/at AN Sld 2 wdud A 3.696 (53 Sid dl d-ll 2id: (Aol (internal radius) $2¢ll ¢a?

(A) 2.75 Al (B) 3 Al
(C) 3.25 Al (D) BuRisd U4 2is urL 1l

-

8 i 24 QA YU AvAAL (0dd numbers) AL HEAS A HEARY, AL dSldd S2al A9?
(A) 6i AHIA A9 B) 1
(0)2 (D) Al 53 4 asiu

7 A4l [Poran 244 30 Al GBS AusR S-un 76 Al x 46 A x 45 Al uRwadl doaiu Wi
HSAHL 204 9. dl 2AL UELHE HeTH 2l vaini s+u Y4 ana?

A)19 (B) 20

(0) 21 (D) Buisd U4 25 v )

o adtie S AL 8 dal dudl Bosnil 21540 2 Al 214 5 Al 8. dl {2l 2 -l agn aA-
(R A5 s2¢ aa?

(A) 66 L. (B) 97 AL A

(C) 21 aL.AHl (D) BuRisd U4l 2is urL 1l

Vs AlssA AvAH 8L 2 dedl o Avaini HRRl $ais oS 80 9. 3t HUASL HIsL UL 66l 9 puR
sl aldid €1l 8u 89, o gl U Al vt Aval 70 Six dl, aisidl v sedl sai?

(A) 14 (B) 12

(C)18 (D) GURisd WA 218 vt 1]

M yatl@ye Gedl 9. d uidi-ll sHgll s 53120 Hle: 14 9, uedl uladl 1ol a8 541 yq: 20 Hle: 04
&9 214 Wil el dRs 530yt 20 {22 04 8, curene 30l uldill oHgll drs 531 40 €122 4 ©
21 id 5309 vl gHell as 530 40 {122 WA 9. dl d yn gouidl 5§ B 972

(A) GR (B) yd
(©) ulan (D) e[Bw

[CSP-1] [Contd.
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194.

195.

196.

197.

198.

199.

200.

Find out the wrong number in the series:

789, 645, 545, 481, 440, 429, 425

(A) 440 (B) 425
(C) 645 (D) 545

A hollow iron pipe is 21 cm long with external diameter 8 cm. If iron weighs 8 gm/cm?® and weight
of the pipe is 3.696 kg, then what is its internal radius?

(A) 2.75 cm (B) 3 cm
(C)3.25 cm (D) None of the above

What is the difference between mean and median of odd numbers between 8 and 24?
(A) Both are equal B)1
©)2 (D) Cannot be determined

Cylindrical cans of radius of 7 cm and height of 30 cm are placed in a rectangular box of dimension
76 cm X 46 cm X 45 cm. What is the maximum number of cans that can fit in the box?

A19 (B) 20
©)21 (D) None of the above

Two circles of same center have radius of 2 cm and 5 cm respectively. Then what is the area of

region between larger and smaller circles?
(A) 66 sq cm (B) 97 sq cm
(C) 21 sq cm (D) None of the above

A certain number of horses and an equal number of men are going somewhere. Half of the owners
are on their horses’ back while the remaining ones are walking along leading their horses. If the
number of legs walking on the ground is 70, how many horses are there ?

(A) 14 B) 12
(C) 18 (D) None of the above

M is facing East. Turning to his right he walks 20 m, then turning to his left again he walks 20 m
and then turning to his right again 20 m, then again turning to his right he walks 40 m and finally
again he walks 40 m turning to his right. In which direction is he from original position?

(A) North (B) East

(C) West (D) South

[CSP-1] rro. 4
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PROVISIONAL ANSWER KEY
Name of the post Gujarat Administrative Service, Class-1, Gujarat Civil Services,
Class-1 & Class-2 & Gujarat Municipal Chief Officer Service, Class-2
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Question No. 01-200
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Instructions / ¥yl

Candidate must ensure compliance to the instructions mentioned below, else objections
shall not be considered: -

(1) All the suggestion should be submitted through ONLINE OBJECTION SUBMISSION SYSTEM only.
Physical or submission through E- Mail of suggestions will not be considered.

(2) Question wise suggestion to be submitted in the prescribed format (proforma) published on the
website / online objection submission system.

(3) All suggestions are to be submitted with reference to the Master Question Paper with provisional
answer key (Master Question Paper), published herewith on the website / online objection
submission system. Objections should be sent referring to the Question, Question No. & options of
the Master Question Paper.

(4) Suggestions regarding question nos. and options other than provisional answer key (Master
Question Paper) shall not be considered.

(5) Objections and answers suggested by the candidate should be in compliance with the responses given
by him in his answer sheet. Objections shall not be considered, in case, if responses given in the answer
sheet /response sheet and submitted suggestions are differed.

(6) Objection for each question should be made on separate sheet. Objection for more than one question
in single sheet shall not be considered.

GREcUR o{lA{l YUt Uetat sRclloll dABeLT] AMl, WoRAAUL clitil-} et I 5EA YALA LUl AU o8]

(1) GRER clltl-Yuoll 5 BlotcleSol oB52Aot Ata{latet |2 M g1 % Aot{le sclloll 3. 363 wadl 2ULA
Ughell o- ABA glRL RNl $AIA HsE Al WA clitl- Aol LUl AcltHL w1 otel Foll Wi ol

(2) GREAR clltl-Y Aol % sl AuAUETe / M Aot woBs2lot Aotrlalet e H UR YRt 8dd Rad
otyoiletl % GUALL L.

(3) GRAeaR Wellal UIletHl A UHUYRASIHL WA YUSHIS Yool cltll-3f Uoll 2% ol Scll Ml
-y Ul Autee UR YRt A YUAR3AE BlodR Sl (HIR2R YUMol Ust sHLS Yol wa A el

R sl

(4) MR Ystwodl [Eve st wa [Ascu Rataiotl diul-3 Aol taual Aol wad «igl.
(5) GRAEUR Ustoll [AscU UR ditdl 2% 53U D Aol [AscU 30 B scllol Y UAA B W wellod GREAR Ulclloll
GriRaglHl AU Sl HSA. GRE U Y AAA wcllod Wl GriraAdloll wellol (@A $A Al GREAR %Y 53¢

cllell- Uotl bulotHL AU o8l

6) Vs U HIS A % Al Ul-} Aol UAS clURG. M % clltll-Y Aol UasHL A5 a3 Ylloll 2l $3E 89 AL
©) a b&oﬂ a3 AUoll AR AU oigi'. d R " X )

Website link for online objection submission system : http://gpsc.safevaults.in/login/


CNF
Highlight


001. ~DaA-umiddl su1 YRl dllfioe udduld (Washington consensus) S50 $12 4AUHI AL Sl ?
1. {dlaug Mieus »uug
2. weldon viey Ysq
3. [agell ydRisiA Uieus 2uug
4. WTO- 21u-il
A2 2 sisuidl A1l Fae Yie 53U,
(A) 1,3 21 4 (B) 1,21 3
(C)2,3 41 4 (D) BURLSd Ax M

002. dd [As11 aguisi-il (SDGs) Ae™HD DA-unidd)l 53 uiou d H vug -l ?

AR qguis
(A)2 - YU GUAHRL
(B) 4 - Ry sd Qe
(©)3 - ol [Qginddl statad)
D) 15 - oAl UMl
003. YR HRA AF™L.......... 8 Aoilfa .
A) B (B) vl [AlAnu (C) :A15w (D) dlxu

004. JNNURM 2-unigdl suiq anan e Aqeilfd ¢ ?

(A) ey v (B) A3 211 il His(Eo vy
(C) [ulaa ulsa2iin uerour (D) A83| AnidNy]
005. 283 SRR w4 .......... 08 doilad 9.
(A) 28 sl [Raz@ (B) A3 uRas+ ise
(©) Al a8 R ((3+%) (D) ula 85w

-\

006. 4 YAl g2 DA-uHidl sul d2A ayaami 2ud ¢ ?
(A) AL 4zl (B) ¥l HEYA 42
(C) 2[R Houtl YR 52 (D) Weusa-ll WAL u 52

007. SEZ 51541 2005 % 3612051 200641 AHAHL 24l d-il 52¢L B2l €9 ? w1 Aeul A ain uR al:
1. vtdRusnsly ylaainl [Asw
2. [ag2ll il A5 WA
3. Wizt Al (st Ul »uug
BuRLsauidl suL 2 st Gagul €9 ?
(A) 1A 1 241 2 (B) WA 3 (C) HA 2 1 3 (D) 1,241 3
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001.

002.

003.

004.

005.

006.

007.

Which of the following reforms were undertaken under Washington consensus?
1. Promotion Capitalism
2. Opening of economies

3. Promoting Foreign Investment

4. Establishment of WTO

Select the correct answer from the codes given below:

(A)1,3 and 4 (B)1,2and3
(C)2,3 and 4 (D) All of the above

With reference to Sustainable Development Goals (SDGs), which of the following is not matched
correctly?

Number Goal

(A)2 - Zero Hunger
(B)4 - Quality Education
O 13 - Climate Action
D) 15 - Gender Equality

Suraj Dhara Yojana is related with :
(A) Loan (B) Exchange of seeds
(C) Vaccination (D) Insurance

JNNURM is concerned with improving which of the following?
(A) Rural Housing (B) Urban and Rural Marketing structure

(C) Employment to educated persons (D) Urban infrastructure

The concept of Urban Corridors are concerned with:
(A) Expanding urban functions (B) Urban transport hazards
(C) Rural-Urban fringe (D) Counter-Urbanization

Which of the following taxes is levied by the Gram Panchayats?
(A) Sales tax (B) Land revenue tax

(C) Tax on local fairs (D) Taxes on purchase of mobiles

The SEZ Act, 2005 which came into effect in February 2006 has certain objectives. In this context,
consider the following :

1. Development of Infrastructural facilities.

2. Promotion of investment from foreign sources.

3. Promotion of export of services only.

Which of the above are the objectives of this Act?

(A) 1 and 2 only (B) 3 only
(C) 2 and 3 only (D)1,2and 3

[CSP-2] rro. JEX
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008.

009.

010.

011.

012.

Daumidl 55 20aiBs Dt 2008 causuluon (3L xuel ) Aoge 53 6 ?
(A) 20ilus Hlld, 1970 (B) Aiaifas HA\ld, 1980
(©) Aianfas Hlla, 1991 (D) 2Aienfas Hlld, 1996

Arzd ulous As2R S [BuU (CPSEs) [ - [Qtunl 2 uR dl. duidl sa 6 ?
1. S1AHL 11 HSRe 69,

2. S1AHL 13 AR 89,

3. {1l CPSEs -l 2ival 74 €9,

{12 200 sisuidl A1l et uris 2.

(A) " 1 (B) 1 1.3

(C) 1412 (D) BURLSd AxIH

D2-umiel sy/sa [/l surdl ed-u Aecini w=juai e ?

1. 2023-24 YHlui 100 25 SAlB2[53a sina 54,

2. 2030 YHlui 42 A3 5101 G Aeas

Q2 2uuen sisnidl Al s v s2.

A1 (B) H1A 2

(C) 1911 2 6iA (D) BuRisd U4 s ]

082 il auellerl-u Hise lA-uwidl suL e ?

1. Build-Operate-Transfer (BOT)

2. Build-Own-Operate (BOO)

3. Build-Operate-Lease-Transfer (BOLT)

4. Design-Build-Finance-Operate-Transfer (DBFOT)

Q2 2pdcn stsuidl Al st udie s3U.
(A) 1,241 3 (B) 2, 3 ¥ 4
(©) 1,3 x4 4 (D) GURisd dAHIH

Da-u [l R u @l :

1. PR ARSI Al 5% AR AL 8 UL N8R oAUl sHIg virollse w8,

2. wiolle A ulat Geloui A wanrl &xl gl 208 Asie sl Mam 530 sdl.
Busd WA s3/sun [Aa-y/fA-l /i e ?

(A)Hua1 (B) HiA 2

(C) 1911 2 6iA (D) Buisd U4 518 1l

[CSP-2] [Contd.
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008. Which one of the following industrial policies has abolished (with a few exceptions) the industrial

licensing?
(A) Industrial Policy, 1970 (B) Industrial Policy, 1980
(C) Industrial Policy, 1991 (D) Industrial Policy, 1996

009. Consider the following statements regarding CPSEs. Which of them are correct?
1. At present there are 11 Maharatnas.
2. Currently there are 13 Navratnas.
3. The number of Miniratna CPSEs is 74.
Select the correct answer using the codes given below :
(A) 1 only (B)1and3
(C)1and2 (D) All of the above

010. Which of the following statements is/are correct with reference to Indian Railways?
1. Achieving 100 percent electrification by 2023-24.
2. A net zero carbon emission network by 2030.
Select the correct answer using the codes given below :
(A) Only 1 (B) Only 2
(C) Both 1 and 2 (D) None of the above

011. Which of the following are the models of public-private partnership?
1. Build-Operate-Transfer (BOT)
2. Build-Own-Operate (BOO)
3. Build-Operate-Lease-Transfer (BOLT)
4. Design-Build-Finance-Operate-Transfer (DBFOT)
Select the correct answer using the codes given below :
(A)1,2 and 3 (B) 2,3 and 4
(O)1,3 and 4 (D) All of the above

012. Consider the following statements :
1. Privatisation of public sector units occurs when government sells 5% of its shares.

2. Abid Hussain Committee recommended the abolition of reservation of items of small scale

sector in industry.
Which of the following statements given above is/are correct?
(A) Only 1 (B) Only 2
(C) Both 1 and 2 (D) None of the above

[CSP-2] rro. A
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013.

014.

015.

016.

017.

018.

cuRdAH] Alefl Herayel agBeldt ..........

(A) 5143 (B) 834
ey af[.......... g [Rotd 4d 69,
(A) 53 lld

(C) 2™l Al

(C) st (WuR) (D) 2R (3y2)

B) [z Al
(D) H1dlu sitnwai-l u3lan

A3 viidHnvn A 01 9jadl digd- €id 154 uda Da-uuidl 59 © ?

1. Amrut
3. PMAY

A2 2puan sisuidl Al s YuE s2U.
(A) 1,221 3
(©)1,3 1 4

2. 329 MR (R
4.SETU

(B) 2, 3 ¥ 4
(D) BURlsd dH

A8 82131 e iU yea siRel DumiEd sa e ?

1. A0l UM 1 guRL

3. dY Ugg AURAA i AN

5. Wélg QA

2 2uden sisuidl Al gaust ude s
(A)1,3,4211 6

(©)1,2,5416

-\

2. vl Ay [as
4. 951 Rzeuqi [aua
6. Al -1oigl

(B)1,2,3,4,541 6
(D)1,2,441 6

QAT 217 YR-IT 1A HO S 247 A1 FUL URAE S,

yAl-1

()

a. A8 &AL AL AR [AlRda
b. 20elfs wigoll

c. 52 YHIRL

d. W &aui YL
(Aya-1,b-4,c-2,d-3
(C)a-4,b-1,c-2,d-3

Y-

(vua)

1. 4l Ao A0

2. Al 24512 dAleuHl

3. 9l 2R, VA, Hesisu

4. Al Al. 2R
B)a—-4,b-2,c—1,d-3
(D)a—1,b-3,c—4,d-2

DAHi sul Add [As1n agais (SDG) MRaHl 2030 YL i 1 well-l Guasddl A d- sl

QU dgY sl ?
(A) SDG-6
(C) SDG-8

(B) SDG-7
(D) SDG-9

[CSP-2]

[Contd.


CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


013.

014.

01s.

016.

017.

018.

The most important small scale industry in India is the :
(A) Textile (B) Handloom
(C) Paper (D) Jute

Sathyam Committee deals with :
(A) Textile Policy (B) Foreign Policy
(C) Infrastructure Policy (D) Review of Indian Constitution

Which of the following are the recent major government initiatives to deal with urban
infrastructure?

1. Amrut 2. Swachh Bharat Mission
3. PMAY 4.SETU

Select the correct answer using the codes given below :

(A)1,2and 3 (B)2,3 and 4

(C)1,3 and 4 (D) All of the above

Which of the following are the major causes of resource depletion/degradation?
1. Pollution and contamination of resource

2. Infrastructural development

3. Over-consumption and exploitation

4. Destruction of ecosystems

5. Soil erosion

6. Deforestation

Select the correct answer using the codes given below :

(A)1,3,4and 6 B)1,2,3,4,5and 6
O0)1,2,5and 6 (D) 1,2,4 and 6

Match list-I and list —II and select the correct answer:

List-I List-I1

(Committees) (Chaired by)

a. Disinvestment of shares in public sector enterprises 1. Shri Raja Chelliah

b. Industrial Sickness 2. Shri Omkar Goswami
c. Tax Reforms 3. Shri R. N. Malhotra
d. Reforms in Insurance sector 4. Shri C. Rangarajan
(A)a-1,b-4,¢-2,d-3 B)a-4,b-2,c-1,d-3
(C)a-4,b-1,c-2,d-3 M)a-1,b-3,c-4,d-2

Which of the following Sustainable Development Goal (SDG) will target to water availability for
all and its permanent management up to 2030 in India?

(A) SDG-6 (B) SDG-7
(C) SDG-8 (D) SDG-9

[CSP-2] [PT.0.
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019.

020.

021.

022,

023.

024,

ol AlEBM HEl, AT AAHAAL 211 AHA ALIRHE BRI AU HA B, 2USIRHL YRS A5 HA-unidll
sAL NS drelil et 2l ASA ?

(A) gl (B) 31 %3El
(C) 80 (D) A2 sUl
2021 YL Al [ el ga v ... 8.

(A) 4 (B)2

3 D)1

Y 1[50 [ReH dadidl Rald s sid 3 Ad xR s as & ?

1. d a3 02l Guosni atul 530 a3 6.

2. d-udl AL sl W2 U1 EAML ARy A A3 ¢,

{12 2uda sisuidl A1 et uris 2.

(A) W 1 (B) {12t 2

(C) 1 441, 2 6iA (D) siduigl 25U 1l

(G2 R A28 (WTO)H @dtan Dl (el g uR @l :

1. [@2 QUi 249181 (WTO) 2Asint Alus nidndlu e € % el adi-il duiz-it [Raml e [Rotd
q1d ¢,

2. 48l HIR5 $RAR (Marrakesh Agreement) 8601 1l 24209, 19951 1% AR Lld 5142031 3 521
gl

3. WTO HRacani il ughl, 2R% 1 AR UL AHIRL $AR (GATT) g, HlReiect vian a8 A,
GuRlsduidl sy/sul [Qu/[Au-l ol & ?

(A)2,3 B)1,3

o112 D123

A WA ... “lL AHA Q1A 69,

(A) |3 QURA WY (B) HIaL A1 W
(C) Wiat U1 WA (D) BuRsd dn

quARinl sedlsar A vadl “Alul tie-s1” (Neo Banks) ioi(8d A [Qtu-iq il i :
1. i 65l Wt S s qaadl bl el 9 21 Rz dd s 3 9.

2. Al eisi 6i[3o1 qraa-d 12 RBI WA 2129 sl U3 6.

3. lul 651 i v, ag B 2 302 518 Bl ellEa Azl ueit 53 9.

GuRlsduidl sy/su [Qa-/[Aa-l ol & ?
(A)1,2 B 1,3 (©)2,3 D) 1,2,3

[CSP-2] [Contd.
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019.

020.

021.

022.

023.

024.

A child has presented with growth retardation, inability to walk and bruises all over the body.

Which of the following nutrients should be recommended as a supplement to the diet?
(A) Milk (B) Egg yolk
(C) Pulses (D) Citrus fruits

As of 2021, total number of World Heritage Sites in Gujarat is :
A4 (B) 2
©3 D)1

How can a tight banking system liquidity situation impact consumers?
1. It could lead to a rise in the government securities yields.

2. It could lead to a rise in interest rates for consumers.

Select the correct answer code:

(A) 1 only (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor 2

Consider the following statements regarding World Trade Organization (WTQO).

1. The World Trade Organization (WTO) is the only global international organization dealing
with the rules of trade between nations.

2. It officially commenced operations on 1 January 1995, under the Marrakesh Agreement.

3. After WTO came into existence, General Agreement on Tariffs and Trade (GATT) ceased to
exist.

Which of the above statements is/are correct?
A)2,3 B)1,3
O1,2 D)1,2,3

National expenditure includes
(A) Consumption expenditure only (B) Investment expenditure only

(C) Government expenditure only (D) All of the above

Consider the following statements regarding “Neo Banks” sometimes seen in news.

1. Neo banks are financial institutions with only an online presence and function digitally.
2. Neo banks have to apply for a banking licence with RBI.

3. Neo banks offer banking services like savings accounts, small loans and debit cards.
Which of the above statements is/are correct?

A)1,2 31,3

©)2,3 D)1,2,3

[CSP-2] rro. KA
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02S.

026.

027.

028.

029.

A daui wirtla asman 75 Rlyea cil3or y[Rea g wulia s34, Blyea alEa 2isHl (yRza) g2l
uelr sami vuadl Rlyea oilso uisszu v Al 56 8 ?

1. (352 Buile 24 RsRa1 [Bulofle 262
2.3 518, 3R32 518

3. i a3 Rizen 518

4. UPI QR $i3

A= 2udan sisuidl AL AL YHE $2U.
A)1,2,3 B)1,3,4 (©)2,3,4 ?)1,2,3,4

AidRAY wRuSla 214 s1SulRua sfR IMFC) Aoildd A2 [Qa-ia Lunui @l
C Y

1. IMFC Aid%)a -ugusla 249 s1S R caazan-dl 2umdvy 244 4140 U2 IMF 6il$ 2418 da--A-
AAS 2 8 24 ASAA 20U 69,

2. IMFC 1 $& 241 24+ IMF UL 2A[53532a 61l$l 5¢ 2t 22-uA uldloifoia 53 6.
3. IMFC d-t A4l u2ieol uldd udquladl sid 52 .

GuAsanidll sd/su QA i ¢ ?
(A) 1,2 (B)1,3 (€)2,3 D) 1,2,3

A2 [Qanl 2ud R @l
1. Rosd 6ls 2is S 2152, 1934, RBIA GURAHI 615 iz 3 scu-l A51A512 204 69,
2. 2aell izl RonSui siSunt 2812 RBIFL Av2d GILS A 5% ASIR GIRL HAYR UM 204 69,

3. RBI 211l 2udicu-l 8 st AR caqaiun [Amo WA 24 adzaiun-u 4u s dadld sau-dl
FAUGEIR] €9.

BuRdsauial sy/sun [Qa-y/[Aa-l )i e ?
(A)1,2 B)1,3 ©)2,3 1,23

Sveu U528 (FDI) SUIS AHARMI .......... A3 avlaami 2ud 6.
(A) MrlZes wiegsauui s 2uda Asel

(B) B2 A2ag culsail g1RL smi 2udd sl

(C) an sl % vuell siuile Aaquidl uau a6

(D) BuRisd U visun Al

s8R 2edAH HA-unidl 56 csBsdiz siadl Aca- ¢ ?
(A) A5l vy 9= 84l

(B) U511 4R 9ua-l 248512 Al

(C) neu2 o5 ARl yasiA [REid sl -9l

(D) @aea-l gan - 8.
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Recently Hon. Prime Minister dedicated 75 digital banking units to the nation. The digital banking
products and services offered by digital banking units are:

1. Fixed deposit and recurring deposit accounts
2. Debit cards, credit cards

3. Mass transit system cards

4. UPI QR codes

Select the correct answer code:

Aa1,2,3 (B)1,3,4
(©)2,3,4 D)1,2,3,4

Consider the following statements regarding International Monetary and Financial Committee
(IMFC).

1. The IMFC advises and reports to the IMF Board of Governors on the supervision and
management of the international monetary and financial system.

2. The size and the composition of the IMFC mirrors that of the Executive Board of IMF.
3. The IMFC operates by consensus, including on the selection of its chair.

Which of the above statements is/are correct?

A1,2 3)1,3

©)2,3 MD)1,2,3

Consider the following statements.
1. The Reserve Bank of India Act, 1934 gives RBI the sole right to issue banknotes in India.

2. Any change in design of a currency note has to be approved by the RBI’s Central Board and the
Central Government.

3. The RBI’s Department of Currency Management headed by the RBI Governor has the
responsibility of administering the core function of currency management.

Which of the above statements is/are correct?
A1,2 31,3
©O2,3 1,23

Phantom FDI sometimes in news is described as

(A) Investments done in greenfield projects

(B) Investments done by high networth individuals

(C) Investments that pass through empty corporate shells
(D) None of the above

A closed economy is likely to have which of the following characteristics?
(A) Fiscal deficit would be zero.

(B) The government does not have a right to print currency.

(C) The central bank does not control money supply.

(D) Balance of Payments is zero
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Yct/535/81S AR d 8 % -

(A) [Azall [Alamu sroui [Qya wuasi 6.

(B) B2 2d2+{l drddl 118 251 2uon gRai nami RaR 9.

(C) xidRANE|Y t1omRHl [Bana-dl ga-umi d-il YuHi §2512 2Adl .
(D) (42 Gwis AR (SDR) Hi dA uRaldq 31 asig, =4l

el o2+l Hllq 2i6ilad D [Qanl L ur di

1. vicen o1+l ld L viean 1Ml U512 g1 ML sAAAL Gllwsll WAEL 247 AR 118 246iY YA €.

2. RBI gIR1 6llv3, dAIRL HAdAHD vl §& 5HHL QIR dRS 1K1 21U 6 L 0N UL YRasl
ad 8.

GuRlsauidl sy/su [Qu-/Qa-l vig/viey 697

(A)Hal (B) HiA 2

(C) 1911 2 6iA (D) tiduid) visun <l

siHRud GuR (CP) Aoiltd - [Qan-ia 2uqni dl

1. sixiad GuR (CP) 2 MFLA iz 3ui adl s0d YRR e ey 18- 9.
2. CP $29212 121 [RUIRd 59 us1u d Yoyt 5 dey u [R32518-2 U il scu4i >uaal.
3. dHIH SIUiR2 2ulzuu CP ol sauisL 6.

GuRlsaniall sy/sa [Qaqy/Qa-l a8 ?

A)1,2 (B) 1A 2

(©)2,3 D) 1,3

e vl AoilAd DR [Qan-ia eanui dl

(A) d agid €9 5 5dl {ld Als5A A, § A UR BRY W BIG UASs A1 LlEA 8.

(B) d 11Ul 2 AlsHl vl oroun €2 aa-u Aoitg 2uslds 2gud .

(C) A %5 20Av/AS O B £AA B 3 UL WA 245 ALssA 2R O F 25 Q[FEA uenu 53 8.
(D) d uuAid2 siSuR Hallzd Ausn-u Adfdd Gaue e 2uoudl sau-l 2is utald ©.

D2Aunioll 53 [Qa ARG 515Ul Aot s avi 53 8 ?
(A) d 25t 2uou-l did W2 su-lzil g1 Gualaml dad waifla wan 8.

(B) d s1S-u-flor MR 8 -l Gualal A= sM2i@ey 411 B2 gl 212ul As18L 5 W2
A1y 69,

(C) d 15 -uRudla 4 © % eg 21 S(5adl (R Aqulq 8.
(D) BuRisd U4 215 uaL )
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A Hard currency is the one which

(A) is abundant in the foreign exchange market

(B) is relatively stable through a short period of time with high levels of liquidity
(C) does not change its value relative to movements in the international market

(D) is not convertible to Special Drawing Rights (SDR)

Consider the following statements regarding Open Market Operations.

1. Open Market Operations refers to buying and selling of bonds issued by the Government in the
open market.

2. Selling of a bond by RBI leads to increases in the total amount of reserves in the economy and
thus increases the money supply. Which of the above statements is/are incorrect?

(A) 1 only (B) 2 only
(C) Both 1 and 2 (D) Neither 1 nor 2

Consider the following statements regarding Commercial Paper (CP).

1. Commercial Paper (CP) is a secured money market instrument issued in the form of a promissory
note.

2. CP will be issued at a discount to face value as may be determined by the issuer.
3. All the corporates are automatically eligible to issue CP.

Which of the above statements is/are correct?

A)1,2 (B) 2 only

02,3 ™13

Consider the following statements regarding Rahn Curve.

(A) It describes how household expenditure on a particular good or service varies with household

income.

(B) Itis a graphical representation of the relationship between unemployment and the job vacancy

rate.

(O) It is a graph which indicates that there is a level of government spending that maximizes

economic growth.

(D) It is a method for predicting the likely production rate of any finite resource over time.

Which of the following statements best describes the term Mezzanine financing?

(A) It is a financial instrument used by companies for short term loans.

(B) It is a financing mechanism used by venture capitals to invest in high growth start-ups.
(O) It is a financial instrument which is a hybrid of debt and equity financing

(D) None of the above
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6l[501 20y A 2452, 1949 -l AU il 860, RBI & 531 25 €9 ?
1. AiAzu-U Rolega- w2 oisid [Agal ol s3 a3 .

2. 6l S8 uRL 33523 vl 211 AESEA 1D U dwrll a3 9.
3. 6lsin 16 AlssAU 21-BsAAHL U A4 ldoit 53 a5 O,

BuRlisd [Qau-inidl sy/su [Qa/lQ-l u/uai 8 ?
(A)1,2 ®)1,3
(©)2,3 M 1,23

Dauniofl su1 510U RBI 6lsg AUSUAU E 5369 ?

1. 61$ Wi vl 3l 21 2as-l Acua-ia 4.

2. 615 6i[591 YA 2452, 1949 L 3Rl et sl [Frsn €L 8.

3. a-ll adwun -usnsla Rald qaadl 6 d- adauq aRigiRiA ayel asaefl sami 2 sl

4. 9 6151 d-il 6531 aauA 2000 adRaAl Hogdl 2uuaHi 2ud dl 182 [Bd u uldsn 1A 2al.

Al 2udan sisHidl AL B, YHE $2U.
A)1,2,3 B)1,2
O 13,4 ?)1,2,3,4

-

AL ARSI Aol 191 DNA-uwiddl s3)/sul [Qan/laa-l g/ e ?

1. [Qen lu S~ 2611 861 SIAAHE AA0A1A 520 [Aendlzii-i 2us[RHS Yy 12 dlHL sa% 2uuni
204 69,

2. [Qen qgsdl o= a1l gL iz dull 6910 on Hisaal 214 il g wafs 2 yilg
[21aa 2uuan we el 52 ©.

3. Yol s snagll (AR ala 8sn, Hindly Huad-l g2l vold)l @il 8 s gl eisin Glef
$AHL 209, 6.

(A) WaL 1 244 2 (B) {151 2 11 3
(C) A3 (D) 1,21 3

2020-21 eRu1 9rAdnE 5[ wsi-i Geune »i00 NA-uniell sy/su [Aanq/Qu-l wjua 6 ?
1. 9% AdHL Hasull Aldl ay G wa 8.

2. A% WA Gewe i ol sH 8.

(A) WA 1 (B) WA 2

(C) 1911 2 i (D) vidnid) 2is ya 4l

2015-2020 -l (g2l dwr AU sui Yl donauni >udl € ?
(A) 30 2R, 2022 (B) 31 31z, 2022
(C) 31 Ay2u<l, 2024 (D) 31 W, 2024
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Under the provisions of the Banking Regulation Act, 1949 RBI can
1. Issue directions to banks for resolution of stressed assets

2. Examine on oath any director or other officer of the bank

3. Prohibit banks against entering into any particular transaction
Which of the above statements is/are correct?

A1,2 31,3

©)2,3 M)1,2,3

RBI cancels the licence of a bank due to which of the following reasons?

1. The bank does not have adequate capital and earning prospects.

2. The bank has failed to comply with the requirements of Banking Regulation Act, 1949.

3. The bank with its present financial position would be unable to pay its present depositors in full.

4. Public interest would be adversely affected if the bank is allowed to carry on its banking business
any further.

Select the correct answer code:
A1,2,3 B)1,2
O13,4 1,234

Which of the following statements is/are correct regarding Governmental Schemes in Gujarat?

1. Under Vidya Deep insurance scheme, insurance coverage is provided for accidental death of
students studying in colleges.

2. Vidya Laxmi Bond Scheme encourages the parents to send their girl child to school and to
provide education at least upto primary level.

3. Under Mukhyamantri Kanya Kelavani Nidhi scheme, the fund is generated through public
auction of the gifts received by Hon’ble Chief Minister.

(A) 1 and 2 only (B) 2 and 3 only
(C) 3 only D)1,2and3

Which of the following statements is/are correct regarding production of agriculture crops in
Gujarat during 2020-21?

1. Gujarat is the largest producer of Groundnut.

2. The State is the 2" largest producer of Cotton.

(A) 1 only (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor 2

Foreign Trade Policy 2015-2020 extended till
(A) 30 September, 2022 (B) 31 December, 2022
(C) 31 January, 2024 (D) 31 March, 2024
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02 2uua [Qaeinidl sy/sun [yl =)/ e ?
1. GST 516[d 21 57 214 AU AYSsd HA O,

2. GST $18[Rua-l €35 [Relu d-l clssui €192 2l HASI 57U UKAU MIRASU 6L gdluig Ha-l
oigHdl 118 Aauni 2uasl.

3. $v% AR Hg, A% udel Hrl Al cuord eal.
(A) WaL 1244 3 (B) H1A 1 241 2
(C) HA 2 1 3 (D) 1,241 3

A 2uaiou Da-unidl su Gaeul € ?

1. A 513 A™AEA Uil 2uug,

2. Axd)a [Asia-dl walisaiiddl Al ¢ [asuiadl.

3. UA%Y, Srlidar 24 sr2U A AUl Rizen otadl,

4. R 43 (A digusi asa e AsRoau [dsaiaqa

(A) WAL 1 211 4 (B) H1AA 2 244 3
(C) 1A 1, 3 ¥ 4 (D) 1,2,3 21 4

A [Rdgl AeiBa 0l [Aseu urie 2.

[Rdgn (A) : 15l 53 WAL A2 e A3t 2NUAUR 5 86U, FURAHIE 137 24 Bule il W2
art 32852 ad Uiss2 (ODOP) 2224 § 3 WAL Bellor Hanau g1t 4ol s 2udl 69,

[Rdeq (B) : atH2l, $aull 21 sraisi wis e MuRdH 2iuRai Alwu Al vigd Beures Aenil, M
dllr(R2 5 21 wiARoL Ylamia Ui »uu 8.

(A) A 11 B bi ca[5aoud Sld 2un 69, (B) AViIE ¢ uRL B 13 9.
(C) ANy O U BUIE 8. (D) A 11 B 6id @45d21d dd viie .

MURA AR 1A uRnSlA At Y3 wigal Hie waAHHL [Baum quel Al (PMKSY) 23 53 ?
1. vilRLs udlae uaiaeuoui

2. WL 3 WIS A 5168 AN S-5125AR

3. % UL

GuAsanidll sd/sul [Qs/Qan-l wjual o ?

(A) 1A 121 3 (B) WAt 2 (C) 1A 1 211 2 (D) 1,241 3

aRaul Aol unedl Al ulkarl w2 Aniel s =i vl Geradl aig-i (PMUY) €61
Al dpui i 69 ?

1. U™ 2. uiMeL
3. LPG $75 (31a) 4. [Qogull
(A) W3t 1 244 2 (B) H1A 3 241 4 (C) 11 3 (D) 1,2,3 %1 4
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Which of the following statement/s is/are correct?
1. The GST Council is a joint forum of the Centre and the States.

2. Every decision of the GST Council shall be taken at its meeting by a majority of not less than
2/3" of the weighted votes of the members present and voting.

3. The vote of the Central Government shall have a weightage of 1/3" of the votes cast.
(A) 1 and 3 only (B) 1 and 2 only
(C) 2 and 3 only (D)1,2and 3

The objectives of the NITI Aayog include

1. To foster cooperative federalism

2. To evolve a shared vision of national development priorities

3. To create a knowledge, innovation and entrepreneurial support system
4. To develop mechanisms to formulate credible plans at the village level
(A) 1 and 4 only (B) 2 and 3 only

(C) 1,3 and 4 only D) 1,2,3 and 4

Select the correct option regarding the following assertions.

Assertion (4): Under Prime Minister-Formalization of Micro Food Processing Enterprises, One
District One Product (ODOP) status for 137 unique products in India has been
approved by Ministry of Food Processing Industries.

Assertion (B): Operation Greens Scheme in India promotes Farmer Producer Organisations,
agri-logistics, and processing facilities for Tomato, Onion and Potato crops.

(A) Both A and B are individually true (B) A is false but B is true
(C) A is true but B is false (D) Both A and B are individually false

The Government of India launched the Pradhan Mantri Kisan SAMPADA Yojana (PMKSY) to
provide financial support for:

1. Food Testing Laboratories

2. Mega food parks and cold chain infrastructure

3. Interest subvention

Which of the statements given above is/are correct?

(A) 1 and 3 only (B) 2 only
(O) 1 and 2 only D)1,2and3

Which of the following areas has been covered by the Pradhan Mantri Ujjwala Yojana (PMUY)
for below poverty families in India?

1. Health 2. Nutrition

3. LPG connection 4. Power

(A) 1 and 2 only (B) 3 and 4 only
(C) 3 only D) 1,2,3 and 4
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048.
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050.

8 2Ma, 2015+ A% A3 sUML 2uAdl NHH) YL Al (PMMY) 2491 AA-umisl 56 dlor-w/aiosuil
udl 9 ?

1. [y : 31. 50,000 YA dld 2uad & .

2. (3202 : 31. 50,000 &l Ay 244 31 5 Q@ YA did 20l 4 8.
3,432 : 3L 5 el ag 24 31 15 st Yl diad 209 4 .
(A) 1A 1 241 2 (B) WA 3

(C) WA 121 3 (D) 1,2 ¢4 3

A (el 2oia i [Aseu uwie 520

[Rdent (A) : USA utl iraui 63.72 e [Baixflexy [Qani oflon doR4, Alell WE As A2as 8.

(Rden (B) : (uRdani 2019-204i wlale Hol Aning w28 (5.4 adld 2020-2140 36.5 (3.301. 13,
(A) A 211 B 6id a5a21d Sld w89, (B) A g £ uRL B 12 €9,

(C) ANy O U BUIE 8. (D) A 211 B i @a[5dd1d dd viier 8.

A2 Rdel 2oilBa i [Qseu vde s3.

[RAgA (A) : 2017 Hi HIRA AR GIRL HAR SAAA GHIRAMLAL WRUL L @M2L 26,000 (3.3, dous-u
2u[As SRR Qs seu-u 53 ©.

(Rden (B) : Uzl 21 S, 2l adiRHidl »isA adal Aunidl cuda uRulorid ¢isin Y3 wsami

d 89,
(A) A 211, B i, a[5a21d d 2w 69, (B) AViIE &9 uRL B 13 9.
(C) ANy O U BUIE 8. (D) A 11 B 6i @45q21d dd viien .

575 AR g1 5L 2521012 2020 Al U 9-ueAi-l wendla Nld alld (MPC) 0L -1 saumi 2udl
8dl. MPC -l 6iss W2 51U Sedl 9 ?

1. 6l AL 2. AR AU
3. AR UKL 4. Uiy ueAl
A1 B)3 ©)2 D) 4

31+ 33042, 202171 A% SR AL a1 6] A%AHE AL QDA dons Aldl ay ¢dl ?

1. HRULl 2. USRI 3. Gri ug 4. A%
(A) {12 1 1A 4 (B) WA 2 ¢4 3
(C) WAt 3 ¢4 4 (D) H1A 2 1A 4

Bice i3 HSe 2124 ...

(A) vifaun v (B) A513 A0 2A o 102
(C) bigslg v (D) Y4 gl eon:
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Which of the following schemes is/are correct regarding Pradhan Mantri Mudra Yojana (PMMY),
launched on April 8, 2015?

1. Shishu : Covering loans upto Rs. 50,000/-

2. Kishor : Covering loans above Rs. 50,000 and upto Rs. 5 lakh
3. Tarun : Covering loans above Rs. 5 lakh and upto Rs. 15 lakh
(A) 1 and 2 only (B) 3 only

(C) 1 and 3 only D)1,2and3

Select the correct option regarding the following assertions.

Assertion (4): India has the second largest road network in the world of about 63.72 lakh km
after USA.

Assertion (B): The extent of road construction per day in India increased from 28 km in 2019-20
to 36.5 km in 2020-21

(A) Both A and B are individually true (B) A is false but B is true
(C) Ais true but B is false (D) Both A and B are individually false

Select the correct option regarding the following assertions.

Assertion (4): The Bharatmala Pariyojana, approved by Government of India in 2017, envisages
development of about 26,000 km length of Economic Corridors.

Assertion (B): The Bharatmala Pariyojana is being funded from Cess collected from Petrol &

Diesel, Toll etc.
(A) Both A and B are individually true (B) A is false but B is true
(C) A'is true but B is false (D) Both A and B are individually false

An empowered six-member Monetary Policy Committee (MPC) was constituted by the Central
Government w.e.f. 5 Oct 2020. The quorum for the meeting of the MPC is

1. Two Members 2. Three Members
3. Four Members 4. Five Members
A1 (B)3 O2 D)4

Which of the following two States of India had the largest length of National Highways as on
31 December 2021?

1. Madhya Pradesh 2. Maharashtra 3. Uttar Pradesh 4. Rajasthan
(A) 1 and 4 only (B) 2 and 3 only
(C) 3 and 4 only (D) 2 and 4 only

Gilt-edged market means
(A) bullion market (B) market of government securities

(C) market of guns (D) market of pure metals
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2 200 [Qaudl unni Al 211 2udd 513 WA Aoy 518 urde 530 Al G 2uul.
1. [Ayagrell §a drs ol st by (water vapor)Hi @213t a8,

2. 90 Wlaaasfl ay acaiazelly s 24 5 (5,404 Glaus YHlui A wol 8.

3. oilRo(ur WAl agao wilfia (Beieil didiaaq Dad auol gL i 8.
(A) 1A 121 3 (B) WA 2

(C) WA 2 21 3 (D) 1,294 3

g2u (3201 (visible rays) i Al Z5l aZacons (udsiAHi) vnadn (300 DA WA s 8 ?
(A) dlen (B) dld (C) il (D) dlon

QUL $UL APAHL AL NAH AAled 14 €9 ?
(A) AZuAL U2 B) B (C) -WRud-3 (D) 3Ud

02 2uuan Q- el WSl sul 2o (AHi 2ufd ueal uldd) Alell ay uHU A (Time Zone) 4AA €9 ?

(A) 2 [aa (B) (2 (C) 51 (D) Y23 w2
21{dRs (Intrusive) 2044 vigsil -1 yedl- Uil Howrl €31 usaudl 2y 6 214 dd Gelg@
.......... 9.

(A) A-ude (B) slaue (C) 3oisdl (Gabbro) (D) 3l (Pumice)

Ui Hs1RARRAl w4l (Trenches) WSl 56 vud Al GLEL (leui) © ?

(A) &ng?SC-l (Kurile) (B) AW
(C) 1l>u-it w1 (The Mariana Trench) D) EEIRE) (Karmadec)
g vy (Submarine Canyons) .......... vitd [?{gc-l. UHIRHL Actl HA 69,

(A) Wi HEL (Abyssal plain)

(B) vidla RG] (continental slopes)*ﬂ ig2 Yl vidly 9194l (continental shelf)-ll Gu:
(C) eRuS udamwu (Oceanic Ridge)

(D) WS> (Trenches)

A 200l cud-l [gusedla Al W 56 €l doudui Al aioll ((3.3Lui) © ?
(A) Qg (B) 143l (C) us1ngl (D) [3mau

A2 viedlor 244 A= 21260 Geuet sl A 2uudl 9. 20 Q4 55 oAl ) 4l ?
(A) YRRuu — s (B) @A — e [2 2ul3st
(C) aigl —uy (D) dity — Al

A2l W 5y opu ALl ay dous-u ((5.4.1i) asdla Qi 4ud 6 ?
(A) Grir v (B) HSIRIN (C) A2 (D) 2
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Consider the following statements and identify the correct answer using the given codes:

1. Water vapor decreases from the Equator to Pole ward.

2. More than 90 percent of the atmospheric vapor found up to the height of S kms.

3. Outgoing shortwave terrestrial radiation is absorbed by lower portion of the atmosphere.
(A) 1 and 3 only (B) 2 only

(C) 2 and 3 only D)1,2and3

Among the following visible rays, which one is the shortest wavelength in microns?
(A) Green (B) Red (C) Violet (D) Yellow

In which state of India sun rises first?
(A) Arunachal Pradesh (B) Bihar
(C) Nagaland (D) Gujarat

Which one of the following countries (including their dependent territories) in the world has a
maximum number of Time Zones?

(A) Australia (B) Russia
(C) France (D) United States

Intrusive Igneous rocks are formed by solidification of magma below the Earth’s surface and its
example is

(A) Granite (B) Basalt
(C) Gabbro (D) Pumice

Among the following Trenches of the Pacific Ocean, which one is the deepest in terms of meters?
(A) Kurile (B) Japan
(C) The Mariana Trench (D) Karmadec

Submarine Canyons abundantly found on the

(A) Abyssal plain

(B) Within continental slopes or on a continental shelf
(C) Oceanic Ridge

(D) Trenches

Among the following Peninsular rivers of India, which one is longer in length (in Kms.)?
(A) Godavari (B) Cauvery (C) Mahanadi (D) Krishna

Which one of the following pairs of leading mineral production and country is not correctly
matched?

(A) Uranium — Kazakhstan (B) Platinum — South Africa
(C) Silver — Peru (D) Copper — Chile

Which one of the following States has recorded highest length of National Highways (in Kms.)?
(A) Uttar Pradesh (B) Maharashtra
(C) Rajasthan (D) Karnataka
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061. NA- UL 53 AU 24 owoudd sRHE 216 49 ?
(A) 30 (B) 2014
(C) A2 (D) sai2s

-\

062. -l U (G- wizl 22 WSl sul 29 Hist 218 o AHYU A (Time Zone) 4214 9 ?
A) eul>a B) (2
(C) 3131 (D) Al

063. HnalAl B2 U 3 AR suL v wlas Aoilas [ar-l det [ar 8 ?

(A) [Busefly G2 g (AR (B) Gria-lL Hell

(C) vy 253121l i B2 ug Al [dzaR (D) Wl uygde [z
064. uaui Al [Qun o wldd (wetland) .......... 6.

(A) [Bgs wawu (B) 4dd AR

(C) RAPLA usll sierea (D) Yea-

065. Mi%52 dal d-il Al UAH 2UIH 53U A%~ Al 2uUa 9. 568 A uldy {d ARl Al ?
(A) Wigs2 AL — 20 (B) Wiz 52 sisisdd — k0
(C) Wz 52 2SR — Griuwis (D) W2 3ieslH — 50

066. N1 WS 53 Aoru [ 48 uew Akl 4y AvuHT A UDA HHAIRERU YR €9 ?
(A) A%
(B) & U2l AistruA 211 [Fsion ([gu axsl
(C) H8IRNZ
(D) HEMEL

067. SuRdd 1A U 53 A [ Aa e i Al ay Avaul 51 SEZ 41 6 ?
(A) dlRa-ug (B) HSIRN
(C) 30 (D) $Qu2s

-

068. N 2se AR dH-l 00l sl 2 ASL.

1. 530 aku1€l HUg (Mango Shower) a. ALHRAL Y-l aA1E B SISl AL WsAUHT HeE
EERR

2. 500l (MIR) aru1El Mug (Blossom Shower) b. AlMLAL Y-l ARAUE 5 % 5L WsUHi HEE 53 69,

3. -idze’ (Nor Westers) c. Grilu HeLHI L 2ARH, Yt 24 dollen ua-

4. 4 (Loo) d. 612U0 A BUAHHL ALl A% U AR

(A)1-2a,2-b,3-¢c,4-d (B)1-b,2-2a,3-d,4—c

(©)1-¢,2-d,3-a,4-b (D)1-d,2-2a,3-b,4—c
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066.
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068.

Which State is not prominent for plantation agriculture?
(A) Kerala (B) Assam
(C) Rajasthan (D) Karnataka

Among the following largest countries of the World, which one has only one Time Zone?
(A) Brazil (B) Russia
(C) Canada (D) China

Malwa Plateau is a sub-region of which one of the following major Physiographic regions of India?
(A) The Peninsular Plateau region (B) The Northern Plain
(C) The Central Hills and Plateau region (D) The West Coast region

The largest wetland in India is
(A) Hirakud Reservoir (B) Yashwant Sagar
(C) Chitrangudi Bird Sanctuary (D) The Sunderbans

Which one of the following pairs of project launching and First state, is not matched correctly?
(A) Project Rhino — Assam (B) Project Crocodile — Odisha
(C) Project Tiger — Uttarakhand (D) Project Dolphin — Kerala

Which State/UT has the largest number of wildlife sanctuaries?
(A) Gujarat

(B) The Union Territory of Andaman and Nicobar Islands

(C) Maharashtra

(D) Madhya Pradesh

Which state/UT has the largest number of working SEZs in India?
(A) Tamil Nadu (B) Maharashtra
(C) Kerala (D) Karnataka

Match the following with their correct definition:

1. Mango Shower a. Pre-Monsoon showers which help in blossoming of coffee flowers
2. Blossom Shower b. Pre-Monsoon showers which help in the ripening of mangoes

3. Nor Westers c. Hot, dry and oppressing winds blowing in Northern plains

4. Loo d. Evening thunderstorms in Bengal and Assam
(A)1-a,2-b,3-c,4-d B)1-b,2-2a,3-d,4-c¢
@©1-¢,2-d,3-2a,4-D) M1-d,2-a,3-b,4-c¢
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069.

070.

071.

072.

073.

{21 [Qaudl Lunni @l
[Rdent (Assertion) (A) : HiRdrL [ 2R A da1ni AHiY, Hou GRS a9,

1281 (Reason) (R) : 227Ul $& AAE YAldR Wldgld aue l@a-ulm AHimi aA 9.

ALY, 518 UAE S AL FAUGL AUl

(A) A d2L R bi 1201 8 uZg R ¥ A o ) 2udlse -l
(B) A d2ll R ti 12 €9 4 R 1 A o 12 2uéls2e 69,
(C) A3 &9 uig Rvig 6.

(D) Aviig € uig R 3 6.

gy Rad- [Ag {12 [Aainl 2u-ul @l 21 1l Faie uie 5.
1. IPCClL A8l ASAUA AR YUy WRad- »3ul aldA as &) .
2. onciy uRad W2 Wwraulyd ugfi-d afs 2icid Aeildd gaseR 9.

-

3. gy WRad A= A2HE 9l 529 2 gy AlHAHE uRadH ds €131 al.

(A) {12 1 211 2 (B) WA 2 ¢4 3
(© 1,213 (D) WAt 1

QR DA UL s ASHE AML AL 241691 K15 Avid YU o130 Siu & ?
(A) HHELIUE B) [2&d)
(C) -woryR (D) UYR

g1l dal du-dl Hera-fl Gunaglaiidl Al WA 5§ Aflail diou dd Azl © ?
1 Uyl — oldal, 51

2. 8y — gloidy, alldd

3. gl — ya, Alid

4. [3vau — yaud, el

(A) 324 (B) 1,2 ¥ 4

(C) 2,341 4 (D) BuRisd U4l 2is urL 1l

SIAH-T A SIAH-TT 208 A 51l Asl.

Slau-I Q-1

1. oudla, ¢la, didlay, 5814 a. VURHY s 20 20 O %l uall2il-l AH Hid luzul
2. %dlon b. 3%2ud-ll 2uleenldail

3. 542 Al ¢. 50-dMaugd Daa 2u(dd &

4. YRLRUHIAL d. PRy AR 2an

(A)1-¢,2-d,3-2,4—-b (B)1-d,2-¢,3-b,4-2
(©)1-b,2-2,3-d,4—c (D)1-¢,2-b,3-2a,4—-d
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Consider the following statements:
Assertion (4) : Monsoons play a pivotal role in the agrarian economy of India.

Reason (R) : Seventy-five percent of the total rain in the country is received during the south-west
Monsoon season.

Select the correct answer from the codes given below:

(A) Both A and R are true, but R is not the correct explanation of A
(B) Both A and R are true, and R is the correct explanation of A.
(C) A'is true, but R is false.

(D) A is false, but R is true.

Read the following statements about the climate change. Identify the correct ones.

1. As per the latest report of IPCC, Climate Change is happening at a rapid pace.

2. The role of anthropogenic activities are extremely likely responsible for the climate change.

3. Change in Climate would promote insect-borne diseases and lead to shift in climatic boundaries.
(A) 1 and 2 only (B) 2 and 3 only

(O)1,2and 3 (D) 1 only

The sun is vertical at least once in a year at which among the following cities of India?
(A) Ahmedabad (B) Delhi
(C) Nagpur (D) Jaipur

Which of the following rivers are correctly matched with their important tributaries?
1. Yamuna — Betwa, Ken

2. Brahmaputra — Dibang, Lohit

3. Narmada — Purna, Siang

4. Krishna — Musli, Bhima

(A)3 and 4 (B) 1,2 and 4

(C)2,3and 4 (D) None of the above

Arrange the correct sequence of Column-I against Column-II
Column-I Column-II
1. Gamit, Bhil, Dhodia, Kathodi a. Place in Assam with unusual bird deaths

2. Jatinga b. Tribes of Gujarat

3. Kanwar Tal c. Biosphere Reserve in Kerala-Tamil Nadu
4. Agasthyamala d. Ramsar site in Bihar

Select the correct answers using the codes below:

A)1-¢,2-d,3-2a,4-b B)1-d,2-¢,3-b,4-2a
@©1-b,2-a,3-d,4-c¢ M1-¢,2-b,3-2a,4-d

[CSP-2] rro. B3
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074.

075.

076.

077.

078.

-

AR AR A d i R B d A%l A 0l 9. 1AL L udE S3U.
I gl edl — GrRwis

IL HUR+ll 2Avlld, — aa-ug

IIL MU} — ARNA

IV. Uil — HeMg

(A) TA1 I (B) I, 11 A 11

(O L LA IV (D) I, III ¥4 IV

A1 Q4L su Qe ue 69, wiou [dseu uie s2i.

L 11 Sld 330 vigdl caaais A vigdidl 2u idiri Geag-l 014 o aussin dadl -l

IL 330 vigell 1mid <l dHsiL g4 dAIRL oeueis duidla 53 6 Al URGUE €925 [ASAiiA dd [Adel
CER2)

L 22uoit dwilA el €925 [QAsdi2il d g4 GUMISARALA g5LIHE 2 82 A 6.

IV. oL o 2L HsuHD g8l Al 24w ulEar saumi 2ud 8 24 2470 vid-Al g4 330 vidzl
(341 Gailar) d-it t1onRl 125 Sieu %320 Al

(A) T3 T (B) L, IT 4 11
(O) L I A4 IV (D) LA 11

oA

HALA2 =03 dan U8 2i2HILUS & 24 ASA WL A% BUle-l 8 df Geurg-t sul e 53 69 ?

(A) sl (B) USA
(C) w4l (D) 3131
NI R R ETORTE T PERELTRTICE S gL [l wd 8.

(A) uygll AW U21NHL S 120541 Acdl MEU
(B) nouyvil [Asiex

(C) MHgadlu sicz Aid-Hi eioug usall

(D) 85U 21, pasuyull [As1e

QI 512 321, ‘51R dled 2101 /AU YU 3L 2AUS 517 A Sl AeHUL ) ?
(A) el siRu, [Rony, drait 244 ddxs

(B) 2, sl siRur, diSaun 2 R

(©) el siRu, [RonyR, drSat 24 slasial

N

(D) 2, sl@a silRul, diSaun 24 glasial
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Match the following biosphere reserves with states, select the correct options:
I. Nanda Devi — Uttarakhand

II. Gulf of Mannar — Tamil Nadu

III. Manas — Nagaland

IV. Panna — Madhya Pradesh

(A)I and 11 (B) I, I and III

(O LII and IV (D) L, III and IV

Which of the following statements are valid? Choose the correct options provided below:

I. Dairy farmers, like other commercial farmers, usually do not sell their products directly to

consumers.
II. Dairy farmers generally sell milk to wholesalers, who distribute it in turn to retailers.
III. From wholesalers, retailers sell milk to consumers in shops or at homes.

IV. Very less milk is processed into cheese and butter and dairy farms need not be closer to their

market than other types of farms.
(A) I and III (B) L, IT and III
O L IIand IV (D) I and 11

Mercedes-Benz and Audi automobiles are among the city’s best-known products. Which nation is

being referred to, for production?
(A) France (B) USA
(C) Germany (D) Canada

A tsunami is a great ocean wave produced by:
(A) an earthquake below or near the ocean floor.
(B) volcanic explosion.

(C) a coastal fault line getting ruptured.

(D) an earthquake and volcanic explosion.

The ‘Four Dragons’, ‘Four Little Tigers’ and/or ‘The Gang of Four’ in Asia refer to:
(A) South Korea, Singapore, Taiwan and Thailand

(B) Japan, South Korea, Taiwan and Myanmar

(C) South Korea, Singapore, Taiwan and Hong Kong

(D) Japan, South Korea, Taiwan and Hong Kong

[CSP-2] [PT.0.
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079.

080.

081.

082.

083.

uzidlun uyed 2130flun Gusadly i Aeeiui A2 2uden [Qa-imis i [ase urie 52
I

2B [guseally el Uzidlamdl 2uasd sua, Qidlael, i, [Qaldanqual 2 g
A2d$ Fal HeLsIA MF s2HT 2 A1 53 O,

IL dxll 2la, AyM[un 214 wgidlan 52l w8 1ol sl dlus ool wd
52 8,

TI1. GUMISAL HIQAHIAAL UAIR GIRL ¢4(A-22Y (Iandscape) AY HLEALS @] 8. MR HI2R g, Dl
Ad), 2ucy Bus0U 24 HI2R WAsE 3 A0 Wi dal cud Buaoy 69,

IV. il Yu Wil el yd (SE) AR 2 A8l 2uud s34 vue ueial-l :2is siu 8.
(A) L I 24 IV (B) L 21 111 (C) T4 IV (D) L, IT 24 111

Al (st 5 2 @l UdlA widi-ll o3luidl Adinarll audami s aHEA g Ul d Ad adHisd
o 3AULALA AN, A g sSuu ?

(A) il g6l [@asiu (B) 2516 [ast

(C) 2ulds Qs D) wdl [asi

g usall v du-dl aortullai-Al oadl DA 2uudl 6. 20 U4 56 Al ll gl ?
(A) vgA 21 [AsionR dlu ays — uidedr

(B) £1€21 Al <R gadll A eHYL AL Sla — gL

(C) 4am — 4ag

(D) Qgglu — 228l

MR AU Al Rl 2011 Higd) [Qordl uuel 8. suy (Al a8 ?
1. MR- azdl ol 2011 3 UL 2ald> uedld, AdHl ardl aaal 2l¢Han 8.
2. RAHI Al ay azdl 4nad A% BTz Ue €9 i 2ani Al 248l ardl 4iag A Rsflu 8.

3. 93.91% lERAL €2 A1 301 v sy Alell ay WER AU B BAR 63.82% WAL €2 A2 [Be12 Al
2leg AIER A% Y.

4. U5 1000 Y2l 1084 HSenil 18 3201 Alefl Gl (@01 dpRitir 4R1d €. 312 1000 YuiA HIA 877
HSeuil e ¢Ruveu Aell Al (@0 oRiia ud 8.

(A) 1412 (B)2 1 3
(C)3 44 D) 1,2,3 41 4

A% 27 d-l 2ul2ofd-l Azl A2 20l 8. 56 ol 0l el ?

1. 20 — (BRI, Aol AsHL, Qir, vl A2, g4, uas

2. t9llaolg — woula, olr, vyes, v1oulal, MIRL, Hidl, HsHL

3. HIRUIS — O3, [BIR, AR, Y31, AL, BiRL, HHD

4. vy — ARG, FHId, HRYH, U2, A1, Y2H, §4, Hirid

(A) 4 (B)3 (©)2 D)1
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Select the correct options from the statements provided below relating to the petroleum rich
Arabian Peninsula countries:

I. Arabian Peninsula countries have used petroleum revenues to finance large-scale projects,
such as housing, highways, airports, universities and telecommunications networks.

II. Their steel, aluminum and petrochemical factories compete on world markets with the help of
government subsidies.

III. The landscape has been further changed by the diffusion of consumer goods. Large motor
vehicles, color TVs, audio equipment and motorcycles are readily available and affordable.

IV. Supermarkets there are stocked with food imported from SE Asia and China.
(A) L II and IV (B) I and IIT
(Oland 1V (D) L, IT and 111

Development that meets the needs of the present without compromising the ability of future
generations to meet their own needs is called

(A) Renewable Development (B) Sustainable Development

(C) Economic Development (D) Farm Development

Union Territories and Capital are mentioned below. Which pair is not correct?
(A) Andaman and Nicobar Islands — Port Blair

(B) Dadra and Nagar Haveli and Daman & Diu — Daman

(C) Ladakh — Leh

(D) Lakshadweep — Agatti

The data from the Census of Indian States 2011, is as under. Which statements are correct?

1. The Indian Census 2011 was the seventh census operation after Indian independence.

2. The most populated state in India is Uttar Pradesh. The least populated state in the country is
Sikkim

3. Kerala is the highest literate state in the country with 93.91% of literacy rate. Bihar is the least
literate state with a literacy rate of 63.82%.

4. Kerala represents the highest sex ratio with 1084 females per 1000 males while Haryana features
the lowest sex ratio in India with just 877 women per 1000 males

(A)1and2 (B) 2 and 3
(C)3and 4 D) 1,2,3 and 4

The State and Tribes are mentioned below. Which pair is not correct?

1. Assam Dimasa, Raba, Chakma, Lakher, Khasi, Synteng, Kuki, Pawai
2. Chhattisgarh Nagasia, Biar, Khond, Agariya, Bhattra, Mawasi, Bhaina

3. Jharkhand Gonds, Birhors, Savar, Mundas, Santhals, Khaira, Bhumji

4. Manipur Thadou, Aimol, Maram, Paite, Chiru, Purum, Kuki, Monsang
(A) 4 B)3 ©)2 M1

[CSP-2] rro. EJ
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087.

A2 [Qa-l a5 :

1. Rl Al 2addl A aura-u dlsi-l (Al cal@isai u [Alay xisafla -l Al wel
wsHA Wld 8. 130 avell agqu Slasi wd, 2 [Qan-dlu, dAna-asudda saud 2 10 ad 32w
Aelds 2118 cidl 29 69, % anl 1872 i A3 AAA %A NAH AR A4 HRd-L [A[ay cuolwi
[Brrt-yHn Ad g1 4aui 2udl ¢dl.

2. el Al ol g qradl uneldl (uRd ARSI A HaAlAUHL AR FRAE A A-u™
s 2EAA B,

(A) WA 1 [ g 9. (B) W= 2 (A 2 69,
(C) 1 241 2 oiA [t 2 69, (D) 1 244 2 6iA [t o el

D2 2uuan [Qa-l WA sy (e / s [Qal aea e ?

1. 921 2 G YdHi uilEi 241 Ao 11d, ydui Heaue, sl Heireg 4 iy sl €la,
EHRL, E1EL 2 R ¢l 018 A1 UReE Hd . A% U d AR ulhnni 20 ayg 0l
Al 4 8.

2. uelle A Adl AU You A8 A U511 sHALAA s1alaus] @ o1, 20 sH AR
stalaal 197541 AHIA01R vid 01eefl s 2l il Y HHELAE v 8L

(A) 1442 B) WAt 1

(C) 1A 2 (D) 1 a2 2 6id, 2 -l

EHARRAL 244 A2 Genri-l MRl 1A 2ud) 9, 21 2l L ustl.

1. SUOU AU AMUIRE - d YA 3101 [Brecunl 2udg €9 21 20 uga Alell ay aAte W uvAld
9. Ul MAAL 8 (barking deer), cudla [Rde Brandl (Indian civet cat), QLHIY, ol (common
mongoose), o2 usls (bonnet macaque), R (leopard), A%°R  (python), Gsdl Brusicll
(flying squirrel), sld-ll (hyena), Raa (chital), ¥it12 (sambar), AR Rt sieflar (four-
horned antelope), M SICRIED)] (grey jungle fowls), saRIRdl1 (cloropsis), SAUASAR (flycatcher)
Ac WAL 8.

2. AouaeR AR Gelrt - 197611 RUUUML 20dd douag sl Ardlu Bennt 2aAdHl MR vild
[Rad . douag Ay Geurt 2 sollardl gdm noaldzil 2 wvald 8. 2 ARUDA HHARRY, 2
2022 3000 Al ay sl a s@Hlow, Udlsn, ude v 3264200 2215 (storks) Aldd-t 12090 ay
uell wenldatig (e .

(A) 1 A2l 2 6id 2 89, (B) 1 a2 oi- 2u -4,
©) AT WYY (D) HA 2 WY

%Al a2l d-l curul A N2 2004 9. 56 A 0l Al ?

1. Haau — v, 2uRl 2. v3uad uea — =l sisa, 2uel
3. 2idUe — HAUEH 4. 50 — dg?)

(A) 1442 (B)2 1 3

(C)3 %1 4 (D)4 21 1
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1. The Indian Census is the largest single source of various statistical information on various

Evaluate the statement:

characteristics of the people of India. With a history of more than 130 years, this reliable, time-
tested exercise is bringing in a real insight into the data every 10 years, beginning in the year
1872 when the first census was conducted non-synchronously in different parts of India.

2. The responsibility of conducting the decadal census rests with the Office of the Registrar General
and Census Commissioner of India, Ministry of Home Affairs, Government of India.

(A) Only statement 1 is correct (B) Only statement 2 is correct

(C) Both statements 1 and 2 are correct (D) Both statements 1 and 2 are not correct

From the statements given below, which statement/s is/are correct?

1. Gujarat stands bordered by Pakistan and Rajasthan in the north east, Madhya Pradesh in the
east, and Maharashtra and the Union territories of Diu, Daman, Dadra and Nagar Haveli in the
south. The Arabian Sea borders the state both to the west and the south west.

2. Ahmedabad became the chief city of the new State and housed the State Government Offices.
They remained there until they were transferred to Gandhinagar in 1975.

(A)1and?2 (B) Only 1
(C) Only 2 (D) Both 1 and 2 are not correct

Information for sanctuary and national park is given below. Examine the information.

1. Gaga Wildlife Sanctuary located in the Dang district of Gujarat, famous for witnessing the
maximum rainfall in the region. There are barking deer, Indian civet cat, common mongoose,
bonnet macaque, Leopard, python, flying squirrel, hyena, chital, sambar, four-horned antelope,
grey jungle fowls, cloropsis, flycatchers.

2. Velavadar National Park established in 1976, the Velavadar Blackbuck National Park is situated
in Bhavnagar in Gujarat. Velavadar National Park is famous for having the rare species of
blackbuck. The wildlife sanctuary is home to more than 3,000 blackbucks and over 120 species
of birds, including flamingos, Pelicans, white and painted storks, etc.

(A) Both 1 and 2 are correct (B) Both 1 and 2 are not correct
(C) Only 1 is correct (D) Only 2 is correct

The state and main languages are mentioned below, which pairs are not correct?
1. Meghalaya — Khasi, Garo

2. Arunachal Pradesh — Nissi, Dafla, Adi

3. Andhra Pradesh — Malayalam

4. Kerala — Telugu

(A)1and?2 (B)2and 3

(C)3and 4 (D)4 and 1

[CSP-2] rro. EA
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092.

6{gR A d % ABUHL R €9 d-l A D2 2004 69, 56 Al Wl Al ?

A%Y, 6{g2

1. 50 i)

2. dlRa-ug EEIINELK)

3. sul2s PRICIEY

4. viR=u (N ELF)

(A) 1312 (B) 2 i1 4 (C)2¥1 3 (D) 3 1 4

-\

2 2001 2isHl U 56 2 HSIRA Sudl N8 dari a1 ) ?
(A) AUS A Vir3 AAA A s1uiAA (ONGO)

(B) MR &4 Sasdlsexu (Al (BHEL)

(C) 51l uns (@12 s

(D) sia SR (@123 (CIL)

AiAAU AUIE ], Un AidAU AUIH 2an
1. 93tuld [lcue x1iandlu uid Hous, HeRIN

2. 3302UAsL AldANEY AUl BECIERETI D

3. Al [[8 viddlu i dvidl, Griusl

4. 9l 91> AHEIAD AidRAEU AUl AUYAAR, UL

Gu-l s dl2al AL 5 Adlatl il © ?

(A)1,2,3 414 (B) 1,241 3

(C) 2,341 4 (D) 1,3 1 4

28l &orll ANSRWA HUsHL u du-l 228 wiFA, yraau 1A 2a 8, d Wl 58 2Adl uiou {d
A el ?

1. [Bgreirt 2185 (@128 (HAL) : 6loair

2. MRd sA@su (@23 (BDL) : udl

3.2u s3512u [@Hl2s (TCL) : s1yR

4. 203 s [Ram (@123 (AVNL) : 2uadl, A~ud

(A)4 (B)3 ©)2 D1

Gurita 2 AU uHAL A 1A 2udell 9. S oAl Al 9 ?

1. oiounHl [Badldl — gimieR gl

2. algull uddl — [RallAHl 2531

3. uddlg A8 A vuried Ad — siasT

4.92 A s Sl — You§

(A) 1,241 3 (B) 2, 3 i1 4 (C) 1,321 4 D) 1,2,3 21 4
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The information for port and state is mentioned below, which pairs are not correct?
State Port

1. Kerala Kochi

2. Tamil Nadu Visakhapatnam
3. Karnataka Mangalore

4. Odisha Port Blair
(A)1and?2 (B) 2 and 4
(C)2and3 (D)3 and 4

From the following units, which is not Maharatna Companies — Public Sector Enterprises?
(A) Oil and Natural Gas Corporation (ONGC)

(B) Bharat Heavy Electricals Limited (BHEL)

(C) Cochin Shipyard Limited

(D) Coal India Limited (CIL)

International Airport Name International Airport Location
Mumbai, Maharashtra
Bangalore, Karnataka
Lucknow, Uttar Pradesh

Amritsar, Punjab

1. Chhatrapati Shivaji International Airport

2. Kempegowda International Airport

3. Chaudhary Charan Singh International Airport

4. Sri Guru Ram Das Jee International Airport
From the above pairs which pairs are correct?

(A)1,2,3 and 4 (B)1,2and 3
(©)2,3and 4 (D) 1,3 and 4

Defence public sector undertakings and its registered office, Head office are mentioned below.
Which pair is not correct?

1. Hindustan Aeronautics Limited (HAL) : Bangalore

2. Bharat Dynamics Limited (BDL) : Pune

3. Troop Comforts Limited (TCL) : Kanpur

4. Armoured Vehicles Nigam Limited (AVNL): Avadi, Chennai

(A) 4 B)3

©2 D1

Surname-nickname and name of city is mentioned below. Which pairs are correct?
1. Bengal’s Sorrow — Damodar River

2. Blue Mountains — Nilgiri Hills

3. City of Palaces and the City of Joy — Kolkata

4. Gateway of India — Mumbai

(A)1,2and 3 (B)2,3 and 4

(©)1,3 and 4 MD)1,2,3 and 4
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093.

094.

09s.

096.
097.

098.

099.

100.

2 2udan [Qandl a5l :

1. 900w : d{ourl A 21 9N Hut vid 8 5 ol ool [BHALLAL 21 Bl3iniel HsIngl-l Bema i €.
opotl=fl [BHimgl uyg-ll Awidlell 4255 L. Al Gl i (R & 2 d 202l 24 (3.4 dous 214 7-8 (5.4,
A ugious a1d 9. 244] 24 1€l cuelll Al 200U €9 2 ARGUE d AUASEL LA HA B 21 2000
o1l onu 69,

2. 3e1asl : 1465 3.4 doud anadl d cud-D 2isHia 46l 9 $ 2 ulandl el (uRd ds ag 9. 4

‘laail oiow’ aa ‘Gl diow’ als weL vinvna 8. dlglagl U8R AU RS (e 2ios wa
BeMA €9 2 yd-l dzs gvuiairl G2 nganisll adlq uismg - ulEn dugiasl Fyeart -uAyH wA

oioun-l vitdld 1A 6.

(A) HiA 1013 8, (B) WAL 2 13 69,

(C) 1 d1 2 oix 12 89, (D) 1 a2 6id 2 -4,

gouRIHl AaiASU asiadl [Aldy you gong A eald 8. % ......... A8 Yriold 8.

(A) 2uslis AL A (B) HSLIALRIRL Bl

(C) -l A (D) sl sl g6l B
(Al3Q &l AWML ..., Al A QA 9,

(A) dlong, ulRuami [agld (B) astaat--l AR SIMUH 4517
(C) Byl ur uldagn x4 (D) BURLsd M

A2 U sl vig 2 Al 24090 o3 e 8pd €9 ?
(A) 2ul3s1 (B) [ (C) > (D) Yiu

QA Q4 s Guay s[Roitla s Herl 8 ?
(A) 23U (B) A<l (C) Wu (D) 93

2l WAL sl 2ol Ws 2 GuRAHE WS (e ALl ay (41 4d © ?

(A) % 4 s (B) YU A 6112

(C) 31d1R (D) aG

URAHL AL oL VS e viddl Holl 2uda 6.

(A) RS &, sales (B) 1Ra¢cll uddm, pxam
(C) [dra udamon, neausa (D) [Rianefls udamon, e
33scls o ... a2+l Al v €9,

(A) *uRd 21 wl3ir (B) *URd 24 A

(C) RURd A RAIAHIR (D) MR 1 2SRl
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093.

094.

095.

096.

097.

098.

099.

100.

1. The Ganga: The source of Ganga is at Gaumukh where the mighty river emerges from the

Evaluate the following statements :

depths of the Gangotri glacier. The Gangotri glacier is situated at the height of 4255 m above
sea level and is approximately 24 km in length and 7-8 km in width. Here the river is known as

Bhagirathi and later it joins river ‘Alaknanda’ and becomes Ganga.

2. The Godavari: It is the only river in India that flows from western to southern India with a
length of 1465 km. It is also known as “Dakshin Ganga (Southern Ganges)” or “Budi Ganga”.
The Godavari originates near Trimbak in the Nashik District of Maharashtra state and flows
east across the Deccan Plateau into the Bay of Bengal near Narasapuram in the West Godavari
district of Andhra Pradesh.

(A) only 1 is correct (B) only 2 is correct

(C) both 1 and 2 are correct (D) both 1 and 2 are not correct

The latitudinal differences in pressure delineate a number of major pressure zones, which

correspond with
(A) zones of climate (B) zones of oceans

(C) zones of land (D) zones of cyclonic depressions

The hazards of radiation belts include
(A) deterioration of electronic circuits (B) damage of solar cells of spacecraft

(C) adverse effect on living organisms (D) All of the above

The landmass of which of the following continents is the least?

(A) Africa (B) Asia (C) Australia (D) Europe

Which of the following is tropical grassland?
(A) Taiga (B) Savannah (C) Pampas (D) Prairies

Which of the following foodgrain crops occupies the largest part of the cropped area in India?

(A) Barley and maize (B) Jowar and bajra  (C) Rice (D) Wheat

The oldest rocks in India are reported from
(A) Dharwar region, Karnataka (B) Aravalli range, Rajasthan
(C) Vindhyan range, Madhya Pradesh (D) Siwalik range, Punjab

The Radcliffe line is a boundary between
(A) India and Pakistan (B) India and China
(C) India and Myanmar (D) India and Afghanistan

[CSP-2] rro. EJ
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101, M-l GUaldL W2 HIRYL S 2144 recombinant DNA dfl-l4l Al nan siuiydlsa Gauer
sy ed ?

(A) RERUS3 (B) HIlLsAlAA A-El618»
(C) Syl (D) $+2353U
102. Varicella-zoster [AMell Adl ue A2 4L & ?
(A) 21896131 (B) dlavu
(C) AIDS (D) 251184 (Encephalitis)
103. DNA 512 [Bila .......... W2 Gl Ami 2ud 69,
(A) ULl 2w (B) Rgean ol [Qangi-u [Ruse e
(C) uReAAHA U [Zu24L w4 [Qangini (D) BURASd aAxIH

104. uueu e 284l S0t A WS sul Heradl [Bau Heiaami »ud © ?
(A) [a2 genlad g [Ban (B) Aaa - 3 ([aa [Qsun [Ban)
(C) [a2 vulara [Ban (D) MW 3iA gdeni [Bau

-\

105, 2uueu sANE 54 HoUAd Houd ARAARA 21 gl Fa Al sueid wd Asndd © ?

(A) uguLa, 331 da Hexalelol (B) &4[dsu

(C) valaRyl, a-t 214 gy ulRad- (D) [Asu 24 as14
106. 2R 2 Al uaH wnldgd God 3ug Ruda ... vid 2y,

(A) UREIR URAAR, A Ud (B) ulEn a2, H81R

(C) 515AUIR, %A (D) £199(&1, ulu sidum

107. AARu (A eal sdlS+ su 913 wAAHI Hoaani »ud © ?

(A) si2wu A5% L (Thorn apple) (B) %l 219y (Wild yams)
(C) sau-u ofloy (Velvet bean) (D) (R 4& (Cinchona tree)
108. Svslu uguel (R ol wl®s Ad ......... HIE YUAER 8.

1. 2uRu saul el wgrarg [Raiam s we.

2. gl uENRIL 2uv Ama,

3. HOa-L [Rsta de digt welld 2269 a1 wieEist vuuar.

4. gal v gamguei Qtdl HR AL 2 utis3iélu suoidid usian.
A 2uden sisuidl Al gust v s

(A) "L 1 (B) 1 211 2

(O) 1,241 3 (D) 1,2,3 21 4
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101.

102.

103.

104.

105.

106.

107.

108.

Which was the first pharmaceutical product of recombinant DNA technology approved for human

use?
(A) Steroids (B) Monoclonal antibodies
(C) Insulin (D) Interferon

Which viral disease is caused by Varicella-zoster virus?
(A) Chicken pox (B) Small pox
(C) AIDS (D) Encephalitis

DNA fingerprinting is used for
(A) Identification of criminals (B) Settlement of paternity disputes
(C) Immigration test cases and disputes (D) All of the above

Which event of significance is celebrated on 28" February in our country?
(A) World wetland day (B) National science day
(C) World environment day (D) Bhopal gas tragedy day

Which ministry in our country is primarily concerned with biodiversity of lakes and rivers?
(A) Animal husbandry, dairying and fisheries

(B) Earth sciences

(C) Environment, forests and climate change

(D) Science and technology

The first hydroelectric power dams in our country were built in
(A) Sardar Sarovar, Gujarat (B) Western ghats, Maharashtra
(C) Kakrapar, Gujarat (D) Darjeeling, West Bengal

Antimalarial drug quinine is obtained from which plant source?
(A) Thorn apple (B) Wild yams
(C) Velvet bean (D) Cinchona tree

Central Pollution Control Board is primarily responsible for

1. Controlling river pollution in our country

2. Monitoring air pollution

3. Sewage disposal and effluent treatment guidelines

4. Publishing data and statistics related to air and water pollution.
Select the correct answer using the code given below:

(A) 1 only (B) 1 and 2
(C)1,2 and 3 D) 1,2,3 and 4

[CSP-2] [PT.0.
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109.

110.

111.

112.

113.

Temporary threshold shift (TTS) i agllaiz .......... AL 51281 Adl 6182191 €9,

1. Uy UgNRL

2. YN UGHRL

3. tald uguel

4. 4l uguwL

A2 2 sisuidl A1l Fae Yie 53U,

(A) " 1 (B) 1A 3
(C)3 4 (D) WA 4
A9, Y5 Al ... Al oAl gl 8.

(A) 581 UHIR 78.09% NS21% L 24 20.94% (51
(B) $£71 UL 74.09% US2LAL 2 24.10% Al[5uos-
(C) 581l JUHIR 88.09% NS21% L 21 10.94% i[5+
(D) 581l 2UHIR 81% US21% L 21 11.94% Ai[Suos-

ARl | ......... Al GuatlaL 30 Wuumi »ud 8.
1. Whirling Psychrometer

2. Hair Hygrometer

3. Infra-red hygrometer

4. Barometer

A 2uden siauidl Al Fae URie 530,

A@wal (B) 1 21 2
(©)1,2¥4 3 (D)1,2,3 %1 4

A1 UL sul 1 oL L UgNS s8auu € ?

(A) PANs (B) Ui
(C) $16{ Hi-LSAS 3 (D) U2l SRS S
R[S fult 285131 (Intellectual property rights) .......... U %qglmi 2\1,2[51(1 L as .

1. QUUIR XY, (Trade secret)
2. U2 (vsifEsi)
3. 6918 Aadsu sl

4. sidlaSe

A2 2 sisuidl A1l Fae uie 53U,

(A) 1A 2 (B)2 1 3

(O) 1,241 4 (D) 1,2,3 21 4
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109.

110.

111.

112.

113.

Temporary threshold shift (TTS) is temporary hearing loss often caused by
1. Air pollution

2. Water pollution

3. Noise pollution

4. Land pollution

Select the correct answer using the code given below:

(A) 1 only (B) 3 only

(C)3and 4 (D) 4 only

Clean, dry air contains

(A) 78.09% nitrogen and 20.94% oxygen, by volume.
(B) 74.90% nitrogen and 24.10% oxygen, by volume.
(C) 88.09% nitrogen and 10.94% oxygen, by volume.
(D) 81% nitrogen and 11.94% oxygen, by volume.

Atmospheric humidity is measured using

1. Whirling Psychrometer

2. Hair Hygrometer

3. Infra-red hygrometer

4. Barometer

Select the correct answer using the code given below:

(A) 1 only (B) 1 and 2
(0)1,2and3 D) 1,2,3 and 4

Which of the following is called the secondary air pollutant?
(A) PANs

(B) Ozone

(C) Carbon monoxide

(D) Nitrogen Dioxide

Intellectual property rights may be protected in the form of
1. Trade secret

2. Patent

3. Plant breeder’s right

4. Copyright

Select the correct answer using the code given below:

(A) 2 only (B)2and 3
(C)1,2 and 4 D) 1,2,3 and 4

[CSP-2]
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114.

115.

116.

117.

118.

119.

120.

121.

b ~

QA1 Q4L sa sl A dlogtfl-i Geung i yAusial Guaiol 53 €9 ?

Y A

(A) sl2ldle2S s Ad (B) 5121 fusdla A

oY oY

(C) sial Al-Adls A (D) si2idléls Aa

“Roc” 26€ UAIRL AU AHIAIRUL 2UAA 8. d 5O o06id 118 A 8 ?
(A) AHAWY UL AGUA HISAL BUAS

(B) Al aioy s oeios

(C) AHAW AR 1 A WL [Sdluml 5201

(D) GURL ALALARBIAL AU HIE i

-

% 3911 id[R&u1M (Crew Dragon spacecraft) 2= U4l 56 Aas12 Ae/siul e 118 46i[8d € ?
(A) SpaceX

(B) Blue Origin

(C) China National Space Administration (CNSA)

(D) Japan Aerospace Exploration Agency (JAXA)

“LOx methane” 21 dlgdHi AHIARH 8. o -l 018 246ifRa 9 ?

(A) Aa512 52 22 HHRl B) s1ddls Sloa ddlure

(C) Ba fl»a (D) BuRisd WSl 2is urL 1l

g A sad2 A2 (HSFC), ISRO g Auld Widlu Maing 5 .......... vid [Ruq 8.
A) Al eRsial (B) loug

(C) ue-slldl (D) 31

“Antu, Kueyen, Melipal and Yepun” 26g34101 121 US| A 2doi[8a ¢ ?
(A) @8 ALL (AA2AS3) (B) 2+l Guausl
(C) 2151 (D) 312 uLudl

Al AU UAURL sHE 20ddl “Secure Application for Internet’ (SAI) 2 %; 97

(A) ARl AL G121 [AsAaracuni >udd) el Haey seurll Awdfl3auq

(B) M1Rcl 24 USA 48101 01 a2+l AR Ae

(C) CSIR g2t [dsAaracuni 2ud el iy 2wdlsan

(D) 2l8ga AsAU (Md2-85)A A1aRU[Bd s2a1 HIG AU Do 6ivs glRL d-ld $AAA YR8 s1uRa

oge1gel ani-il ([dsurt [Bax’ (Science Day) - [Auu-azg (Theme) A »uua 8. sy (A 0 2l ?

(A) ad 2019 — dist W2 [Qaun 24 alst [Qaun w2

(B) ad 2020 — [Asu- sxni wld il

(C) adl 2021 — v [Auiw w2 [Asun

(D) ad 2022 — 2516 culd W2 [Asud 241 dsNEni As(ad 1([@an
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114.

115.

116.

117.

118.

119.

120.

121.

Which cells use the sunlight to make electricity?
(A) Photovoltaic cells (B) Photo reactive cells
(C) Photo synthetic cells (D) Photolytic cells.

The word “Roc” is often seen in news is related to which of the following?
(A) Satellite to study stratosphere

(B) Largest aircraft

(C) Helium balloon to study stratosphere

(D) Drone to study upper atmosphere

Crew Dragon spacecraft belongs to which of the following space agency/corporation?
(A) SpaceX

(B) Blue Origin

(C) China National Space Administration (CNSA)

(D) Japan Aerospace Exploration Agency (JAXA)

The “LOx methane” is recently in news is related to which of the following?
(A) Space rocket engine fuel (B) High speed diesel variant
(C) Bio-diesel (D) None of the above

The Human Space Flight Centre (HSFC), the hub of ISRO’s future manned missions, is
located at

(A) Sriharikota (B) Bengaluru
(C) Mahendragiri (D) Thumba

The terms “Antu, Kueyen, Melipal and Yepun” is related to which of the following?
(A) Asteroids (B) Planets of Jupiter
(C) Telescope (D) Radar Systems

What is ‘Secure Application for Internet’ (SAI) that has been launched recently?
(A) Simple messaging application developed by Indian Army

(B) A communication channel between Indian and USA defence forces

(C) An antivirus application developed by CSIR

(D) A secure firewall deployed by Reserve Bank of India to block unauthorized access

Theme for different year’s Science Day are mentioned below. Which is not correct statement?
(A) Year 2019 — Science for the People, and the People for Science

(B) Year 2020 — Women in Science

(C) Year 2021 — Science for Nation Building

(D) Year 2022 — Integrated Approach in science and technology for Sustainable Future

[CSP-2] rro. A
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122.

123.

124.

125.

126.

127.

128.

129.

A2l W) 54 2 panguag skl ?
(A) 8R4, 52 (B) Fd-uast »in s-usll (Herbicides)
(C) MR gl (D) 221014 24Ls52{lor+

A Aady wiAAlLL (NLP) 24 21 U4 st &st- sieuisll v € ?
(A) Artificial Intelligence (gBm ‘@[«3) (B) Object Oriented Programming language
(C) Space Technology Development (D) Biodiversity Conservation (%q alaen X))

AHRARUL S2dlsAR “Ai-Da’ Asel Beay, al HUL 89, d - Aei[Bq ¢ ?
(A) Humanoid (Robot) Artist

(B) Japanese Satellite (%lul'ﬂ @1{916)
(CO) Artificial Intelligence (AI) based calculator
(D) Artificial Intelligence (AI) based radar system

aA1El [Ba, well Gu-l wavll da-l [Ben ansdr ou said 6. 21 58 ae-ud Q8 O ?
(A) [Aeus (dispersion) (B) culd s (interference)
© (Gadn (diffraction) D) gCiL‘:QQl (polarization)

ABARHE M1 AR$1R 1L SIS A W) “Spike’ W@ Auiled scumi 2udl €9, d A 240ilBa & ?
(A) 2§-dl-2+5 Mauda (B) 213t
(C) =ysdluz udls susd [Rada (D) BuRisd U4l 2is urL 1l

WuAld AsU(As A AU, 20052 Al UL sUL &AM AAELL 2000 €9 ?
(A) %4 [Qsu-i (B) Qlds =
(C) ellepouldidlfl eylala (D) AU1ULL WA

cuxdla Asuls si. [@Asu weus A suda swou sueid 0 2u0a 0l Gudfl dioy [Aseu e s
1. AAHE1UE vid Allds A2i4 uaiaieuouHdl -l 530

2. cRdla ymedly Glod sl 28

3. 212 (31 [Asun (Physiology) a2l dellet &5t (medicine) i ieid WRARS [Azgdl

4. Aulasweani Ao wRdils [Qoda

U [dseul WS uioy [Qseu urie 530 Grir 2uul.

(A) 12412 (B) 121 3 (C) 1,221 4 (D) 12 4

Ad) [Bedl viid €] AreR is A A3 Arian-e 215 disBia Al usilid 52 8. 3 2da
[Aseulniofl d A3AM, 0 w20kl

(A) Science Today (B) Down to Earth

(C) Earth and Environment (D) Nature

[CSP-2] [Contd.


CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


122.

123.

124.

125.

126.

127.

128.

129.

Which of the following does not cause water pollution?
(A) Domestic Waste (B) Insecticides and Herbicides
(C) Heavy Metals (D) Dissolved Oxygen

The Natural Language Processing (NLP) is a branch of which of the following fields of study?
(A) Artificial Intelligence (B) Object Oriented Programming language
(C) Space Technology Development (D) Biodiversity Conservation

The “Ai — Da” is sometimes seen in news is related to which of the following?
(A) Humanoid (Robot) Artist

(B) Japanese Satellite

(O) Artificial Intelligence (AI) based calculator

(D) Artificial Intelligence (AI) based radar system

On a rainy day, small oil films on water show brilliant colours. This is due to
(A) dispersion (B) interference

(C) diffraction (D) polarization

The Spike missile is newly acquired from Israel by Indian government is related to which of the

following?
(A) Anti-tank missile (B) Torpedo
(C) Nuclear payload capable missile (D) None of the above

Famous scientist S.S. Abhyankar has contributed in the field of
(A) Biological sciences (B) Physics
(C) Algebraic Geometry (D) Chemistry

Find out the Indian scientist Dr. Vikram Sarabhai’s contributions from the options listed below:
1. Founded the Physical Research Laboratory in Ahmedabad.

2. Chairman, Atomic Energy Commission of India.

3. Won Nobel Prize in physiology and medicine.

4. Won Nobel Prize in physics.

Select the correct answer using the code given below:

(A)1and?2 (B) 1 and 3

(C)1,2 and 4 (D)1 and 4

The Centre of Science and Environment in New Delhi publishes a popular magazine. Select its
name from the options given here:

(A) Science Today (B) Down to Earth
(C) Earth and Environment (D) Nature

[CSP-2] rro. 8
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130.

131.

132.

133.

134.

13S.

1. URHLY, U216+ (Nuclear fusion) Hi %2 Hl2L UM [AHIEL HIZ YRHIYAL %A1 8 v1aa [MlBid 2y
8 R Blofd Y A 8. 2 ANd YU Blofle Bewe 52 69,

2. uRHg, [Avig+ (Nuclear fission) Hi URHIYHAL AUl URHIYAAL (AL W12 [Aeuaod wa € R Glad
Yo A 69, uRHIRALY Glod Hasl A dlooll Beung Wi urmgy [Avis--l ulsanl Guaio 52 8.

Gua- [Qtu-l asil.
(A) HIA 1 99, (B) HiA 2 13 €9,
(C) 1 L 2 6id i 89, (D) 1 L 2 6id, 2 -4,

HIZRL - 2AURU 22 Al UAH 24x7 AR Blof 2uRd ouH ...
1. 9 AdHE v Precuni Raa .

2. 3l Al aidloefl 80 (5.4l 2id2 Raq 8.

3. ysuiadl gl (3R Raq 8.

4. 1614 A€l (3R Rua 8.

S8+ Gualal 530 il G 2l

(A) 1444 2 (B) 1,2, 3 ¢ 4

(©) 1,213 (D) 1444 3

oLl GUALRLA L2 viLd BidlH dlug-u Gewg i .......... Al AHLEY A 69,

1. tudl (CNG) 2. 8 WldR 3. el vidz 4. adlaia
S8 U AIAL FAUSL UAE SR,

(A) WAt 2 (B) 1 211 2

(C©)1,2 91 4 (D)1,2,3 %1 4

AALARRHI <. A uReud ABULSA Bu~t i 9.

(A) AdlaRRML 81952 33U Y2int 21 S 2l Ysell a2 xa3mal

(B) cuctaRella HAilBAo v yauidl zeziaide usaHl Ga

(C) AAARRIHE 81%R $10{ SIALSASS UR AR [3eticieiH] [Bun vut 534 siRus (301
(D) AdraRmi dloulld [Auf

HIRAML UL A% A Ya- Glo [Aulel aHdl 2 53 69 ?
A) aha-ug (B) 2L%2Ud
(C) HSRIN (D) A%

993U AU 5UL (AR 2 Y23 e AYZAAY, WUELSs 28 56AA SRUUSBAUA HIA
i @ALARWL S1SH Hddld @alael 2R R4 adls YR saumi 2l S ?

(A) 202 (B) AYIRL
(C) 529 @1 (D) AiwAR
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130.

131.

132.

133.

134.

135S.

1. In nuclear fusion, energy is released when atoms are combined or fused together to form a
larger atom. This is how the sun produces energy.

2. In nuclear fission, atoms are split apart to form smaller atoms, releasing energy. Nuclear power
plants use nuclear fission to produce electricity.

Evaluate the statements
(A) Only 1 is correct (B) Only 2 is correct
(C) Both 1 and 2 are correct (D) Both 1 and 2 are not correct

Modhera, our country’s first 24x7 solar powered village is located
1. in Mehsana district of Gujarat

2. about 80 km from the state capital of Gandhinagar

3. on the banks of the Pushpavati river

4. on the banks of Sabarmati river

Select the correct answer using the code given below:

(A)1and2 B)1,2,3and 4
(C)1,2and 3 (D)1 and3

At Banas Bio-Gas Plant, the end products produced include

1. Bio CNG

2. Solid fertilizer

3. Liquid fertilizer

4. Vermiwash

Select the correct answer using the code given below:

(A) 2 only (B) 1 and 2
(C)1,2 and 4 MD)1,2,3 and 4

Radiocarbon is produced in the atmosphere as a result of

(A) collision between fast neutrons and nitrogen nuclei present in the atmosphere

(B) action of ultraviolet light from the sun on atmospheric oxygen

(C) action of solar radiations particularly cosmic rays on carbon dioxide present in the atmosphere

(D) lightning discharge in atmosphere

Which state has got installed wind power generation capacity in India?
(A) Tamil Nadu (B) Gujarat
(C) Maharashtra (D) Rajasthan

Which area of Gujarat state was listed as biosphere reserve by Man and Biosphere Programme of
United Nations Educational, Scientific and Cultural Organization?

(A) Gir (B) Saputara
(C) Rann of Kutch (D) Champaner
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Select the names of adsorbents used for the removal of various gaseous air pollutants:
1. Iron oxide 2. Silica gel

3. Activated carbon 4. Water

Select the correct answer using the code given below:

(A) 3 only (B) 1 and 2

(C)2and 3 D) 1,2,3 and 4

Consider the following statements for Cyberspace.

1. Cyberspace is a complex environment consisting of interactions between people, software and
services, supported by worldwide distribution of information and communication technology
(ICT) devices and networks.

2. Cyber Security policy aims to create a cyber-security framework, which leads to specific actions
and programmes to enhance the security posture of country’s cyber space.

Select the correct answer using the code given below:
(A) Only 1 is correct (B) Only 2 is correct
(C) Both 1 and 2 are correct (D) Neither 1 nor 2 is correct

Consider the following statements for Cyber Surakshit Bharat.

1. Recognizing the need to strengthen the cyber security ecosystem in India, and in alignment with
the Honourable Prime Minister’s vision for a ‘Digital India’, the Ministry of Electronics and
Information Technology (Meity), launched the Cyber Surakshit Bharat initiative in association
with National e-Governance Division (NeGD) and industry partners.

2. Target audiences for the above program are students of postgraduate courses of all state and

central universities.
Select the correct answer using the code given below:
(A) Only 1 is correct (B) Only 2 is correct
(C) Both 1 and 2 are correct (D) Neither 1 nor 2 is correct

Consider the following statements from IT rules, 2021.

1. The new IT Rules, 2021 have a clear objective of enhancing online safety of users, particularly
women & children.

2. Various provisions of these Rules include: Specific inclusion of certain requirements to be
explicitly conveyed in the terms and conditions, Reporting by the aggrieved individual in
respect of revenge porn and similar content breaching physical privacy and taking action within
24 hours for content removal.

Select the correct answer using the code given below:

(A) Only 1 is correct (B) Only 2 is correct
(C) Both 1 and 2 are correct (D) Neither 1 nor 2 is correct
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